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U LGr

1.1. lvdph vwhdwimdp

Nhgnip ppjwd £ nplul G puqinipymb: Conpmbdwd b wub), np wyn puqunipyul
Ypw vwhdwijwd £ gnpdnnmpinid, tpt ppjuwd b uppuyupiipmd G x G
nupyut wppungpuihg G pwqunpgmb: W Gpy wuwd, G-h qupptiph
jnpupwignip  Jupquynpjwd  qnyghtt (@, b)-ht,  hwdwyuwypuufuwinpjub
ute E npywd  dhwpdtpnpbl  npnpqwd  G-h npnpwyh  wpwpp:  (a, b)-hb
hwiwwywypuufuwing puppp undnpupwp bpwiwymy G a - b-ny (G ninnuyh
ab-ny pwg pnnbbny - bpwip) b wund bb, np G puqimpud Ypu vwhdwbwd
L puqiuwyupiud gnpdnnnipynii:
Uwhdwimd. Yhgmp G puqunipjui Jpu vwhdwijwd b puqiuyupliuwd
gnponnnipnil: - G puqunmpymbp  Yngdnd o jundp  puqiuwuyugpyiw
gnponnnipjul tjunpiwdp, bpb pujupupjud G htyplyw yuydwbbtipn.

1. (ab)e = a(bc) — wunghunphympyud wuyiwb;

2. Je € G, Ya € G, ae = ea = a — dhunnp qrupph gnynipjub wywiwb;

3. Va € G, 3b € G, ab = ba = e - huljupupa pupph gnympjud wuydwi:

Wunghwiphynipyud wuydwihg pflund £, np Gt ulqphg hwpytip ab-0o htigpn
wprynipp puquwwupytip c-ny, Jupubwbdp hog nyb pwbp hiy uypagyh,
tipl ulqphg hwpytiip be-U b htpn wipnymbpp dwjuhg puqiwuyunpykip a-ny:
Wuhtpl' Juptih E gpty mnquyh abe wnwbg thwljugdtp oguuuugnpdtini, pwbh
np wpiymbpp Jupgud & hwyyiwi jupghg:

Epypnpn Wuydwdd wumd £, np gnympymh mbh JdGy hunpniy qupp,
npp Dwbwyynd £ e yqpunn b Yngymd L dhuynp, npp puqiuuunpybhu

5



U. Ytipuwbjwh 6

G puqunipjub nput puppny wprgmbpmd ypwhu t htbg wyn Gnygb quppp
(wyuhtpl dhwynpp fpwnmd £ 1 pyh ntpp): Uhwynp yruppp shwyb £ Gpb ndtip
tinynt Jhwynp e; L ez, myw wwipg k£, np e} = ejes = ea:

Bppnpn wwydwip hwugpugmd b, np wdth bh ¢ € G quupph hwdwp Ygugpagp
Uy b € G, np ab = ba = e: Ynuwhuh b-0 Ynsymu £ a-h hwljunupa qupp, b
wyh Dpwbwlpymy k a ! Gpwiny (phl pinhwinip nhypmy npuk Juwy smbh pyh
hwlwnwpah htip): Mwupg t, np a-b b hp htippht b-h hwjunwpab E: Swunupap
dhwld bt Gpb bi-p U by-p a-h hwuwnuwpabtpb Go, wyw by = bi(aby) =
(bra)by = bo:

Gpt pugh 1)-3) wuwydwbdtphg hog £ bwl

4) Ya,b € G, ab = ba

wuydwip, wyw G funuipp Yngdmd £ pinuihnfubih jud wipbpywuib:

Bpbt h  ulygqprwit guibwibnd Gh  Ooh, np  pundpp  wpbpwb
puquuyupuubd - Gowbh thnfuwptl ogipugnpdnmd L gnidwpdwt + bpwbp:
Wn niypnid dhwynp qruppp bpwbwyymyd  0-ny, huly a-h hwjunupap —a-ny
U wyl wijwind &b hwjunhp:

G Tudph gnpdnnnipynidl <pugqiuyuipynuds> wijuitp b ab-ny bywbwlth
wpnupugywd b wyl pwiny, np gnponnmpjul Juinbbbpp sup dwb GO
pPYtiph puquwyupljiwb juinbbtpht (U pYtiph puquwwuplnidp, hpnp, funuip
L vwhdwinud ng gpnyujud hpwwi pytph pugqinipyud Ypu): %w poyg) £ guihu
gnnob oquytiny hwupdwp nupdwd pYupwinpjud wjuinuijub pubwaltphg:
Ophbuly, tph pinmittp, np a® = e b bpwbwlkip a”-ny (phwlui 7 pyh huniwp)
-1

a-a--qwppuypup, hul ¢ "-nd ¢ ' -a ! a7l wyw ynipht £ hwdngyty,

n n
np Judwyuub wipnne m b n pYtiph hwdwp Yhpwntih G hqpbyw) ugpubnupp
Jubnbbtipp.

orpLuyLGN:

. ULowbwytlp Z-ny wdpnne pYtph pwqinpmip U npytu  fudph
puquuyupuub  gnpdnnnipymb nhypwpltbp wdpnne pytph gmdwpnudp:
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Lowbwltlp wpugwd hwdwlupgp (Z,+)-n: Ymphtt wpmgymy L, np
(Z,+)-b wptipwd funuip E (npuybu dhwynp quupp tpgbnud Gop 0 phyp):

2. Wdu nhpwpytbp (Z,©) hwdwyuwpgp, npptn c-p wdpnng pytiph
puqiuyupiwi gnpdnnnipymbd : Whahwypp £, np jodph vwhdwbdwd 1) b 2)
wuwydwbbtipp puwjwpupymd G (npybu shwynp yepgtmd tbp 1 phyp): Uwluyh
3) wuwydwbp ybnh ¢mbh, pwbh, np 0 phyp smbh hwwnwpa: Gpb Gnybhuy
htinwgbttp 0-U U nhypupytip Z* = Z\{0} puqumpmip, wyw Ypyht 3)-p
sh punjwpupnud, pwih np ophliwy 2-p smbh hwiwnwpa (5-0 wipnng phy gk):
Uhwyl 1-p b —1-0 mObh hwiunupa puyp puqiuyupiub: Qwaph, ns (Z, -)-p,
ns by (Z*,-)-p funwdp b

3. Yhpupytip (Q,+), (R,+) u (C,+) hwdwlupgbpp, nppptin Q-0 pwghniuyg
pytph, R-0 ppuui & C-0 Yyndytpu pytph pwqimpymbdtpb Go, hul +-p
rUYtinh gnudwpmudt £: ympht upnigynud £, np wyu tiptip hwdwljupgtint wptijjut
fudptip tb: Lul htppnieyudp uptih b hudngdty, np (Q\{0},-), (R\{0},-) U
(C\{0}, -) hwiwlupgbpp tnybwtu wpbjwbd fadpbp G

4. Upwbhwytbp dbhwgpbtph nuubtpb pup modn-h Z,-ny, wjuhbpb Z, =
{0,1,...,n — 1}: (Z,,+modn) hwiwjupql wythwypnpbd wpbpwd funudp
L Wtih htgquppppuub £ (Z7, - modn) hwdwlupgh nbwpp, npptn ZF =
Z,\{0}: Ympht L wpmgty, np fudph vwhiwbdwd 1) U 2) wwydwbibpp
pwdupupwd b (e = 1): pt ¢ € ZF, wyw wyl mbh hwjunupd < a-bo
nt n-p thnfuwnupdwpwn wwpg G0 (uw plumd | pybph wdbbwdbd phnhwinip
pwdwbwpwpp qpbbym Eypjhntiuph wignphpuh htplwiphg gnynipymb nuokb
z,y € Z,np ax+ny = (a,n) = 1, nupph’ ax =1 mod n): iptih (Z}, - modn)
hwdwupgp punuwdp £ dhuyt wyt niypmd, Gpp n-p wupq prhy £ Uwjuyt,
tpt nhypwpytip dhuyb n-h htp thnjuwnupdwpwp wwpq pYtpp Z;,-hg, wwyw
nnubp funudp YYuqutit, pwbh np n-h htp hwhwnwpdwpwp wupgq pytph
wpunup tnybwbu thnppwnupdwpwp wungq L b wynuhuhtt £ dwl n-h htip
thwhiwnwpdwpwn wupq pyh hwunwpap:

5. Lpwbwltbp S,-ny {1,2,...,n} pytph pnunpnipymbitph puquinpnbp:
Wn puqunipynibnp fjunudp L pinunpniyeymbbtph puqiduyupliut gnpénnnipjwb
Oqugiwdp: Lnybwpwp phnunpnipgnidp dhwynp qpuppt £, hul hwunupa
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puwnph gnynipgniip wywhnyynud £ hwjunwpd phnunpnipyniany: Wu funwipp
wpbipjwb sk, puth np pinhwtnip nhiypnd pnunpnipynibitph puqduuugplndp
yptinuithnfutith sk: S, unwdpp Yngynid £ updbpphYy funodp:

6. Yhpwpytitp 7 X m sahwbh hpwlwb pytipng dugpphgbbph puquinieynbn:
Wn pwqunmpmip Juqind L wpbpywd pndp Junpphgbbiph gnudwpdw
gnponnnipjul  Guypdudp: Gph 7 = m, wyw wu pwqimpymip thwl
L Jdupphgitiph puqiuyunpiub  gnponnnipjui  ojugpdudp, uwluyl wjh
funudp sh ququnud, pwlh np ng pninp dunpphgbtip mobh hwunupéd pup
puqiuwuunpuiub: Nwypbh £ np n X n swthwdh ppului A Jwgpphgh
nilh hwlunupd dhuyd b dhuyh wyb nhypmd, tpp det A # 0: Lwbh np
det AB = det Adet B, wyu ¢ytpuutipquwd (0-hg qpuwpptp nipbpdhbwignyg)
n X n suhwih hpwwd dwypphgbtph puquinpgnibp Gy £ dupphgbiph
puquuyupuub  gnpdnnnipyut tupiuwdp b wyh  jugqinmd £ junudp
dunpphgbtiph puqiuwwyupiwd gnpdnnnipyud djupdwdp: Wn funwdpb wpt jub
sk: Ng wpbipwd fundp £ ugdmd (pup puquuyugpyiwd) owb det A = 1
wuwyiwbht pujupwupnn n X n swhwbh hpwuwb dunpphgbtiph puqunieynian:
7. dhputilp hwppnipjwd Yypw npuk Ytyp b ghypupytip hwpenipjwd pnnp
wynuybbipn wyn Ytgph gonipe: Mypnuyypdiph puqunipyubt Yypw vwhdwbbibp
htiplywy gnpdnnmpyniip. o b 5 walymbabbpny uppnuygpbbph wpgpunpup « + 6
wiyming wypnypt £ Opubu Jhuynp ypupp yepgmd Gop 0 wbyymonyg
uypnuyyp: Mupqg £, np o wolynidng wyynyph hwjunwpap Jihth —o wblynionyg
wpnyp: ‘Hnpht £ uypnigliy, np wynypotiph puqingeynibd wptpwb unwdp L
8. Yhyppupltibp <Oniphyh funpwbwpns> hwppbh  goipuyngpniyp: *ddup sk
nhubt], np unpubtwpnh <ptipgptipnhes wypnypotpp fundp G Juqunid:

1.2. Gupwhipkp

Gunp nliyptipmd withpwdtion L 1htnmd gnpdty udph Ghpwpwquinipjwd htip, npp
Onybwtu funudp £ uwhdwiwd puqiuyupliubt gnpdnnnipyub Gugpdudp:

Uwhiwimd. G pudph H thpwpwqdnipymbp Yngnid b Ghpwjunudp, bpt

a,be H =abe H,
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acH =a'eH:

Wpwohlt wuydwlp Gowlwynd k, np H thpwpwuqinipmbp <tuls> L
G-h puqiuyuipyiwd gnpdnnnipyud  Guypdwdp, wyuhlip, H-h wqwuppbph
wpunpwip o sh quihu H-hg: Gpypnpng wuydwip tpwbwynud £, np H-p
<thwlp>» £ hwunwupahtt wbghbtine gnpdnnnipyub aupdwdp: Lwbh np fudph
uwhdwidwh wunghunphynipyjud yuydwbp 6hoyp £ wdpnne G-h hudwp, wwyw
wyl 6hop t 0wl H-h hwdwp: Nwunupdh gnynipyniop A -md wyyuhnud
t tpypnpn wuydwing: Lwptbp, np dhwynp ppuppp dhogp wqugpuibmd
Lhpwhipht: buljuwtu, hwdwawyi tpypnpy wwydwbh, ¢ € H = o~ € H,
niptdl wnwehl wyuydwiihg uypubtnud top' a,a™! € H = aa™! = e € H: Muph
H-p pwdupupnid  judph uvwhdwtdwt pnpnp wuyydwbbbph:

Glipwudph vwhiwbdwb tpym wuydwbbbpp quptih b thnpowphot) gy
hudwpdtipny.

a,be H=a"'be H : (1.1)

Wythwypp E, np (1.1)-p pfunid | Gopwudph vwhdwidwd wywydwbbbphg: 8niyg
puilip hwlunwlp: Gpl (1.1)-mu Ytpghtbp a = b upugih a,a € H = a ta =
ec HH G a € H= a,e € H= ale=0a"'e H, wuhlpl upuguip
tbpwhiph vwhdwidwb Gpypnpn wuydwbp: Ugpnygg E owl wpwehll wpwydwbp

abeH=>a'beH= (a) b=abe H :

Snipwpwigmp G punudp mbh webjuql tpym Ghpwmdp {e}-b, np
Juquywd £ dhwyd dhwynp quupphg b Ynggmd £ ypphyhwy tibpwhindp, b wipnne
lunwdpp” G-t: Wi kbpwpudptipp, npnilg hwdwp Shop & {e} € H C G uyuydwbp
Ungynid G0 ubthwljui thpwhdptp: Wo thwugpp, np H-p G-h Ghpwunwiph £
pwhwlyymu £ htplywy Yepy H < G:
orruLuyuuLGr:

1. Qapltbp (Z, +)-h pnnp Gopwhudptipp: Swdwdwgh (1.1)-h H < Z dhwyb bpp
mneHd=>m-neH Mupqt,npn0 e Hume H= —me€ H: 5t Hn
yupniiwmynd £ ng qpnyujutl phy m, wyw wy yupnbwynd £ npujub phy:
Lowbwltibp d-ny H-md qupnmbwlynn wdtbwthnpp npujub phyp: Mupg k, np
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{dz |z € Z} C H: bujuytu,
d,—deH=d—-(—-d)=2deH :

Liwbwybu d,—2d € H = d — (—2d) = 3d € H b wyb: 8nyg ypuwbp,
npn H = {dz|z € Z}: dbpgbtbp Juiwjuywd m phy H-hg L dbwgnpnny
pwdwbbip wyb d-h ypw m =dn+p, 0 < p < d: Mwupq t,npp=m —dn € H:
Gpt 0 < p < d, myu H-md Yqpiygh d-hg thnpp npuub phy, hosh wbhtwp
L muph p = 0 U m = dn, mptdt H C {dx |z € Z}: Wuwhuny, qpuip
(Z,+)-h pninp Ghpwhiptpp: Lpwbp mbth {dz | € Z} ptupp, wyuhlpl hos np
uh npnpwh puh (H-mu wwpnbwyynn witbwthnpp ppujut pyh fud £ 0-h)
pninp wuphlotinhg Juquywd puqunipinibbbpb to:

2. Wohwyp & np (Q,+) < (R, +) < (C+) u (Q\{0},-) < (R\{0},-) <
(C\{0},-):

3. Lpwbwykbp A,-ny {1,2,...,n} pytph qnyg yhnunpmpnbbbph
puquimpmbp (wb Yngdmd b bpwhwhnfu funwdp): Ympht £ owpnigly, np
A, < S,:

4. det A = 1 wuydwdhd pwjupupnn n X n sathwih hpwlui dwpphgbtiph
funwipp det A # 0 wuwydwbhb pwjwpupnn 7 X n swhwih hpuub dunpphgbtiph
huiph topwhumdpl t:

5. dhpuwd Ytph onipe hwppnipyui 60°-hi wunphly wilynbitpny wynygpitph
puqunipynibp Ghpwhinudp E pninp wynypbtiph puqunipjub dbe:

1.3. bqniinpphqu

Uwhdwimd. f: G; — G9 thnjudhwupdbp wppuuupytpnuip G fadphg Ga-h
Upw Yngnud £ hgminpiphqd, Lt

f(ab) = f(a)f(b) pnmp a,b€ Gy : (1.2)

G1 U G hadptipp Ynsynd kb hgninpd: Gpt G; = Go, wyu [ : G1 — Go
hanunpdhqup Yngmud £ wnfypninpphqu:
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baninpdhquh dwdwbwl dhwynp qpuwppp dhoyp wbgbnd £ dhwynph db.
fle) = f(ee) = f(e)f(e) nuph f(e) = e: N\wunupal woghnd £ hwunwpah
. € = f(e) = flaa1) = f(a)f(a™), muwh f(a~1) = (f(a))~:

Yhypupllp hgninpdhqup htaplywy ophtwlyp: hgmp G = (R, )
hpuyut npuyjub pdtph unwipt £ pup puqiugupydui, huy Gz = (R, +)
hpwiwd pYtph fundpd L pup gnudwpdwd: bgninpdhqip hpuubwugymy k
y = lnz $mbyghwyh dhongny, pwih np pbinh mbtb In(z1z) = Inx; + Inz,,
Inl =0UuInz~! = —Inz hupynpynibibkpp:

Yhypwpytbp vty wyp ophtwy Lu: 7 X n sathwbh dwpphgp Yneymd Lk
plinuihnfumpyui dunpphg, tet dwpphgh pwpptipp jud qpnibp GO jud B
dtijtip b ympwpwbsgnp pnnmi Jud wynimd pninp (pupptipp pugh dtilhg
gnnyuub b, wyuhtpl wdikh pnnmud Jud wynitbnd gnyniegnih nubh 6howy Uky
hunp 1 b dhwgwd puwpptipp 0 tb: “hgmp P = (aij),,.,,-0 nlinuthnjunipywub
dupphg £ Wn dwypphgh htap Juptih b oYjuwty dh pbnunponieynid, npp
Yopwlwykbp 7-ny b 7(7)-ny Yopwbwybip wyb 5 phyp, nph dbe b qpubnud -0
qpbnunpmpyniap, wjuhlpl’

F_( 1 2 ... =n >
(1) w(2) ... w(n) )

7 phnunpnipgnip Juemgymd £ htglywy Yepy. npuytugh npnptiop 7(1)-p,
bwh quqpond Gop, pht dugpphgh wnwehtt ypnnnud, np plnmud £ qpymd 1-p,
wjuhlpl qnimy tbp wyb j-0, np a1; = 1 b 7(1)-p Ytpghnd thp hwjuuwp
J-ht: 7(2)-p Ybpghnud thp hwjwuwp wyh hwy j-0, np az; = 1, wyuhbph
tpypnpn pinqmd npnpnid. Bop Wkyh gtnp: 7(2)-0 whwywydwd ypupptpdh
7m(1)-hg, pwih np hwiwowy ntwpmd Yuypugyh, np dhubnyd ymimd Yu
tpyne hunp 1: Swpmbwybnyg dtybtph pbntpp gpotp annapnd npnpnud Gop
nhnunpmpyniop: Wund G, np wyu phnunpniggniip npnpymd £ pup P dungphgh
pnntiph: 7 pnunpmpymap thnyht ptinpnaymd E htaplywy wuydwbng

mi)=jea;=1: (1.3)

Ldwl tnubwyny, npnplyny dtytiph ptintipp wymbtipmd, Jupth § junngty
uti] wyp pinunpnipymb o, nph hwdwp Jupubwbp

U(i):j<:>aji:1 : (14)
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Swibduwgpting  (1.3)-p W (1.4)-p’ nymph@ b phudk, np ¢ = 75
Opwbugh Uptp P dwipphgh htp Yuupjwd phnwnpnipymbbtpp’ Yogytip
htiplywy bpwbwymdhg P2: Mwpq E, np tpb qpduwd E npul ptnunpnipym,
www pinmbbing wy npuybu puyp pnntph  pinunpnieynd,  htipynipyudp
Juptih Lt upmgl wyt dhwly pbnuthnunipjwd dwpphgp, nph hwdwp wyn
phnunpnipyndd puyp pnntiph pinunpnupgmbt B Wuuyhunyg, wpubnd top
thnjudhwupdbp hwdwyuypuujpwbtigmd phnunpnipynbttph b phnuthnpunipjub
dwyphgbtiph dholt (htpypmpyjudp Juptih £ hudngyti, np phnuthnunipyui
dwyphgbtiph pwbwyp »! £ hwjwuwp b pnunpnipymbdtph pubwyhi):

Yhgnip ppyud G Gpne plinuhnunipywt dunpphgbtn’ P = (agj),,.,, L
Pl = (bij),xp: Lawlwltlp c;5-nd Py P wppunpyuih puppp ¢;; = kil ik brj:
Lwbh np ¢;-0 hwpgtine hwdwp P7-h é-pp qinnp puqiuwupynud £ P7-h
J-nn ynmbny, wyw Jud wyyn ypnnh b yywb dGytph pbntpp hwdpbond Go
L wpymbpmd ¢;; = 1, Jud b dtybph pbntipp sbb hwdpbyond b ¢;; = 0:
Oquytny (1.3)-hg m (1.4)-hg" uwpubnud tbp ¢; = 1 = 3 dhwy £, np
ajp =bypj =1 w(i) =k, pk) =j & (mp)(i) = j: Quhbplh ptnuihnjunieywi
dunpphgbiph wpypunpyuip tnphg phnuihnjunipywi dupphg £l

PP] =P (1.5)

Mwnq £, np P7-h pputuyniugwd (opedwd) dupphgp P7-0 k: (1.5)-hg
upulinud tip

PIPT =PI = B, (L6)

npptin £-0 dhwynp dwpphgh £, nuuph piinuithnfunipywn dwpphgh hwjunwpép
yppuiuyntwgyuwd dunpphgh k:

Lhuptbp, np tpt puquuwuypytip P2-00 nput A dwyiphgny, wujw
wprymbpmd  P7A - dwpphgp Yupugdh  A-hg wpnntiph  phnuthnpunipyundp
hudwaw . o gpbnuppmpyui: AP? b uwpugymd b A-hg  uwmbbph
ptnuthnunipyuip hwdwdwyb 7 phnunpnipjwb:

(1.5)-hg U (1.6)-hg htypumd L, np n X n swhwih pnuihnfunpub
dwppphgbbpp punudp GO Juqunud puyp dwygphgbtiph puquuuyupyiwb
gnponnnipjwis:
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YQunmgtlp htplyw; thnpudhwpdtp  wppuwupytpnuip S,-hg 7 X n
swihwbh ptnuhnfumpyut dwypphgttiph fudph Ypu.

f(m) = Pr (1.7)

(1.5)-hg wibhowytiu uputmy top, np (1.7)-p hqninpdhqu t:

Qnynieymt mbh dhwy bGnwibwl wptnuthnhunipyuwd Jwgpphgnd  wdkb
ynnhg U wdbb wmbhg pupptiph wybybu pbgplm, np wpgpunpyup hth
ng qpnjujui: W wuwypdwoeny qbnuihnfunipjut dwgpphgh gptipdhbwbgp
hwjwuwn £ £1, wybth wpnyqg, wyb hwjwuwn t 1-h, Gpb 7 phnunpnipymonp
qyqg £t W —1-h, Gpp 7 pbnunpmpyniip Yep B Qwgph (1.7)-nd qpjud
hgninpbhqih dwdwbwl gqnyqg phnunpnipynbbtpht hwdwywpuuhwitnd G
1 napipdhtwinpny phnuihnpunipjud Yunpphgbbpp, huy Yaypbphtt —1:

Jtpp pipqud ophtiwyotiphg b, hhwpyt, hgninpdhquh vwhdwbnuihg wwung
E nunbmyd, np hgninpd fudptipp dtyp ynwuh ygupdbibh G b puquuyugpuuid
gnponnnipyul htp Juuyywd npuk hwpynipnit nunudwuhptijhu hgndnpd
hoipbptt hpwphg swtpp £ quppbpl;: Gudwywyub thwuyp, np ybpupbpmyd E
puquuyupuub gnpdnnnipjubp b pptinh nibh dh judpnmd plinh mbh bwb Gpub
hgninpd pudpnud: Wy hul wupéweny fudptiph phuneywb dtie hgnuinpd hudptipp
hudwpynmud G0 hwdwpdbp b onybwgynmd tb:

@Etnpkd 1.1 (Lujhh phnpbd). Gphk G udph pupphph puwbwhp yhpowafnp
E b hwjwuwp b n-p, wwyw G pnidpi pgninpd b Sp-h n ypuppwing
Llpwpudpliphg dbypl:

Wujugnyyg. 8mpuwpwiginip g € G hwiwp vwhdwbbip dh wppuupugpytipmad f; -
G — G htuplywy Yopy fo(2) = go: Wydhwpp E np fo(21) = fo(22) = 21 = 22,
wjuhbipl f,-0 thwhihwpdtip £ Bpl y € G, wyw Ytpgiting 2 = ¢~y upubnd

tlp fy(z) = g(g~'y) = y: Miptit f,-0 thnjudhwpdtipnpbll wppuwwpytpnd
G-0 G-h ypw: Swdwpwuitp G-h uupptpp G = {ay, . . ., ay }: 8mpupubsnip

fg=0 thnyht bywpugpymd £ n qpuppuiing ptinunpnipyudp

( aq a9 Qg ):
folar)  fgla2) ... fq(an)
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al a9 Qp, al as N 0 7
gar gaz ... gan ai;  Qip oo Ay

Jtipght phinunpmpymip wupquytu uptih £ hnfowphttp hwdwpdtpny

npp Yopwbwytbp 7(fy)-ny:

Ympht b oupmgby, np fy wppuyuptipmitpp fumdp G0 Qugqind
yniynghghwjh (hwonpnwpwp Yhpwndwd) gnpdnnmipjud tuypiwdp (wjbuybu
hgwtiu twb 7(f,) plnunpnipmbitpp)

(fg - fn)(@) = fo(fn(2)) = g(ha) = (gh)x = fon(z),
m(fg - fn) = 7(fon) = 7(fe)m(fn)
Mupgq L, np dhwynp puppp fe-0 Gnybwpwp  wppuyupbpndt £ L
fo—1 = (fg)™" (uw widhguybu htuplinud £ (1.8)-hg): fy wppuyunpypnuiobpht
hwiwywypuufuwing phnunpnipymbdtph fundpp bpwiwytbp F(G)-ny: Mwpg
L np F(G) < Sp:
GQunnighlip wydd ¢ thnpudhwpdbip wppuuupybpnuip G-hg F(G) htplywy
Ylipwy.

(1.8)

p(g) = m(fg) :
NYympht E hwdngyby, np ¢ : G — F(G) hqninpdhqu k, huuwybu ¢(gh) =
T (fon) = 7(fo)7(fr) = ¢(g)¢(h) U ptinptdl wuyjuwgmgwd t:

(@tnptd 1.1-hg htipmd £, np ybpouwnp pudptiph nuunudwuhpnipnian
hwbgtgynmd £ uhdtpphy fudph™ S,-h Ghpwhidptiph mumdbwuhpdwbp: Swpl
L Opt, np Gtinptid 1.1-p htpypnipjudp Jupbih £ ponhwipugily twb wigbpg
hudptinph hwdwip:

1.4. Sndindnpphqut

Uwhdiwimd. Yhgnmp Gi-p b Go-p fudphp Gb: f @ G — G2 wppuyyuptpnudp
UYngynd £ hndninpdphqu, bt

flab) = f(a)f(b) :
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Wn ntiypnid wumd GO, np G punudpp hndndnpd b Go-hi:

Whthwnp £, np hgninpd pudptipp Gwb hnindnpd Gh: bgninpd pudptipp
dbyp Wnwp érgphyp wunpdkbbtp G0: Sndndnpbhqih ghwypnid - Gphpnpn
hunuipp wnwehtih, hos np hdwuypny, <unuyunyuds> gqupstbh L vwluyb wyn
tpypnpn funwipp ywpnbwymyd £ hp dbe wnwehtt fudphtt yipwpbtipnn npnpwyh
htdpnpiwghuu:

OrPLULLG(:

. f: G — Gau f(z) = e pninp z € G hwdwp: Wydhwpp b, np f-p
hnininpdhqu E:
2. Yhgnip G- judwywlwb fumdp t: Shpubbp npuk a € G: Ympupybip htplguy
wpypuwupybpndp” f 2 (Z,+) — G, nppbn f(n) = o™ Mupgq &, np f(n+m) =
a™t™ = a"a™ = f(n)f(m) b f-p hnininpdhqul L
3. Wuumhtipl z = y modulon gpunmdp Yopwbwyh, np z-p y-h dbwgnpnb k, np
upugymu k y-p n-h ypw pudwitihu: Uwhdwbbip htiyplyw) wpypugugpybpnuip
f : Z,+) = (Zn,+) nputiu f(m) = mmodulon: Wythwyp L, np
uw hndndnpdhaqd £ U f(s +¢t) = f(s) + f(¢) (Gqupbkbp, np wpwehl
gnuiwpiwb bpwbip wdpnne pytph unynpuljub gnidwpnuit k, huly Gpypnpnp
dhwgpltiph nuubtph pup modn-h gnuiwpnuip): Rwgh npwbhg wptnh mbh
twl f(st) = f(s)f(t) pwbwalp, nppbn wowehtl puqiwuyuynidt wdpnng
pUtph unynpulub puquwuwupynuite £, huy tpypnpnp’ diwgpbtiph nwutiph
pup mod n-h puqiwwyunpynudp: Wuhbpl hndindnpbhqip wwhywind L n-h
Yypw pwdwdbihmpjud hbyp Juuywd pninp hwupynipynibbtipp: Mwpq £, np
tpt wipnne gnpdwlhgbtpny g(z) = ap + a1z + -+ + apz™ puqiwinudh
thnihnpowjubth thnjuwptb pnunptbp s b ¢ pYtpp, npnblg hwdwp 6howy E, np
s = tmodn, wyu g(s) = ¢g(t) mod n: Wu thwuypp pny| & qrujhu hbpypnpjudp
upuiw] hwppbh pudwbbihnpyub hwjppubhybbpp: dhgmp m wdpnne phyp
ppyud Eypuuwub hhdpny, wyjuhtiph m = ag + @110 + ... + a, 10" \ptiupny:
Lwih np 10 = 1mod3 U 10 = 1mod 9, wyw m = ag + a1 + ... + @, mod 3
Jud mod9: Lnyh auny oqpytiny 10 = —1mod11-hg upubnd bhp 11-h
hudiwp pwdwbtijhmpub swyp (wy hwppth hwyppubhop m = ag — a1 + s —
.+ (=1) ", mod 11: Gpk m wdipnne phyp ppywd b tpymwlwid hhipnd
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m = qag+ a2 + - + @, 2", wyuw ophtay 3-h pwdwbtihnipyut hwyypwihon
Juypugyh htiplyw) Ytpw. pwbh np 2 = —1 mod 3, wyuw

m=ap—a;+az—...+(—1)"a, mod3:

1.5. NSwpuljhg nuubp

Uwhdwimy. Yhgnip H-p fuiph Gopwhunuiph £, wyuptipt H < G b a € G:
G udph puyp H Ghpwhudph a pruppny djwd dwfu hwpulfhg nuu E 4ngdnid
htipljwy puqunipynip’
aH = {ah|h € H} :

Liwl tnuwiwyn vwhiwiymy t we hwpwlhhg nuup Ha = {ha|h € H}:
Unpnpl Ynuunudwuhptilp dwju hwpuwyhg nuutipp: Wowbg npul ndupnipyub
upnigynmd £, np pninp wipugywd wpnynipbtipn 6howyp Go twbe we hwipwyhg
nuutiph hwdwp: W wupdweny, hwpdwpnipjud hwdwp, dwhn hwpuyhg
nwubtipp juijwitip mnnuih hwpwyhg nuwutipn: Wohpudtoypnipyjub nbwypnid
nuutinh phuwyp hupniy Yéonyh:

Ntqugniptilp hwipwhg nuutiph hugpymipymabtpp.

l.a € aH;

2.pnnp hwpwlihg nuwubpt mokt dhhonya hgnpnuyeymip. ah — h opklipny
uwhdwijwd thnpudhwpdtp  hwdwyupuwupwibgnuip eH-h U H-h  dhol
wuyugngynd £ wyu winmup (ah; = ahe = hy = hy);

3.aH =bH < b 'ac HUua'he H - uw tipynt qpupptipny dtjwd hwpuljhg
nuutiph hwdpyuwi withpudty b puywpup wuydwih b (Guptop, np b~ta €
H Wwa'b € H wuydwbdbpp phnh mobh ud snibth shudwdwbwy b pubh np
H-p thpwpmip £, wyu b~ la € H < (b7'a)™! = a7 'b € H): Uyugmgtilp
hunpynupynip: Yhgmp aH = bH: Mpkdh a = bh, h € H Wb 'a = h € H:
Y%hgnip b la € H: iptdt b 'a = h W a = bh: Yhgnp ah; € aH, wyu
ahy = b(hhy) € bH, puigh hhy € H: Muph aH C bH: Liwb duny o~ 'b € H
wuydwbhg uyputnd Gop, np bH C aH:

4.aH = H < a € H - uw bwjunpr hupynipju htapwbpt £ b = e b~ ta = a:
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5.aHNbH # 0 = aH = bH - hpnp, tiph ¢ € aH NbH, wyw ¢ = ahy = bhy L
b~'a = hoh{' € H, muph aH = bH:

6. a € bH = aH = bH - uw Dpwlwynd t, np hwpwlhg nuuh judwjujud
upp dtnwd £ uyn Gnyb nuup:

Uwhdwimd. G puiph upg t yngdmd G puqinipyub hgnpnipymbp (Ytpowynp
G-h niypnid yuwpquytiu pupptph pwtwyp) b wyd pwiwlynmd k(G : 1)-ny:

H Gupwuiph hintipup (puuhsp) G hudpnud pup H-h hwpwljhg nuutiph
puqunipjui hqnpnipymbd b Wi tpwiwyymd £ (G : H)-ny:
Etinptid 1.2 (Lwgpubdh phnptdp). Mgnpe H < G: Uwpnyq b hlaplywy

putliwdlin.
(G:1)=(G:H)H:1): (1.9)

Wywgnyg. Lwih np pninp hwpwihg nuutip mbbtb dhbbnyb hgnpnieynibp,
Upwhg dhwynpnudp dwdlynd £ wdpnne G-0 b hwpwyhg nuubtpp qniyg wn gnuyq
st hwgpynmud, wyw judph Jupgp uwypubwnt hwdwp hwpudnp £ hwpwlhg
nuutinh puwlwyp puqiwyupyty H-h Gupgny:

Lwgpwidh phtnptiip Showy £ Gwl wiygtine Junpg niignn judpbiph hwdwn:
Wtith uypnyg, tpt (1.9)-my tptp Utdnpnitbtphg tpynup ytpewynp b, wuyw
tppnpnt by £ Jtipgunp:

Ntplwip. Jbhpgunnp (wjuhlipl Ytpgunnp Jupg mbtgnn) hdph Gopwhidph
Yupgp fudph upgh pwdwbwpup £

Ophtuwy, tpt fuwdph Jupgp wwpg phy £ www wyb nbh dhuyb Gphm
thpwhnuip pphyhwp b wdpnne unudpp b smith ng bh ubithwju@ Ghpwunudp:
orrLUYLGN:

1. %hgmp G = S, huyy H = A,, (hhptghtiip, np S,,-p uhdtpphy funuiph b, huy
Ap-p Dpwbuwthnpu jumipl £ 7 quuppuwbh qnyg phnunpnipymbbtph fundpp):
Mbkbp, np A, < S, bbgwbu ghyptbp (S, : 1) =nlL A4, : 1 = %' Swdwéaw;b
hwpwlyhg nuubtph 3. hunpympyuip (Gpyne pupph dhubingd hwpwyhg nuuht
wunpyubbine withpudton U pwjwpup wwydwbh) 7 b o phqungpnipymibtbpp
4ihtkh puyp A,-h dhtbnylh hwpwlhg nuuhg dhuyh b dhuyh, tpp 7~ 1o € A,
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wyuhlipl 7~ 1o-b qnuygq phnunpnuenih £, hul nuw htwpwynp £ dhwyb, bph 7-h L
o-h qnuyqgnipjnibttinn tnybb Gb: Qwugph pninp qnyq pinunpnipnibbtpn juqinud
bl hwpwlyhg nuu A,-p b pnnp Galnp piquinpnipymbbbpp tnybybu hwpulyhg
nuu bl Juquinui, nph puppbipp Jupbh Eupubwg Jepgobing judwjwlub Ghbog
7 phnunpnipymb b Juomgbing A, hwpwyhg nuwup: Whoahwpp &, np (S, :
Ap) = 2 b Lwgpubdh phnptdp upubinud £ htplyw) qhupp

nl=(S,:1)=(S,:An)(Ap: 1) :

2.%gnp G =Zu H =nZ = {nz |z € Z}: Quptin tpynt juipbipt b nhyrupymd
tOp pup gmiwpdwb: boswytu ghnptitp, nZ < Z U tpym judpbpb b wogtpe to:
Gnynt wipnne pUtp p-0 b ¢-0 Yihtth dhubnylb hwpuyhg nuuhg pup nZ-h
dhwyl W dhwyb tpb p — ¢ € nZ: dbpohlt wuwyiwip hwdwpdtip £ htiplywht
p = qgmod n: Muph tpym phy tnyb nuuhg G Jhuwyh Geb npuip dhubnyb pup
mod n-h dhwgplbtph nwuhg th: Wuhbph pup nZ-h hwpwuyhg nuubpp npuip
puy mod n-h dhwgpbph nuutpd Gh: Qbwywd (Z : 1)-p b (nZ : 1)-b wiytpg
tl, nZ-h htntpup Z-my Yytpowynp t (Z : nZ) = n:

3. Yhypwpltp hwppnpyjub dbe qupiynn Ybygpnpbtph pwqunieymbp, npb
wpbpwb fundp L quqimd egqnpbtph gnudwupdwb gnponnnipjub tugpdudp:
dhpuwd a Jtlppnphtt Ynhttwp  Jtypnpbbph  puqinpymbp  juqumd k
tipwpnuwip: b L ¢ Yyuypnpbtpp uyuppuikt shubngt hwpwihg nuuphl pup
a-hb Ynihbtiwp Ytlypnpbtph Gpwhaiph dhwyb b dhwyb Gpb b — ¢ Ytlynpp (hth
Unihitiwp a-hti: Wuhlipl hwpwihg nquup, np dtJwd £t b Yuypnpny htaplyuy
puqumpmbl £ {b + Aa|A € R}: a-ht Ynhbbwp pnnp Yiypnpbtipp, npnog
uljgpiuytipp Ynnpnhtwgpuyhtt hwdwwngh uyhgqpt £ gipoymd Gb dhing @ ninnh
Upw, npl wbgmu £ 0 Yagny: Uypinple pipdud tywphg tpumd &, np {b+Aa | A €
R} pwqinpjubd pnnp yayynpbtph dwypuwybtpbpd pbiud G dhubnygd ninnh
Ynw, npp qniquhtn b a-ng npnpgwd ninnht: Mupg k£, np judwyuyud yelpnn,
nnh ujqpbwytipp 0-0 k, huy dSwypuytpt pbyud E tpgwd ninnh ypw yupljubnmd
L{b+ Aa| X € R} puqinipjuin:
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Mwph, pup a-ht Ynthibwp  Juypnpbbph - Gopwjudph,  hwpwlhg
nuutippn Jhwpdtipnptih npnpymd G a—htt gqniquhtin mnhnbbpny, pbn npmy,
Jnipupwibsnip ninnht hwdwwywypuupwdnd £ dkl hwpuyhg nuu: Wu nliypnd
Lwgpwbddh ptnptth pwbwalnmd dwubwygnn pninp dtdnipinibbtpt wtgbtpe Go:

1.6. Lnpiw Ghpwhnipkp

Yhgmp H < G: Yhpupytbp pup H-h hwpuyhg nuubph puquniegnidp,
npb wijuind G0 pwlppnp-puqimpyma b Gywiwymy th hplyw] Yhpo
G\H: ®wuypnptt G\H-h hgnpmpjniip hwjuwuwp b (G : H)-ht: ®npakbp
wydd vwhdwil] puqiuwyupyiub gnpdnnmipymd G\ H-h ypw wjbytu, np wjyb
pujwpwph hudph vwhdwidwd wuwydwbbtpht: Qdkbwptwluwd tnubwlp, npny
Jupbih Yihttip vwhdwit] hwpuihg nuutiph pugqiuwwupynudp nu

(aH)(bH) = (ab)H (1.10)

pwiwall b Uwluwyl, pwbh np (1.10) pwbwdtmd guubph puqiuyupynuip
uvwhdwbwd L ypuwpptiph puquuwyunyiwd dheongny, www wbhpudbop k
huninqyb], np uvwhdwbinuip Ynotiyp L, wyjuhlpl puquuuyupuub wpnymbpp
Jquhjwd st wyt tpyne Ynbyptyp @ b b qupptiphg, npnbp Ybpgymd tb
puquuwuplynn nuutiphg: Whh upnyg, hwpuynp £ np hbgwhuh ¢ b d
wpwppbp b Jupgbtp aH-hg L bH-hg hwdwuyupuuuwbwpup, upubuip
(cd)H = (ab)H:
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Mptdt, nhgnip ¢ € aH b d € bH: Npwtugh (ed)H = (ab) H wihpudbpyp L

U punfwpup, np
(ab)Yed) =bta"ted € H - (1.11)

Yppupytop (1.11)-h Jwubwynp nbwpp, tpp b = d: Wu ghypmy (1.11)-p
Yupypugnyh nputiu b~ ta"teb € H: Lywbuhkbp h = a~lc € H (uw wiihowutiu
htapunud t ¢ € aH wwyiwihg) b b~ la=teh = b~ 'hb € H, wjuhlipli npuytugh
hwpwlhg nuutph pugqiuwyunpynuip (1.10) pwbwadlny (hoh Yoty wbhpudtop
L, np

Voe GYhe H b 'hbe H : (1.12)

Wu yuwyiwip dwb pwjwpup k, pwbh np pbnhwinp nhypmu (1.12)-hg uputmy
tp b~'h = kb~ npnpwilh by € H hudwp b d € bH-hg upubimy kip b~1d €
H U, ytipowytiu, b~ ta"ted = b='hd = h1b~'d € H: (uuph (1.12) wuwydwip
wjl npnphs hwbqudwbpl k, npp pny; ©ypuwihu (1.10) puwbwath oqinipjudp
uwhdwbt] hwpwyhg nuubph puquuuyuynuin:

Uwhdwimd. G fuiph H Ghpwhndpp Yngdnd £ anpdwy (Gud hiJwphwing)
G-nud, tipt
Vee G x 'Hx CH, (1.13)

npptin 2 'Hx = {z~'ha |h € H}:

H < G gpunnuip Yopwbwyh, np H-p dnpduy £ G-nud:

Puquuyupytinyg (1.13)-p dwhihg z-ny b wohg 2~ -ny’ Jupubwip H C
rHr~': Luih np z—p Juiwyuiub E, Jupnn bbp z-p thnfuwphity 2~ -m] L
mptdt H C 27 'Hz W 2 'Hx = H: Mupq k, np hwdwpdbip t owl Hr = H
wuwjiwip (dwpe b we hwpwlhg quutiph hwjwuwpnipymbp): Muph Vo € G,
v 'Hx = H W Ve € G, Hr = vH wuwydwbitpp hwdwpdtp th (1.13)-ht b
Jupnn GO pnmbyt] npytiu tnpdwy Ghpwhidph vwhdwbnug:

Jbpp Jugpupdud nhpupynuibtiphg htppund £
npyhugh (1.10) pwiwadbny vwhdwiwd hwpuljhg nuubph puqiuuuplnuip
thth Ynntljyp, wihpudbtoy £ b pujwpup, np A Gipwjunudpp thah tnpdwg
G-m:
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OrpLUYLE:

1. Upbpjwb hudph juiwyuyub thpwhnwipp dnpdwy L:

2. Yppuplytbp S, updtypphy pdph A, Gpwbwhniu Ghpwundpp: Wpnkd qtuby
thoip, np (S, : A,) = 2, nuph puyp A,-h dwpn b we hwpwlhg nuubpp
hwdptyomd &b (dh nuup htbg A, b, huy gnup Gelyp pbnunpnipymbdbph
puquinipymdlb £): (iptdt A, -p dnpdwy £ S,—nud b 4,, < Sy,

3. %gmp H < G u (G : H) = 2: Lwjunpn ophtwyh nhypwpynuihg wupg b, np
H-p tinpdwy £ G-mud:

1.7. dulppnp-fundp

Uypnighiip wydd, np (1.10)-ny vwhdwdywd hwpulhg nuutiph pugqiuyugpynudp
Onpiw tbpwpudptiph nhypmd pwjuwpupnd £ dph vwhdwdwb yuwydwbbbphb:
Wunghuyphympyub wuwydwbp upnyg £

((aH)(bH))(cH) = ((ab)H)(cH) = ((ab)cH) = (a(be))H =
— (aH)((be)H) = (aH)((bH)(cH)),

niuph Jupbih £ gplp mnnuyh abH Jud abcH U wyb:

Uhuwnp puppp nuw e = H hwpuyhg nuub © (aH)(eH) = aeH = aH =
eaH = H(aH):

Snmpwpubgjnip aH nuu niih hwjunupd wyb ke H nuup. (aH)(a 1 H) =
aa 'H = H:

Wuwhuny wujugngtightip, np
G\H duwlppnp-puqimpymip funuip £ pup (1.10) pwiwabn] vwhdwiwd
hwpuwlhg nuubtph puquuuwupiut gnpédnnmpjut dhuyt b dhuyt wyh
nliypmd, Gpp A Ghpwjundpp anpdwy £ G-nud:

Wunithtop, tpp H < G U dwlppnp-puquinipymin junidp £ wyn pundpp
Juijuitbp wlpnp-funip (pup A Ghpwhudph) b G\ H Gywinyg Yopwiwltbp
wyn junudpp:
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1.8. Sndndnpdphquih Jupngudpp

With vph f : Gi — Go hndndnpdhquih htip Juuyymd o htglyw; Gpym
pwqunieymbbtpp dhemlip

kerf ={x € G1| f(z) = e}

U wunplytipp
Imf ={yeGa|IrcG, f(x) =y} :

Lluptilip, np dhemyp sh Yupnn nupuiply thitky, pwbh np f(e) = e b mptdh
e € kerf:

Nwinqytiip, np dhonijp Gi-h b wupytipp Ga-h thpwudptpt Gh: Ypuw
hwdwp upmightp (1.1) yuydwbh dqmpynibp:

NYhgnip x1, 29 € ker f, wyu

Flar ee) = flarh) fla2) = (f(21) 7 flz2) = e,

pwth np f(z1) = f(z2) = e: (1.1)-p upnyq L:

Uhoniyp Onpdwy Ghpwpinudp £t Gi-nud: bpnp, tph A € kerf, wuyuw
flaha) = fa=")f(h)f(z) = f(z) " ef(x) = f(z)"'f(z) = e Wz ha €
kerf:

Yhgmp y1,y2 € Imf: Uqpiftb xq, 22 € G1, np f(z1) = y1 U f(22) = yo
Mubbp f(z) 'wa) = (f(21))""f(22) = y; 'y2, muph 1,92 € Imf U (1.1)-p
uypnyyq k:

Lwih np wupltpp Ghpwnip bt Go-md, wwyw wlybhwyyp L, np f
wppuwwplipnudip Gi—hg Imf onybwbu hndndnpbhqd £ b uhgpbwud f
G171 — G hnindnpdhquih nuumdbwuppmpip hwighgymd £t f @ Gp —
Imf hnindinpbphqih mumdbwuhpnipjuip: Mwuph wowbg phnhwipnieniin
huwupbne Juipnn Gbp vwhdwbuhwyyt] dhwyb wyt nbypny, tpp G = Im f:

Yhgnip f: G — Imf hnininpdhqu t: ¥mphh £ upnigly, np

fla)=f(b) & (f() ' fla)=e &

fOf@) =es f07a)=es
b la € kerf < akerf = bkerf :
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Wyuhbpl, tpynt qpuppbph yunpytipbtipp hwdpyonod G0 dhwyb b dhuygb wyb
ntiypnd, tpp hwdipbyonmd &b Gpubgny dtjwd hwpwyhg nuutinl puyp dheniyh:
Nuuph wpugywd £ thnfudhwpdtip wppuuywgpytpnd G\ ker f Swljqnp-pudph b
Im f-h dholt

g:G\kerf — Imf
glakerf) = f(a) :

Munpqynud k, np g-0 hanuinpdhqu t: bujuytiu, pwth np g-o thnpudhwupdtip
L, dbnud £ uypniglyy

(1.14)

g((akerf)(bkerf)) = g(akerf)g(bkerf)
wwjdwbh Gqnpyniip, pujg

g((akerf)(bkerf)) = g(abkerf) = f(ab) =
f(a)f(b) = glakerf)g(bkerf) :

@Etnptd 1.3 (bgnunpbhqih Jwuh@l pbnptdp).  Swlppnp-unniph pup
hnidndnpdhqup dponihih pgninpd [ hnindnpdhqih wuaphlipph:

1.9. Guiuntwjui hnininpdphquip

boswtiu ghnptip hndindnpdhqih dhonip Gnpdwy Ghpwpnuip L Mwupgymd

E, np juiwjuub Onpduy Ghpwpudph hwdwp Jupbh B Quonmgl] fudpbtph

hnininpdhqu wybybu, np wyn Ghipwhinuipp Juquh wyn hndninpdhquh dheomyp:
NYhgmp H < G: Qunnighlp htigplyuy wypuggunpybpnudp:

f:G—>G/H

£(0) = o (1.15)

Qwuynptlt f-p jmpupwigmp pupp puind £ own puppnd dtqwd (b wyn
punpp wwpniiwynn ) hwpwyhg nuuh dbe: Nuingytiip, np f-p hndndnpdhqu L.
f(ab) = abH = (aH)(bH) = f(a)f(b) :

Qupitibp thoniyp: dpw hwdwp qupbtbp pninp « € G, np f(z) = eH: Puyg
f(z)=zH,huy 2H = H & x € H: Muph kerf = H:
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Yupnigwd hndninpbhquip Ynsynid £ Juinbwua hndndnpdphqd b wyd
1hnyh@t npnoymd £ G pudpny b opw A Gnpdwy Ghpwhudpny: Wuyhuny wyungytbg,
nn Juduwyuljut npiw Gipwjundp hwinhuwimy E hndndnpdphquih dhomy b
Juiwjuljui hnininpphquih dhenl) tnpiw; Ghpwjumdp k:

Wuhbpt Ghpwhiiph dhonl (hbtint hwpynipyniip hwdwpdtip £ Gnpdwg
thutint b wyb uiptijh £ nhpt npytiu tnpdwy Gbpwhidph hwdwnpdtip uwhdwbnud:

bgnunpdphqup dwuhb phnptivp hwpdwp L dbwlytpuyynd dwle Yndnupugphy
nhwgpuititinh (iqyny: Mhypwpllip htiplyw nhwgpudp (wupltpp)

f
G — Imf
L9/

G\ ker f )

nptn f : G — Imf ppywd hndndnpbhqut b, f* : G — G\ kerf Juinbwljub
hndninpbhqut £ f*(a) = akerf U g : G\kerf — Imf hgninpdhquit L
$ulpnp-fudph b yupltiph dhol: Wu nhwgpudp hupuitpwlwd Eopuing, np
uuwd G ludph nput a yuupphg np ujwpny b owpdytinp, dhowp £ jhwudkop Im f-h
f(a) quppht: bpnp, g(f*(a)) = glakerf) = f(a) hwiwawyh (1.14)-(1.15)
pwbwalittiph:

hqninpdhqih dwuhd phnpbtdd wumd k, np nput G fudph pnpnp hndndnpd
wupytinbipp quptih £ upubwy ytpgbting opw pnnp tnpdwy Ghpwhidptipp L
Junnigting $uypnp-fudptinl pup wyn bnpdwy Gbpwhidptiph:

1.10. ShyyrhYy hniptip

Yhgmp G-0 unudp £ b a € G: Lpwbwlkbp (a) = {a"|n € Z}: Wybhwyy E, np
(a) < G:
Nowpunp E tipyne ntiwgp.
1. a™ pwpptipp puppbp GO pninp n-tiph hwdwp;
2. qnynipgnih mbkh n # m, np a” = a:
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Yhypupltbp wnwehl nhiypp: Ywnnighip htplywy f wppuwupbpnuip’

f:la) =7

nmptin Z-p Yybtpgud E puyp gnudwpdwi: Wthwpp &, np f-p thinfjudhwpdtpnpto
wppuyupltpmd £ (a)-0 Z-h Jpu b f(@"™) = f(a”)f(a™), muph wd
hgninpdhqu t: Wuwhuny wnwehli ntiypnid (a)-0 hgnunpd L unipnng pytiph
hudphtt b, mptdh, wigtpe t:

Bpypnpn nhwypmd gnynipymb nbbh wipnne n # m, np o’ = a™: Yhgnip
n > m: Puqiuuupybing ¢” = a™-h we b dwpu dwubpp ¢~ ™-ny Juypubwip
a™™ ™ = e. Muuph tpypnpn nypnd Yqupyh wdtbwthnpp npujub wdpnne n-n,
»~! qupptipp ppnpb b pupptp
til: buluubiy, tpti @ =a?, 0<j<i<n—Lugua 7 =el 0<i—j < n:

np a” = e: Wmphh £ wpmghi, np e, a,d?, ..., a

Jtpohl wwydwip hwluwunid £ wyd pwbhb, np n-n thnppwgnyb nppujubt wdpnne
rhyl t, nph hwdwp ¢” = e: Mwpq E, np a” = e wuwpdwih quypdweny (a) =
{e,a,a?,...,a" '} b ({a) : 1) = n: Gunmghibp htiplyuy wppuwupytpnuip’

f:{a) = Zy
f(a*) = kmodulon,

nputin Z,-p dbwgpltiph nuubipb Gb puyp mod n-h, npnbp nhypupynd GO pup
gnudwpdw@: Mwpg E, np f-0 hgndnpbhqd £ U tpypnpn piygpnid (@) funidpl
hgninp$ k£ dbwgpbbtiph nuubtph pudphib:

Uwhdwbind. (a) fundpp Yngfnud £ ghlythY junwdp, hul a € G puppp Yngdmd £
hudph dtps: ¢ € G quupph Jupg t Ynsgmd wyb thnppugnyt npuijud wdpnne n
Rrhup, np a” = e:

Nhgnmp G-0 Ytpowynp ghlyhy funwip &, wyuhlipll gnynipynih nibh ¢ € G np
G = (a): Munq k&, np ludph U e rupph Jupgbpp hwywuwn Gb dhubng n pyhb:
Qupltiip G-h Guiwyuwlub ywpph Gupgp: Lwih np G = {e,a,a?,...,a" "'},
wyw fudph Gudwjwlud qpupp mbh hplyuy gupp o, 0 < k£ < n — 1
QupitiGp wyl wibkwihnpp npuljub widpnne s-p, np (a¥)® = e: Mwpq t, np
a** = e W pwlh np a-h Qupgp n L, www ks-p wunphl b n-hb: Mugh

ak—h Jupgp npnotiint fubinhpp hwbgtigbmd t htplywy pyupwbuub jabnphb.
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ypdwd 7 b &k phwlub pytph hwdwp qupib; wyh wdtbuthnpp s phwlub phyp,
np ks-p pwdwiyh wowbg dbwgnpnh n-h Jpu: Jdbpndtop n-p L k-0 qupg
wpunphsitiph b wwpqtibp ph hoy £ hwpludnp wbjugbty £-h tpmdnipywip,
npubugh wy hp dbe wwpmbwyh n-h Jbpnmonyeynbp: Wythwpp L, np n-h
U k-h dJtpmdnmpymbbtph phnhwinp dwup Gpubg wdbbwdtd phnhwbnip
pwdwiwpupb £ (n,k)-b: Mugph k-h Jepmidmipyub dbe n-h Jtpnidnpyub
syupnibwlpynn duup ﬁ -0 & ipdn s = ﬁ Wuhbpl a® ywpph Jupgp
hwjwuwp k ﬁ—h u ((@®) : 1) = ﬁ: Wuptinhg widhowwbu upubnid
tiip, np G funwipp dUymd L pninp aF ypwppbpny, npnig hwdwp (n, k) = 1:
Wnuhuh dhsitiph pwiwyp hujwuwp b ¢(n)-h, npptin ¢-0 Ejiph $nityghwt
£ n-hg thnpp U n-h htap thnpiwnwpdwpwp wwpg pytph pwbwyp (bpt n-h
Jbppmdnpymbp wwpq wppunphgiitph nue pit - pg? L wwyw o(n) = n<1 -

5 (-2

orpuiy:

Ypupytbtp Z/nZ Sulpnp-fundpp, npb hgninpd £ puyp mod n-h dhwgpltph
nwubiph fudph: Swyjph £ np n-h htyp injuwnwpdwpwp wupg  a-tph
thpwpwqumpymbn {1, 2, ..., n—1}-hg juqund L dmpphyyhunphy bbpwunudp
Z/nZ-my, nph Jupgp hwjwuwn b o(n)-h, npptn ¢-0 Ejtiph $mbyghwb
Mptit a?™ = 1modn pnnp a-tph hudwp, np (n,a) = 1: Uw hwjypdh
Ejtiph ptnptudd £, nph wuwjugnygp upugdtig hhdtygting wylt thwuph pu,
np Juiwjwliud gupp pupdpugud fudph jupgh wuphwh quithu £ hadph
dhunp qpuppp: Uwubwynp niypmy, tipp n-p yupq phy t, upugymyd £ huppbh
dlipdwgh <thnpps phinptitp’ ¢?~! = 1mod p pninp 0 < a < p hwdwnp:

Wdu wupqtiip Ytpguninp ghyihy fudph thpwudptinh jupmgywdpp:
-tinptd 1.4.
L Shlyply pidph klpwipunidpp ghlypl L:
2 Bphk G-0 ghlyply unodp t b (G @ 1) = n, www n-p Quwdwjywlwi k
pudwiumpuph hwdwp guynignili niih k upgh dhwly bigpwpniipp G -nid:

Wuyugnyyg. Wuyugnighp ptnptth wowehlt winmuip: Yhgnp G = (a) L
H < G: Mupq t, np H-h quuppbpp a-h wuphdwbbbpl b Gph H = {e},
wuw whthwypnpt H-p ghyhy & bpt H # {e}, wyw H-mu Yqpiyh a-h
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wdtbuthnpp npuut wuphdwbop, wyuhbip Ygpigh ¢™ € H L 0 < p <
m = af ¢ H: Lwih np H-b0 thpwpnmdp b, wyw (a™) C H: %hgnip
a” € H: Pwdwikbp n-p m-h ypw' n = mqg +p, 0 < p < m: Miptdh
a = a™*? = (¢™)%aP L pwbh np (a™)? € H upubnd tbp o = a"" "™ € H:
Gph 0 < p <m, uyu ¢ € H, muph p =0, n = mq b a” = (a™)%: bulj uw
pwiwymu £, np H C (a™) b niptdt H = (a™): Wuwhuny H-p ghyihy £ b wyb
dtynud £ H-mud wupnihwlyynn a-h wdtiiwthnpp gpujul wuphdwbny:

Uyugmghlip wydd phnptdh tpypnpn dwup: %hgmp G = (a), (G : 1) =n
UL H < G: Lugpwbdh phnptishg wwnpq t, np (A : 1)-p n-h pudwbwpunb L
Yhgnip 0 < k < n U k-0 n-h pwdwbwpunb £: Uhwbquihg wupg L, np <a%>—h
Jungp hwjwuwnp k (%Ln) = k: Qyugmgtlp, np nu dhwy £ Jupgh Ghpwunuipl
L:

Yhgmp H < G u (H : 1) = k: bugwbu phuwbp, H = (a), npiptin m-p
H-md wwpnibwyynn a-h wdkbwthnpp wugphwdd b Mbkbp, np (H : 1) =

(m,n)

Muph H = (@™) < (a%): Puyg H-p b (a%)-b bpnub b wwpmbwymd bo &
qupp, npbdt H = (aF) U phnpbdh wyugmgud t:

=k, mptd ¥ = (m,n) b m-p pudwiyymd £ Z-h ypw wowbg diwgnpnh:

1.11. linhn wpyunpyug

NYhgnip G-0 fundip £ U H-0 m K-0 G-h wyiyhuph Ghpwpdpbp b, np G =
HK = {hk|h € H, k € K}: Mupqtlp, pt hiswhuh wuwydwbibph nhypmy G
hudph jnipupwbtisjnip ¢ pupp dhwpdbtpnptt Yotipyuywgyh g = hk, h € H, k€ K
pbiupny, pln npnud pb g1 = hiky U g2 = hoke, wyw g1g2 = (hi1hg)(k1k2):

Yynipht b yqbubb, np H N K = {e} wuydwdd wihpudbyyp b pwjupup b
g = hk tipjuyugdwb dhwpdtpnipyul hwdwp: bujuwtu, tpt g = hi1k) = hoks,
www hythy = koky' € HNK: Mwuph by thy = koky ' = e W hy = ha, ky = ko
Ujnwu Ynnidhg, tpt e # g € HN K, wyu ¢g-0 mbh tpym quuppbp Gbpluyugnid
ge b eg:

Wdy, nhgnip g1 = hiki, g2 = hoks W g1g2 = (h1hg)(k1k2): MUblp g1g2 =
hi1ki1hoks = hihoki ko, mptdl k1he = hoky, hlsp Dpwbwymd t, np Vh € H, Vk €
K upnyq £ hk = kh, wjuhipb H mi K thpwhiiptiph qpuppbipp ppinunhnpubh bo:
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Jbpohtt wuydwip hwdwpdtip £ H-h m K-h tnpdwympyjuip G-nd: Sudngybip
npuind: dhgnip H m K Ghpwpdptph ppupptipp ptinuidhnjutih GG: Yhgnip
g € G U g = hk: Yhpupyklp ¢~ Hg puqunipymbp: Mwpq b, np g ' Hg =
E~'h'Hhk = k™'Hk = k7 'kH = H U H < G: Liwhuytu, ¢7'Kg =
E~'h'Khk = h™ 'k 'Kkh = h"'Kh = h7'hK = K U K < G: Wdu
wyugnighip hwunwl winmdp: Yhgnip K <G W h € H, k € K: Ynpupytitip
h='k~'hk ypwuppp: Moktp A= k= hk = (R~ 'k~'h)k € K, pubh np h=*k~th €
K: Uy Ynnihg h~'k~'hk = h=Y(k='hk) € H, puwbh np k~'hk € H: Mmuyph
h='k~'hk € HN K = {e} U h™'k~'hk = e, wyuhlpl® hk = kh: Wuuhuny
hwbgnud Gbp htiplyw; qunuithwphb:

Uwhiwimdy. Wumd G, np ¢ pumdpt hp H U K Gbhpwjudptph mnhn
wppunpyuh k, tpt

. G=HK (qupq &, npn HK = KH);
2. HaGu K«G;

3. HNK = {e}:

bhgytu wpntt ghiptibip, jnipupwisynip ¢ € G shwpdbpnptt dhpluyugynd
Enpytiu g = hk U, tipt g1 = h1k1, g2 = hakz, wmyu g1 g2 pupph btipjuyugnuip
htuplywil £ (hyhe)(ki1ke):

QYhgmp wydd mbbbp tpym fjundp G U G Yhgpupytbp Gpo X
Go nuppui  wppunppup, nph Ypu vwhdwbblp  puqiuyupliwd
gnpdnnnipynil htipplywy Yepw: Yhgnip a1, b1 € G1 U ag, be € Go: Uwhdwibip

(a1,a2)(b1,b2) = (a1b1, agbz) :

YniphQt £ wpnigl], np G X Ga-0 junudp t Jtpp Gpqwd mnnnpnyud gniygbph
puquiuuyupiud  gnpdnnmipjud  Gjupdwdp: Uhwydnp  quppp (e, e2)-0
L, npptin  e;-p Gi-h, hul e2-p Go-h dhwynpbiptt G: Mwpq £ np
(a,b)-h hwlunupap (a=!,b7H-0 E Lupkbp, np {(a,e2)|a € Gi} L
{(e1,b)|b € G2} pwquimpmbdtpp bthpwhdiptp G Gp x G2 hudpnd L
npuip hwdwwyuwpuupwbwpwp hgndnpd G G1-ht m Go-hb: W Ghpwhudptpp
Unybwgynd 6o G1-hb m Go-hb: dnipht £ hwdngybg, np G X Go, G1-0 nt G
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pujuwpupnid &0 ninhn wpgunpyuih vwhdwbdwd 1.-3. gquydwbbbphl, nuuph
G1 x G2 lumipp Gy U G fudptiph ninhn wpgunpyw E:

G = HK ninhn wpypunpub hgninpd b H x K pudphl: bujuytu,
jmpupwiggnip (A, k) qpupphtt H X K-hg hwiwyupuupiwbgbbtip Ak qruppp
G-hg: Whhwyyp E, np wyu  hwdwgunpuupuwbbgnit hndndnpdhqd £, npp
thnjudhwupdtip © U wuipltipp hwdpdyomd £ wdpnne G-h htiyp: Miptdn nu
hqnunpdhqu £ W wuwpdwneny wyb thwupp, np G = HK minhn wppunpywy
gnnud &b htipyuy Yepy G = H x K:

Piwjub duny uvwhdiwiymd £ Judwjuluwd Jtpowynp pwbwlnipjudp
fudptiph mnhn wppunpup Gp x Ge X -+ x Gy, nijupypyud wppunpjuih
pupptipp puquwyupynud G htplgwy Ypey

(alva’Qv .. -7an)(b17b2a .. abn) = (albl,CLQbQ, .. 'aanbn)
G funmdpp Gnybhwgynmd k
{(617 e €i—1,0, 6441, - .- aen) | ac GZ}

Lhpwpudphbi:

Yhgmp Hy,...,H,-n G liph thpwpdptp th W G = Hy---H,: G
lunwdpp Yhtth Hy, . .., H, Gopwhudptph ninhn wppunpyuyp, tpt (A, ..., Ay ) —
hi ... hy wppuyupytipnudd hpgninpbhqi t Hy x Hox...xH, U G = Hy --- H,
hudptiph dholt: Wyn niygpmud gnmd 6k G = Hy x Ho X - -+ x H, U uw Dpwbwlynid
L, np jmpupwibsinip ¢ € G hwdiwp gnynipgni nbh tpu Shwpdbpnptit npmpyud
ubpuyugmuip g = hy -+ - hy, nmplin h; € H;, i =1,...,n, b tpb g1 = hy ...y,
go = hi-+ hy, wyu grge = (hlﬁl)...(hnﬁn): Lwl puwpptp H-h b Hj-h
upptipp phnuhnjutith Go: Minhn wpunpyuih vwhdwbodwb 1.-3. yguydwbbbpp
Uanytl htgplywy Ytpw.

1. G=H,-- Hy:
2. (VZ) HiQG;
3. (VZ) Hy---HNH1 = {6}:
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orpLuyLLN:

1. A%hgmp G = (g)-0 ghythy umip £ U (G : 1) = n = pg, npptin (p,q) = 1,
wjuhlipli p-0 m ¢-b hnfuwnupdwpwp wyupgq pYtp G Lowbwytip H = (gP)
L K = (¢g9): bigwbtu ghyptitip, (H : 1) = ¢, (K : 1) = pu H-0 m K-U
q W p Jupgh dhwy thpwhiptpt G G-md: Quugmgbip, npn G = H x K:
Swiwdw)t EYyhntuph wignphpuh’ gnynipynid nuthl wipnne = b y wylyghuht, np
rp + yq = 1: hgmp g* € G: Miklp' g* = g* PV = (gP)**(g7)*, umluyl
(gP)** € H u (¢9)* € K, mupph G = HK: Lwbh np ghyhy fundpl wpbyjub k
(ptnuithnfubih), wyw npw pnpnp Ghpwhdpbpp onpdwy Gb: Yhgmip ¢* € HNK:
Yw Dpwhwlymd k, np g% = ¢ = ¢% U ps = ¢t mod n: Mpkdh ps — gt = nv L
ps — gt = pqu: Wuptinhg htapumd k&, np ps = ¢(¢ + pr): Lwbh np p-0 n ¢-0
thnfuwnupdwpwp wyupg G, wyu s = Omod g U ¢ = Omod p: Wuhliplh ps =
Omodn W ¢t = 0modn, mupph ¢P* = g9 = e: Wuwhuny ninhn wpypunpyugh
uwhdwbdwh popnp 1.-3. yuwydwbdbpp pudupupduwd 6o G = H x K:

2. bugytiu ghytilip, 7 Yupgh ghyhy funwipl hgninpd £ puyp mod n-h dbwgpliiph
nuutph fudphtt (puyp gmuwpdwd), npd hgninpd b Z/nZ Swypnp-fudphtt b
npp dklp Gpwbwyty thip Z-ny: dbpmdbip n-p wupq wppunphsbiph n =
a1 oo

D1 Doy -~pz’“: Nwiwdwjt bwpnpn ophwyh’ uypubmy tbp, np Z, = chlxl X

o X Dy,
P E

3. %hgmp G-U ghyhy nip £ 0 (G : 1) = p%, nppbin p-U wwpg phy
L: ®nfuwphbtip G-0 Gpwl hgninpd Zpe fudpnd: bbgytiu ghptip’ Zpe-h
Juiwywlub ubthwiwb Ghpwhindp ghiyhy £ b tpw jupgp hwjwuwp k pﬁ,
0 < B < a: Mmptl Zpe-h pnnp kOpwhdptipl G0 {0} C Z, C Z, C
o+ C ZLpa—1 C Lpe: Wbhwyp £, np juiwjuwlwb tpyne ubthwjwb Ghpwhdptiph
huwypnuip wupmbwynud £ Zy-0: Muph, Zpe (hbgytiu b G-b) hbwpuynp gk
ttipyuyugity utthwluwd Ghpwhiptiph ninhn wppunpyuh dhengny:

1.12. ouhs puquniyeyniaibp

Uwhiwimd. G pudph S thpwpuqinipnbp Yngdmd £ dths puqinipiymia G-h
hwdwp, tpt G-h juduwywlwlb o pupp Jupbh £ obpuyugity S-h quupptiph
Yud npuibg hwunwpabbph wppunpuiny, o = 2525?27k, g € {1, -1},



31 ULEN

x eS8, i=1,2,...,k:

orpuLuyuLLN:
1. %hgnip G = S,: Swppbh £, np judwjwlui phnunpnipym upth
b Otipjuyuglliy  ppubuynghghwitph  wpgpunpjuiny,  muwph - ponp 7

nuwppwih  yppubuynghghwitph  pwuqunmpinibp  dths pwqunipyit £ Sy,-h
hwdwp: Uty wyp dbhs pwqunpnbd L S,-h hwdwp htiplyw)] puqunipyniip

. 123 ...n-1n
Juqujwd bpym  yplinunpnipinibttphg i
2 3 4 ... n 1
1 2 3 4 ... n
5 1 3 4 ., npnighg wnwohp n btpjupmpyub ghlyp E huy

Wnwup ppubiuynghghw:

2. %hgmp G = A,: Sbhshtiph pwqunipymb L pninp 3 Gpiupmpyub ghlytph
puqunipynp:

3. Y%hgnmp G = (Z,4+): Yhqupybip htplywy puqimpyniop S = {2 |m €
Z,m > 0} Wybhwpp b, np Judwjwlwd wdpnne phy mbh bpymuyub
bpyuyjugmy, npp 2-h wuphéwbbtph gnudwp £ (puguuwfud pyh hwdwp
Jtpgymy b S puquinipywd hwywnhpbtpp):

4. Yhgmp G-0 hwppmpjub Jupnpitph puqinpmad £ ghypupuwd pup
gnuiwpiwb gnpdnnnipjub: dhputitp tpynt ng Ynjhbtwp Jayypnpbtp @ b:
GQunnighip S puqumpymbp {A@|A € R} U {ugm € R}: Mupq L, np
Yudwjwlwb Jtlppnp Jupbih ©obpuyugbty S-hoquppph gmdwph qbupny:
Nuuph, S-p d0hs puqunipynih k:

1.13. ouphsutiph <mdtin> puwqunipinLh

Olhs pwqunipjul uwhdiwinuwihg tplnd £, np pudph  popnp yqpupptipp
Juptih £ uypubw Juenmgting dbths pwqinipjud pupptiph pnpnp hwpuynp
wpypunpyubbpp: bhupyb, nu pdwup mbh wik] yepowynp fudptiph nhiypnud:
Uwlwyt wignphpduiub phuwlbtnhg fudph dthy puqinipyub dthengny pipdwub
tnubwyp ptph E, pwbh np mbtbwiny ptinqt dhwyl dthsiph Ytpownp
puqumpymb nympht sk pnnp htwpuwynp wpypunpyuph uemgnuip: fodph
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pupph otpujugnudp dths puqunipyub puppbpny dhwpdbp sk, U mbtbwny
0lhs pwqunienibp hbwpwynp sk Gnybhuy hwpyt hadph Jupgp:

Jbtpp Opdwd wyupdwnedbtpny hdwuyp ndh phypwpyty dbhs puqunipjud
qunuthwph dbl wy wybih Obn gwppbpul, npp qpd EJtpnhhpjug
ptpmpymbitphg:  Shpuquymd  gnyg  Qypubp, np  Judwjywlubh  5bhs
pwqunipiniihg Jupbih L wight] hwiwyuwypuupwd onp <btins quuppbipuyhb:

Wdd tjupwugptitp dbhs puqunipynil juenigbjn vh tnubwy:

Yhgmp G < Sp: (Cup Luhh pbnptdh  (Etnptd  1.1)  Yupnn
tbp uwhiwiwhwyyty thwyd pbnunpmpynibobph  fodptph phypwpydudp:)
Yuinnighlp G-h thpwhudptph dh onpw

G>G1>G12>...>Gra3.; > ...> Gia3.n—1 = Gi23.n = {e} :  (1.16)

Wuptin G123, -0, Juquiyuwd £t G-h wyl pninp ypbnunpnipynibbtphg, np
1-p pwbmd &b 1-h dby, 2-p° 2-h, 3-p° 3-h ..., -0 ¢-h dbe: Mwpq E, np
e € Grag.i Z0 W Gios. s < G, i€ {1,2,...,n}: Yhpupytbp (1.16)-h tpym

hwplwh winudbbph gmygp
G123...i-1 > G123...i
b hudwwyupuupuw@ puljypnp-puquingzmbp’
G123..i-1\G123...i *

Pnnp phnunpmpymbttpp Ghos.. ;—1-hg yuhuywimd b 1-hg i—1 qruppbpp
(wyuhtipt pwbmd tb 1-p 1-h dby, ..., ¢ — 1-p ¢ — 1-h dby): bpym z L
y nbnunpmpymb Gz, ;—1-hg Yuunpyubtt dhubnygt hwpuwihg nuuhl pup
Gi2s..i-h & (i) = y(i) (wuhbpl dhuyh tpp z-p U y-p ¢ puppp Puimyd
bl dhubnyl qpwpph dbe): bpnp, npytiugh z-p W y-p (hokb dhubnyl nuuhg
pup Gias..i-h wihpwdtiop £ b pujupup, np 271y € Gz, i: Uw Gpwbhwlnnd
o (@7y)(0) = i puyg (e7'9)() = 2 (y(@) = i U mpbun a(i) =
y(i): Yuptinhg kgpuijugmd kop, np Gi23...i—1\G123...; Pwlypnp-puquinipymin
Jupnn E mbbbw witbwpungpp n — (0 — 1) = n — i + 1 pupp (hwpwlyhg nuu),
wyuhbpl’ (Gi23..i—1 : Gi23.5) <n—i+ 1

Yunnighibp G-h quupptiph dh puquiniegmt htyplyuy Yhpw:
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Yhpupytitp G\G1-p: 8mpwpwbgymp hwpwyhg nuuhg, pwgh Gi-hg,
Juiuwywlwb auny plppkip dh dbpluywugnighs: G1-hg npytiu Ghpluywgnighs
pyppttp  dhunnp  quppp e-b: Lpwbwlklp  wyn  Ghpluywgmghsitipp
€,T1,%2,...,Tk-n: Mwpgq L, np &y + 1 < n: dpwubhg htapn ghypupytiop
G1\G12-p: bpyht jnpupubignp hwpwyhg nuuhg, pugh Giz-hg, Judwjwlwb
auny pluppkbp dh Gpyuywugmghs: Gi2-hg npytu Gipluywgnighs plpptiip
dhunnp yuppp’ e-0: Lywbwlkbp uyn Gbpluywgmghsitpp e, y1,y2, - - -, Yr, -nU:
MNung t, np k2+1 < n—1: Swpmbwltng wpngup witl vh Gias.i-1\G123...i-h
jnipupwbgnp hwpwyhg nuuhg plypptip Gtipluywgmghsitip’ Yhpgbbiny e-o
nputiu Gizs.;-h Ghpquywgmghs: Ykpemd Ynhypwpltitp Gios. n—2\G123..n—1-D,
npit wdbbwyunpp Yupnn £ mbbbw;  Gpym gupp dhwynpp b wygh
phnunpnipyniop, np wwhywdmd £ 1-hg n — 2 ypuwppbtpp, huj n — 1-p
pwbnud £ n-h dte, n-b &' n — 1-h dhe:

Nwuwnnphbp phyppywd dhipujugnighsiiphtl th winjnuwlh ke pinnbpnud
antiny  G123..i-1\G123..i-nh  GbpQuyugmghsiipht: Wn wnynuwyp ymbtbw
htiplyw phupn.

e ry X2 o Tl

e Y1 Y2 o Yk (1.17)

Unynmuwyh wowehtt qinnp wupmbwynd £ &y + 1 quupp b k; 4+ 1 < n, Gpypnpn
pnnp wupnwymd £ k2 +1 < n — 1 quupp b wyji: Qyugmgtbp, np (1.17)
wn nuuuynud pingpywd pbnunpnipynbttnh puqunipinip 6bhs puqunieynih
L G hwiph hwdwp:

QYhgmp ¢ € G: Yhpupytbp G\Gi-p: Mwpq b np a-0 qupuimy
npbt hwpwyhg nuuh pup Gi-h: %hgmp wyn nuuh Gbpuyugmghsp -0 L
Wn nhiypnud’ ;Ufla € G1, pwlh np wpnkb wwpqly Gop, np a-0 W x1-p
Gnyb hwpwlhg nuuhg b < z1(1) = a(l): Yhgmp wl_la—tl upunpyuinig
L G1\Gi2-h wj@ hwpwlhg nwuhl, nph OGbpyuyugnighsp yo-0 Lk Mipbdd,
yotarta € Gra: Wt nhynunytitp Gi2\Gizs-n: Mhgmp z3-n y; o7 'a ywppp
wwpnbwynn (1.17) wnynwlh Gppnpg yponnud gyidnn pup Gizs-h hwpualhg
nuuh bbhpluyugmghsh £ Mwipg k, np 23 1y5 1xf1a € (G1o3: Cupmbwlbny wyu
wpngbup Juypubwbp (1.17) wnynuwyh pwpptph (wdkd pnnhg dejulub) h
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la=cu

wppunpjuy ...z;lyglela € G123..n—1 = {e} muph ...zglygle
a = x1Y223 ...: Quhbplh, G huiph Juduwyulud phnunpnipynid atpluyugynud
b (1.17) wnymuwyh ypwpptiph wppunppuing b wyn puquinipymbp  dthg
pwqunipynih E:

L{unptibip, np Jtipp tqwd wppunpyuymy dwubwygmd k (1.17) wnymuwyh
jnipupwbgnp pnnhg Wjwiwd pwpp (npn2 pliwptipmd nw Jupnn £ hoty
dhujnpp’ e-0t), pln npnud uyqphg Ytipgynud £ wnwghtt yinnhg uty pupp, htipn
tpypnpnhg U wynutiu pwpmbwl: Ljunpkbp, np ¢ = x1Y223 ... Ghpjuyugnuip
dhwyh b, pwbdh np, tpb wn thpuyugiwd npul qupp thnpowphigh (1.17)
wnnuwyh Onyb wynnhg Wby wy pwppny, wyw nu pwbwinmd £, np
hwdwwupuupiut Gh23..5-1\G123..5-nud Jtipgymd E bl wy hwpuljhg nuu L
nwuph htwpwynp & uipwiiwg ¢ quuppp: Ophtiwy, nhypupytitp ¢ = z1y223 L
b = z1y220 puppbipp, wyw yg_l:z:l_la eGi2 y2_1:1:1_1b € G1o: Lwlih np 23 # 29,
wyw npubp pup Gizz-h pupptip hwpulhg nuutiph tipluyugmghgitip o L
23(3) # 22(3): Muph’ a(3) # b(3):

Wuyhuny uypugubp, np (1.17) wnynuwyng ppgnn puqdnipniip dbhg
puqunipynb £ G fudph hwdwp, pon npnud fudph upptiph tipujugnudp (1.17)
wn jniuwyh qrupptiph dthongny dhwijt £ bpb witd ppnnhg hwenpnwpwn ytpgywd
t Ghoyp dby qpwpp: Ynipht £ ypbubty, np G padph qpwpptiph pwbwyp hwjuwuwp
£ (1.17) wnynuwyh qwpptph Jipp Gpdwd wppuinpyuiitiph pubwlhb, npt hp
htipphtt hwjwuwp L wnjnuuwih pnnbipnud yuwpnibwyynn ptinunpnieynibbtiph
pwbwlibph wpypunpyuihb, wjuhbpb

(G:1)=(k1+1)(ka+1)...:

Uwhdwtmd. (1.17) wnjnuuwyny yppgwd dtihs puqunipniap Yngdmd b <mdbin>
otuhsuitiph puqunieynLh:

1.14. Uhduh wjgnphpdp

Yhgnip G < 5, U funudpp ppquwd £ dthsiitiph S puquimipyub dhongny: Uhduh
wignphpup wpubtwny S puqunipiniip jupmgmd kG pudph <nudtin> dthsttiph
puqunipynih:
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Wgnphpip Jupnigmy £ (1.17) wnynuwyp: dpu hwdwp ogupybime Gop 7 X

n vh wnmuwlyhg, nph Jubnulbtph dte gptm tbp ptnunpnipymbitp: Wn
wrn nuuwuyt mbh htaplyuw phupp.

1 213 ...]n
1| e
2 0| e
(1.18)
NN BN N
H EH B
28 BN BN BN B

Unynuuwyh ypnntipp b ymbbpp hwdwpuyuwo o 1,2,...,n pytpny:
uoymbwgduwyhtt  Juwinuybtpmd  gpqwd £ dhwuynp  yplinunpnugynibn:
Walyymbwgdhg btpplh qupiynn Juwbnwybbtpp sk ogupugnpdynid: Jwblnuly
wubjny  dhbp wjumhtpl  Ghwuluwbwbp wblyymbwgdhg yYtpl  qupiygnn
Juinwydtpp: Jdwinuyobpmy YJupnn G0 qbnunpdtp pinunpmpymabbp
dtl pbnunpnipnid by Juinuynud: Jwinuyitppn dwl jupnn G0 gupupy
thoti: Wgnphpdh plpugpnd npnp phnunpmpymbdbp gnymd G0 nugqunpy
Jubnwytiph dtg: Gpb i-pn wpnnh j-py Juinuymd (@ < j) qpdty bz
phinwnpnipgnip, wwyw yuppunhp wgp b gpinh mtbw 2(6) = 5 guydwip b
xz(k) =k pnmnp k= 1,...,i — 1: Quhbplb wn Juinuyp dwhwugpbuduwd b dhwgb
wjiyhuh plnunpnipymbbtph hwdwp, npnbp ¢ puppp pubnd Bo 7 qpupph
utg, huy 1-hg @ — 1 quppbipp Womy GO pinnud: Gwugnpt (1.18) wnjnuwyh
Juinuybbtpmd wignphpuh  wohuwgpuiph wprymbpnd upugdmyd &b (1.17)
wnjnuwyh quupptinp, wyuhtiphl jupnigynud £ «nidtins> dthsutinh pwqunieyniip:

Uhduh wignphpil wpluwpuiph pipwugpmd wwppbpupwp ugpupnud £
dh gnpdnnnipyml, npp Yngdmd ko cascade: Wy gnpdnnnipynilp Ghpunymd k
npuk phnunpmpu, bpp (1.18) wnynuwlyp dwuwdp pugywd b, wyjuhbph npnp
Juinuyitpmd wpntb Jupnn G0 pinunpgud (hotp pinunpnigynibbbp:

Ljwpugptbp  cascade  gnpdnnmpymbp: “Yhgmp  ypjuwd £ oa
phnunpnipyniip:  cascade(a)-ny  Dpwbwynd Go  gnpdnnmpjud  Ghpwenodp
a phnunpnipyub tuypdudp:

cascade(a)-b hwpymu tbp htplyuwy Yhpy.
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—

. Dpwbwymu Gbp b-ny phpwghy ptnunpmipimip b yepghmd tbp b = a;
2. hwpynmud top b(1)-p b nhypupynud Gbp (1.18) wnjnuwyh wowehli yinnp;
3. bipt (1) = 1 whghnud Lop 5. Ypht;

4. tphl b(1) =i # 1 upnigmu bbp wpwehll yinnh i-pry Juinuyp. bpb wb
nuypuny k, wuyu pinungpmd Gop wyn Juinuynd b pinunpmipymop b
cascade(a)-0 wjuppyud k. tpb wyn Juinuyp gpuntgwd kb wynpbn
gnyuid bz plinunpnipgniip, www hwpynud tip b = 2~ 1b, Ytpghmy top
wyn Unp pbpwghy phnunpmpnop b wtghmy Gop hwenpn Ytphi;

5. hwpymd top b(2)-p b nhypupynud bbp (1.18) wnjnwuwyh tpypnpn qnnp;
6. bpt b(2) = 2 wighnud Lop 8. Ytpht;

7. tpt b(2) = ¢ # 2 wpmgnmd LOp tpypnpny pnnh i-py Jubnuyp. bt wyb
nuyunl k, wyw pnunpmd Gop wyn Juinuimd b qbnunpnipniip L
cascade(a)-b wjupypuwd k. tpb wn Juinuyp qpunbtgqud kb wynpbn
gnyuid t y qptiqunpnipgniip, www hwpynud Gip b = y~ b, Ytipghmy top
wyn bnp pipwghy phnunpnipiniop b wbtghmyd Gbp hweonpn Ytphi;

8. ytipp tpywd tnuwbwyny supmbwymu thp wypngtiup Wmu qpnnbtph hwdiwn
hwonpnupwp:

Uprymbpnid, Jud (1.18) wrymuwymy jpugymd t dh Gnp quinuy, Jud b
wbgbing (1.18) wnymuwyh pnnp ypnntipn pmipu Gp quijhu wnymuwlhg
upuiwny a-h Ohpjuyugnil wnjnuuwlyh qpuppiph dheongny ¢ = x2y...
Jnipupwibgnip yinnhg Ukl phinunpmpymt gtipgud:

NYhgnip G < S, pumdpp qipqud b dbhshtiph S puquimpyub dhongny:
Lwih np G-0 Ybpowynp £ judwywub ¢ € G nibh Ytpowynp YJung, wyuhliph
gnynipymb mbh npuliui wdpnne phy m wybwhuh, np o = e (hhokbp, np
m-p huwiph Qupgh pwdwbwpup b): Mptdt ™l = e b a™ ! = o h:
G-h quiwyuwyub a pupp wpugymd £ S puqimpyub pupptiph wpgugpyuih
thongny' a = z{'25? ... 2%, &, € {1, -1}, 2; € S, 4 =1,2,..., k: Uuluyb hwpyh
wnibny ¢™ ! = ¢~! hwjwuwpnieymop” upugynud k, np udwyulub e pupph
hwdwp Ygpiyh wjbwhuh bbpluyugnd ¢ = 27252 ... 2%, np &; = 1, wyuhbph
a-b S puqinpjud (wpwig npu hwunupdbph ogyuugnpdtwi) ywppbph
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wpunpjub k:

1.15. Uhduh wignphpudh tupugpmpymip b {neGppnypjui

wyugnyygn

Wignphpuh dnupp £ hwinhuwdnd » quuppubh phnunpnipinibbtiphg juquijwd
S pwqunmpyniiip, npp dbhsttiph pwuqunipymb t his-np bh G < S, Ghpwhudph
hwdwp: Wgnphpdh whiwgpuiph wpyymbpnd jupmgynmd £ G udph <mdtins>
dbhsiiph dh pwqunipynil, nph qupptpp upugymyd o (1.18) wnniuwynud
(nph wpnntpp  hwdpbyond G hwdwywpuupwbwpup  <mdbns>  dthshtiph
pwqumpjub (1.17) wnymuwyh pnnbtph htg):

Wgnphpuh wphuwpuiiph uygpmd (1.18) wnjnuwlp nupupy b bpb
wignpppdh npuk puythg htypn  (1.18) wnymuwymd [pugymd &b pnnp
Jutnwybtipp, www wignphedp Ytipgwgnud £ hp wpiwpuipp b wyn nbwpnd
wuwpgq L, np G = S,: buuwtu, hbswtu wpnbl wpmgly Gop (G @ 1)-p
hwjuwuwp t (1.17) wnymuwyh pnntiph pupptiph pwiwltbph wppunpyuiht,
npp hwdp@yomy £ (1.18) wnymuwyh pinnbpnid gpgwd (hwpgh bb wnbynd twlb
Uhuinp puipptinp) plnwnpnipynttiph pubtutbph wpypunpyuiht: Gpb pninp
Juinuybtpp qpunyud b, wyu (G: 1) =n(n—1)...2 =nl

Wignpppth Juypupiul wowehlt thnymd jnipupwibgymp a-h hwdwp S
puwqunipynithg Jupupmy tbp cascade(a) gnpdnnnipjnibp:

Uignphpuh  Juipuipdwd tpypnpn thnynud (1.18)  wnjnuuwyh  puppbiph
jnipupwbgnip a, b qniygh hwdwp Juquymd Go o, b2, ab, ba wpypunpjuiibpp
U npuig hwdwp Juypupdmy b cascade gnpdnnmpynibipn: (Nwpy b by, np a,
b qnuyqbtph puquinipnin nhttwdhy £, wyuhtiph wiptnhwyp thnthnpudmd E, puyg,
pwbh np wyb Ytipguwnp k, wuyw wignphpuh tpypnpn tnyp udupygh Jtpgudnp
pwlwympyudp puyitiphg htipn): Gphpnpy thnyh wdwpypny wfwppynud &
wignphpuh wpuwypubpp:

ydd wyyugmgtiip, np Uhduh wphiwpuitiph wpnymbpmy juonigqud (1.18)
wnjnuwp hwinhuwtmy £ <nidtins> dthshtiph puqunipnib:

Yhgnip S = {t1,...,tn} Guiwywiub ¢ pupp G fudphg Gtpluyugynid
L S-h pupptiph wppunpyuny® @ = ¢, t;, - - ¢;,: Lwih np Uhduh wignphpih
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wpwohll thnymd S-h pnnp qpupptph woghy G cascade-ny, npubp pninpp
tbpyuyugynd o (1.18) wnymuwyh pwpptph wppunpubbpng, pbn npod
wdkl wpnnhg yYbpgwd L 6hpyp dhy wphnunpmpymb (nw Jupnn boowb
thtitp dhwynpp): Wnwhuh thpjuyugmy upubwn hwdwp puduyub b ypyht
cascade Yupupbp yjwy £;; hwdwp: Wunthtaple (1.18) wnymuwyh pwppbipp
Yopwlwykip g puntpny: Yogquppugnpdhbp huntpulip’ wpnpht hintipup gnyg
Gpuw pt qpyyuy g-b (1.18) wnymuwyh np pnnhg b Jtpgqwd, huy Jtphd
hointipup Jogyppuwgnpdtilp ninnuyh hbippuywinieniin totint hwdwnp: Wuyhuny
a = titi, ... t;, Ghpjuyugnuihg (oqutiny #;;-ph (1.18) wnjnuwyh pupptipny
tbpyuyugnuittiphg) Jupubwp htyplywp.
a=(gig3 - Gn1) (9195 - gn1) -~ (g1 '95~" . 9r"1) (915 - gh-1) :

t;

: to e b,
(1.19)
Wu  Gbpluyugmip  ptl wgwpmbwymd o dhwy@  (1.18)  wnjmuwyh
phnunpnipymbitp, vwuyt sh Jupnn hwdwpytp quytp tipuyugnmd, pwbh
np wukl pnnhg sh Yipgqud Ghoyp vkl plinwnpmpymb (hhwpyt, tpk b = 1,
wyw bhpjuyugnuip Juytp £) b wytih dbd hwdwph pnnh qruppp hwiimhynond
E wnftigh onup, pwl wytih thnpp hwdwphbp' ophlwy g;: g3
Ypupytp (1.19) dGhpjuyugdwd pupptpp 2updytiny wehg dwpu: Wnweht
ntwpp, tipp wpweht yinnh yuppp gpuwd £ wyj pnnh pwpphg htpn nu g%~} gf-o
t: Lwbh np gf~1gf-p (1.18) wnymuwyh pupptph qnygh wppunpyuy E, wwyw
wignphpudh tpypnpn thmh dwdwiwl wyu wppunpuip Gipwplb E cascade-h
L mpbdl wyb Gbpyuyugymd b (1.18) wnjmuwlh ypupptph wpgpunpuny
g igt = G1d2- - gn—1 (npp htppmpyud Gupnn kop wpwbwy Ypbht ghigf-o
tbpwnpytiny cascade-h): Wuyhuny, (1.19) dtpjuyugmup Juppugnpdh npubu
@= G103 Gn-19393 - Gn1-- 91 95 ghTa01d2  Gurh gy
Wdd gh~5d1 npiwgnid wpwghti pinnh ywippp gpuwd b wy panh pupphg
htupn: Wu npjugp vk ypbnny wydtth dnp £ (1.19) obpluyugdwd uyqphb:
®nfuwphibny gﬁ:%g’l—n tpw Otpyuyugning (1.18) wnjnuwyh qupptpnyg
swpniiwybiny wju wpngtiupw hwubttip wyt wwhhb, tpp weohg dwpu qubtiny
a-h Ghpjujugdwl wpwehl npyjwugp, npnid wpwehti innh ruippp wyp ponh
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qwnphg htpn £ gpywd nw g}~ g1 nbuph npywgn Yhoh: Wu npjwgn vty ptingny
wytih dnp b (1.19) Gbpuywgiwb uyqpht pwh Gwjunpy wynwhuh npdwgp:
Luwth np ¢f~ g1 wppunpyul b Ghpwplb) b cascade-h wignphpuh tplpnpn
thnnud, wwyw glfflgl—[l mbh Ghpyuyugmy (1.18) wnjynmuwyh puwpptipny, npny
b thnjuuphbtip g’f_lgl-[l a-h bhpuyugdwb dte: Gwpmbwlbind wpngbup
Jhwultibp a-h htplyw Ghpujugiwbp’

a = 91951952 - - - 9jq

nppbn dhwyt ¢1-0 £ (1.18) wnjmuwlh wowehll ypnnhg, huy dbhwgwdibtpp
tipypnpnhg uljuwd wpnntiphg G Jdbpgbting  gj, gj, - . - g5, wppunpup Jtpp
nhypupud tnuiwyny Jupypugptiop wybe g2g;, - - - g, pliupny, npyitn dhwyb
g2-0 £ (1.18) wnynuwyh tpypnpny pnnhg, huy dhwgudbtipp tppnpnhg ujuwd
ynntinphg th: Wu wpngtivh wpynibpnud wwpg L, np Juipubwbdp a-h dh
a = g192---gn—1 Gkipluyugnud, npptin ;-0 (1.18) wnynuwlh i-pn pnnhg k:
Wignphpuh Ynetlypnieynittb wuyugnigyud E:

Yynipht £ wytiubty, np Uhduh wignphpdh woweohlt thnyjmd  Jupuwnynn
cascade-btph pwiwyp hwuwuwp Et [S|-h, huy bpypnpn hmmd wyb sh
qtpuquignut ("",V7%) = O(n*) phyp:

1.16. Uhduh wignphpth npn) jhpupeniysymuttp

Uhduh wignphpip pny) £ yuihu htpgnigyudp (mdtg dh 2wpp Jupbinp juinhpbtp:
Unynple ptipwd G0 dh pwbh ophbwybtin:

1. Y%hgmp G punipp (G < S,,) qipqud £ S dths puqinipyming b hwpluinp k
hwyyty G hudph Jupgp: dpuw hwdwp Junnigmd Ghp Uphduh wignphpuh dhongny
G Tudph <nmidtin> duhshtiph puqinipyniip: Wyw hwpymd tbp (1.18) wnjmuwyh
pnnbpnid gpjud phnunpnipymbbtph pwbwlbtpp b wyn pwbwlotp hpwp
puqiuyupybing upuimyd top (G : 1)-p:

2. Y%hgmp G hnudpp (G < S,) ppqud b S dbhs puqimpymbnyg: vbnhp.
a € S, hwdwp upnigh] ¢ € G wuyiwipn: Wu pulinhpp mdymd £ htaplguy
Ytpy: Guwnnigmd Gbp Uhduh wignphpudh dhongny G hudph <nidtins> dthshitinh
puquinipgmin: Wdd juduwyulud ppjwd ¢ pbnunpmpjuit hwdwup ¢ € G
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wuwjdwip upnighin hwdwp Yhpwend Gbp cascade(a)-u (1.18) wnynmuwlyh (npp
upugyty t Uhduh wignphpuiny) tjuypiudp: Wpnymbpmd jud upubmyd bbp a-h
Ohpjujugmuit «<mdtn> dbhsttiph puqunyejub pupptpng b muph ¢ € G, Jud
L cascade(a)-h wpynmbpnid thnpd E Jupupdmy jpugty (1.18) wnjnuwyh nplk
nupunly yuinul, huy nu tywbwynd k, np a € G:

3. Yhgnip G-0 b H-p Sy, -h Gopwhudiptp G0 b qipud Gh hwdwgunpuupuwbwpup
SE u SH dupg puqunuyeymbitpny: Swplunp £ upmgty A < G wuydwbp: Huw
hwdwp puduyub E popnp ¢ € S7 upmgly ¢ € G wuydwbp: Jdtpeht fulinhpp
noywd £ bwhunpn Yapnud:

4 Yhgmp H < G < S, U G-0 m H-p yppjwd b hwdwuyyupuufuwbwpun
SE u SH dups puqunpmbibpny: Swplunp £ oupmgty H < G wpuydwbp:
Ypw hwdwp Jupymd Gbp htplywy Ytpwy: Uhduh wignphpudny junngnid
thp H-h U G-h <mdbn> duhsibph puquinpymbdtpp: 8nipupwbsmp A-h L
g-h hwiwp hwiwyupuupwbwpwp Yyoipgqud H-h b G-h <mdtin> dthshitiph
pwqunipjmbitphg wpmgmd Lip ghg™! € H wwjytwip: Jbpehl wwydwbh
upnignuip htipypmpyuip Jupupdmy t cascade(ghg™')-p hwpytiinyg: Gpb panp
ntiyptipnid wpuinud top, np ghg™! € H, wyuw H < G: Gph gnit vkl nhwypmd
ghg™! ¢ H, wyyu wybhwyppnptt H < G wuydwip plinh snibh: Qupugnighlp, np
tiph pninp A-ph U g-ph hwdwp hwdwyupuupwbwpwp yapgqwd H-p L G-h
<mdtn> duhsitiph pwqunipynibiitphg phnh mbh ghg™! € H wwytwip, wuw
H < G: dwupnptl hwpljunp © upmigty, np Vo € G, Vy € H, zyz~! € H:
Yhgnp £ = g1 gn—1 Wy = hy - hyp_1 <mdbn> dUhsitph pwqunipgnibitph
pwppbpny bbipjuyugnuitbpt Gh: Mbkbp

xyg;fl =4g1.-. gn—1h1 cee hn—lg;_ll cee gl_l

zye ™ = g1 gn-2 (Gn-1hgp 1) -+ (Gno1hn10,"1) 6500 - 07

€H €H

1.

Mwpg L onp o (ga-1higy ) (gn-1h2g,"y) - (gn-1hn-19,"))  wppunpuup
ygupuimd £ H-ht U Jwpnn L thnppowphitp <mdbns>  dbhsbitiph
ubpujwgiudp  (ophtwy  cascade-n),  (gn-1h19;,21)(gn-1h2g, 1)

(Qn—lhn—lg;_ll):fllfLQ o hna: Nuph zyz =g .. ~gn—2fl1flz e fln—lg;_lg .



41 ULEN

9, b ukq hwoennytg ybtpwglly ¢gn_i-p zyz~'-h Ohpluyugnuihg: Luwb
tnubwyny  Ytpugltiop hwenpnupwp g, —2-p, htapn g, —3-p W wyjh dhigh
Yubwh dhuwyh H-h pupptipp: Nwugph 2yz~! € H:

5. Swypbh E, np uhdtpphy fudph dthsttiph puqunipinit t hwinhuwbnd pngnn
ppwbuynghghwbtbph puqinipmip: 2w wyugmgynmd £ yplnunpnipniddbpp
hunpniyy Jupgny quuudnpdwd wygnphpuny ogypugnpdtny dwpbiunphljuljub
hunnjghw: Uumuyt wyn thwugp wbdhowytiu nuotnd £ whwyp <nmdbn>
0lhshtiph qunuthuph oqlinipjwdp:

Yhypwpytibp Uhduh wignphpdh wnnuuyp b jpugbtiop wyt htapbywy jepy.
é-pn qnnh j-Juinwymd phnunpmd Gop (7, 7) ppwbuynghghwt (hhotiop, np
i < 7): Wnymuwyh pnnp Jubtnuybtipp (@ hwy) Ghoyp auny [pugyud b,

nuuph upugywdp S, uhdtipphy judph <nudtins> dbhstitiph puquinyeynih k:

Utilp  upugwip  wybiht,  pwb  ghpbhbp:  Gpb  nhypuplybip
dhwylh  pbnunpnipymbbtph wjbwyhuh  wppunpubtp, npnbgmd 1-p
wyupniiwynn phnunpnipnibhg dwpp phnunpnipymb dqu, 2-p wupnibwyng
mbnunnmpynbhg dwp Jupnn £ (hot dhuyt 1-p wupnibwynn qpbnunpniegnid,
3-p wwpnibwynn yphnunpnipimbhg dwpe Juptn 6o (hot dhwyt 1-p WHwd
2-p wupmbwynn ptnunpmpmbbbp b wyl, wygw wnuhuph Gbpjuyugnidp
npnpynud £ dhwupdtpnpbib:

6. Lowhwthnfu A, pninp qnuyq phnunpnipynibittinhg punlugud fudph ntiypnd,
tpp 7 > 3, hwybh L, np pnpnp 3 Gpupnipyub ghltipp Juqunud bo dthsbtiph
puqunipgnil: Wyu thwupp tnybytiu hbpypnipjudp htippmd £ npnpwijh <niudtinss>
o0lhshtiph puqunpyjub gnynpnbhg: Lpugbtip Uhduh wignphpuh wnjnuwlyp
htuplywy Yhpw. 4-pn ponh j-Juinuynd pnunpmad top (4, 7, k) ghyp, npyptin
k & {i,7} (hhotiip, np @ < 7): Uw hbwpuwynp E Juywpb) pnpnp é-tiph hwdwp,
pwgh ¢ = n — 1 nhwyphg: Wuhlph ¢ = n — 1-pn yinnh dhwy Juinwyp pnninud
tlp nupupl: Wythwyy t, np 3 Gpupnipyub ghlytipp qnyq plinunpnieymbdtp
Ll b wpuguodnp A,-h Ghpwiph <mdtin> duhsibtph pwqunipymb L Swoytilip
wyn tpwhudph Yupgp pwquuwuplbng pontpnud [pugyuwd  Juinwlitph
pwbwybtipn: Uypwbnd top %‘ Miptdh Ghpwhinuipp hwdpbyomd £ A,-h htp
U upugywdp A,-h <mdtin> d0hsiiph pwquinieyna k:
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1.17. Uquyp hodptip, npnohs wintisnipyniatip

Lndtbip htiplywy pubinhpp: ®npatitp twpwqgpt pninp 8-pn Juingh ng wpbpyub
fudptipp:

Yhgmp (G : 1) =8 L e # a € G: Lugpwubdh phtnptithg wwpq £, np a-h
Jupgp Jupnn £ dhuyl 8-h puwdwbwpup hbb;: %hgmp G-mid gnynipynih nibh
a, nph Yupgp 8 £, wyw (a) = G (hhotibp, np (a)-0 nu a-ny dbdwd ghyihy
funuipt £) W G-0 ghlyhy b, mptdh wpbjjub: Gl G-h pnnp quupptiph Jupgp
2 L wyu Ya € G, a®> = e: dipohll wuydwihg htapumd t, np, G-0, wpbjjub
L bujuutu, a? = ¢ < a = ¢~ U uiwjwlwib E a-h b b-h hwdwp, Ghoyp £
ab= (ab)~! =b"la"! = ba:

Nuuph G-h popnp qruuppbiph Gupgp ud 2 £ jud 4 b gnynipgnih mbh a € G,
nph Qupgp 4 £ a* = e: Mikbp (a) = {e,a,a? a3} b ppnhtiny G-b hupwlhg
nwutiph puyp (a)-h Yupubwip G = (a) U b(a), nppptin b € G\ {(a): Mupq t, np
b% € (a), pwlh np tpl b2 € bla), wuyu b? = ba* U b = a* € (a), hugn upuwy E:
Yyniphln £ uypmgtiy, np b2 ¢ {a,a®}: Yhgmp b? = a Gud b? = a3: Mupq k, np b-h
Jupgp 2 ¢k Wi Gwl 4 &, pwih np b* = @ qud b* = (a®)? = a*a® = a?: bph
b-h Jupgp 8 t wyn niypnud (b) = G U unuipl wpbjwb L

Muuph b2 € {e,a?} b b? = e Ju b? = a*:

Wdd nhypwpytbp bab™! qpuppp: Gpt bab~! € bla), wyu bab™' = ba”
b ab~!' = @¥, nphg b wpuwimyd tbp, np b = a'~* € (a): Quph bab~! € (a):
Munq E, np bab~! # e, pulih np hwljwnwly nhwpnid @ = e: Gpl bab™! = a, wuyu
ba = ab: Yw Dpwiwymd L np G- wpbijwb £, pwlh np G-h jnipupwisjnip quupn
btpyuyugynud £ 6"a™ yphupny, npptin n =0, 1 bW m =0, 1, 2, 3 (nw htipumy
L G = (a) U b{a) hwpulhg nuutiph ppnhnushg) b (6%a™)(bPa?) = b Pa™ 14 =
(bPa?)(b"a™): Bph bab~! = a2, wuyu ba’b~! = bab~lbab™! = (bab!)? = a* =

el a? = e: Muph domy t bgpuiljughty, np bab~! = a:

Wyuyhuny uypugubip, np @ b b quupptipp uyywd b jud

V=e (1.20)

ba = a3b
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Jud b
at=e
b? = a2 (1.21)
ba = a®b
wnbgnipntbbbpny:

Jbpp Gpdwd  (1.20) W (1.21) wwydwbbbph pwjwpwpnn 8 yqwpp
wuwnnibwlnn fudptin hujuytiv gnynienib nubbi:
Yhyppupytibp, opptiwmy, htiplywy tpyne 4 ypuppubh ptnunpnieniabbpp.

L2354 (1234) U L2304 (24) hipl -0 4
= = , wyuhbph a-
2 3 41 14 3 2

tplwpnipywl ghly &, huly b-0 ppwiuwnghghw E: Ymphb E upmgly, np o* =

1 2 3 4
( L9 3 4 = e = b% Lul ba = (12)(34) = a3b: Todph pninp 8 puppliph

tle, a,a? = (13)(24), a® = (1432), b, ab = (14)(23), a?b = (13), a®b = (12)(34):

(1.21) wwydwbbbph nbwyph hwdwp nhpupybbp htgplywp  2-gwthwbh
;0 0 1

Uniyipu dwipphgbpp. A = ( ; . ) bL B = ( Lo ) , -0 4tnd

_’L J—

dhwynpl £ Ymipht £ upmgty, np A* = E (E-u dhuynp dwpphgt k), B? =

i
0 >: fudph pninp 8 puppbp G0 A% = —F,

A3 = —A, B, AB = iE, A’B = —B, A’B = —iE: Wu punuipp puupupnid
L (1.21) wwypdwbbbpht b wpbpwb ¢, pwh np AB = iE # BA = —iE: Uu
hwyipth, wyuybiu Ynggud, <pyupbpnbhntiphs> punwdph t:

Wydd $hpubilip a b b pruntipp b nhypupytdp {a, b}* puqumpnibnp, nppa W b
yunbkphg Juqigwd pninp Jtpowynp pwntph puquinipymbb b (wn puqunpjui
dtio £ Uiplnud dwle nupuiny pwnp, npp uuupp sh wywpnibwynd b nibh gpnyujub

—1

0
A2:—E,BA:A3B:<

tpyupnipymb): {a,b}*-h Ypuw vwhiwiblp pugqiuyugpyiud gnpdnnnipymbp
htuplywy Ybpw. tpb « U S € {a, b}, wuyu a-h b f-h wpypunpuip nuw oS punt
L, npp wipugynud £ o U 8 puntiph Ygugpnudny: Mwuipg b, np wyu gnpdnnnipymah
wunghwphy £ (af)y = a(By) = afy: Qupupl pupp Yopwiwytip A-ny:
Wybhwyy k&, np oA = Aa = o Judwywljub o punh hwdwp b quypupy pupp
fuwnnud £ fudph dhwinp yrwpph ntipp:

QYhgmp a U b quntpp puwjuwpwpmyd Go (1.20) wwydwbbbphd, wjuhbpl
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aaaa = a* = A, bb = b> = A, ba = aaab = a3b: Yw Dpwhwlmd £ np
Judwjwub punnd a4—n Jupntih £ infuwphii puypupy pueny b hwljunwyp
nupupyh phnp (wyuhiph punh Judwjwlwb phinnd) gptip ¢t Gud 8% Lul
Juiwyulud pupnd ba hunpudp Juptih £ thnjuwphity ¢?b-nd b hwljunwlyp:
Lwih np aa® = a%a = A W bb = A, wyw @ U b pwnbipp, b niptd@ pnpnp puntpp
{a,b}*-hg, nbbtl hwjunupd pup puqiuyupliud a-h hwunupap a’-u L,
huy b-h hwlwnwpap htbg b-0 b Wuwhuny {a,b}* puqimpmip Juqimd L
funudp puyp pwntiph Ygugpiwh gnpdnnnipyub tph a b b puntpp pujwpupmd
b (1.20) wwydwbbbphb:

Wdd nhypwupykdp {a,b}* fudph udwjuliub pwp: Mwpg k, np Jhpuetng
ba = a3b wuydwbp (wyuhbpl Juiwyulub ba hupywdp thnjuwphbting a3b-ny)
Jupnn tbp wyn ppud punp dbwihniuty wybwybu, np wyb mbbhw o™b™ nphupp:
at=Aub’=A wuwyiwbbtiphg uypubmy bbp, np adph judwjuub pun Jupnn
L Ubpyuyugyty a™b™ wytupny, nppptin 7 = 0, 1, 2, 3 U m = 0, 1: Wuwhuny
upuimyd tbp 8 yupptp pun’ {A, a, aa, aaa, b, ab, aab, aaab} = (a) U (a)b:

Ldwl tnubwyng Yupnn Ghp Juomgty dtl wy) junwdp, npp pudupupnid
L (1.21) wwydwbbbphl: Annp pwebpp Yobpuyugytb o™ phupny, npgbn
n=0,1,2,3um=0,1, 2, 3 pwdhnpb* = A: Uuluyd b = a? b ¢"b™ punmu
b2-hli thnpuwphbtiny a?-ny" Juypwbwip ¢”b™ yphuph pun, npnud 7 = 0, 1, 2, 3
u m =0, 1: uph Ypyhtt pniph Gupgp 8 £ b

{A,a,aa,aaa,b,ab, aab, aaab} = (a) U (a)b :

fudph GQwpugpiwd puntiph & npnghs wpbsmpymbdtph ((1.20) L (1.21)
wuwjdwbdbtph) dhongny wju ytpohtt tnubwlyp Yhpwobih £ Gwl phnhwinp
ntiypnid juiwjwlub hadiph hwdwp: @wupnptit nu fudph ppdwb h Gnuwbwy L,
nnb h ypuppbpnipymb <mdbns> 6thsttinh pugqunipjul wgnphpuwlub tnubwyh
Jupbih £ hwdwpby jpdph <wbwihnphys> tqupugpiwd tnubwy:

Nhgnip S-U npul puqumpynb £, nph qpwpptpp phypupymd Gbp npytu
dnpiwy wpuntip (bhptp): Wikh dh ¢ queh hwdwp vwhdwbnd Ghp dh Gnp
ihy' ¢!, npp Quijwitip a-h hwunupa: Lywbhwykbp S*-ny pninp Ytpeunnp
tpupnipywl pwetipp, npnip juquywd G S-h pwpptiphg Yud £ S-h yrupptiph

€1 .82

hwlunupabtiphg, wjuhbpt pnnp 27", a:i’“ ytiuph pwntipp, npptin £ > 0
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bz, €8,¢e €{l,—-1},i = 1,2,..., k: Qnnyuub tplupmpjud punp k& = 0
Ungynid E nuipuipy pwn b tpwbwymd £ A-ny: Gpym pun S*-hg hwdwpymy to
hwdwpdtip b ¢kl pupptipdmd hpwphg, et dtyp dnuphg Jupbh £ upubuyg
aa”™! qui ¢ 'a yphuph (¢ € S) thpwpwntpp A-n thnpuwphbtng Gud b
hwljupwlp’ dh punh hwpliwd puetph dholt aa™! Jud o~ a phuph Lhpwpwntp
wytjugitny: a b 8 pwntph hwdwpdtpmpyub rwupp Yuytpugbtiop” gptipny
a ~ G W tpy wuwd, juduwyulud ¢ € S hwdwp ptinh mObh htaplguyg
wnlsmpynibbbtipp’

aa ' =a"la=A: (1.22)

S* puwqimpymbp ppnhymd E shunpynn nuubph’ dhuGngd quup  pwnbpp
hwdwpdtip th, hull pwpptip nuutiphiip hwdwpdtip skt: bpnp, wdkt dh pwn
yuipubmy E hos np dh quuh: Gph o =~ 5, wyu 8 = a: Gph o, 8,7 € 5%,
uyuw o = G, f v = a v Jdd, btph tpym nuu mbth pbnhwbnp pun,
wyw wyn tpynt nuubtiph juduwywluwb puntp hpup hwdwpdtip Gb: ¢ € S* punh
hwdwpdtipmpjub nuup Yopwbwybip [o]-ny:

Lowbwltbp  F(S)-ny S* puqinmpjud hwdwpdbpnipjul  nuubtph
puqinipymbp: F(S)-h Jpw uvwhdiwbbip puqiuuyunpyuiub  gnpdnnnipynil’
(][] = [af]: Wybhwyp E, np wyuyhuh vwhdwindp Ynoblpg b Gpb o € [of
u B € [B], wmyw [a151] = [af]: {ymphl upnigynmd £, np F(S)-p punudp E:
Uhwynp puuppp A-O E, huy (27257 ... 27F]-h hwyunwpap [z, ..
L:

—e9 _—€1
Lxgy 2xy M-l

Uwhdwimd. F(S) unudpp Yngynid £ wquup funudp S’ puqunipyud dungpdudp:

Quuypnpil wqunp  funwdpp S puqimpyudp  dUJwd  wyh  unuiph
nph quwpptiph dholt sjw ng dh webgmpymb pugh (1.22) wpbuph qphyhuyg
wnbgnipymbitphg: Wi hdwupny F(S)-b <wquges L

Yhgnip ppwd Gh S duhsitiph puqunipymbp b S-h qwpptiph dhelt npnohg
wnbsnpynibbtiph Uh puqunpynd: Gudwjuuwd websnmpimb jupbh L gply
wybuybu, np wyb mbtkbw o = e yphupp: Annp wyn wpbsnipymbitphg vpubwip
wnbgnipymbbtp F(S) wqup fudpnid Jtpgbting [o] = [A] wnbgnipymbbbpp:
Wn wnhsnipynibiitinh puqunieynibp Yuopwbwytibp 7-ny: Uquup fudph tipynt puu
(pupp) Ghwdwpbip hwjwuwp, bpb dh nuuh npuk pue upugynd £ dne nuuh
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nput pwnhg 7' puqumpyuil wnismpmnmbibph hweonpnupwnp Yhpundudp: Wy
Ubpy wuwd S*-h tpyni pwe hwdwpdtp b (Whubnyd nuuhg Gb), tpb dbyp
Wniuhg upugymy t (1.22) ptiuph pphyhuy b 77 puqinipjud wnbsmpynbbtph
Jtpownp wiqud hwonpnuwpwn Jhpundwidp:

Lowbwlhtilp R-ny 7 puwqinpjul wnbsmpymbbbph dwju dwubiphg
punugwd pwqimpjniip: Mwpq £, np R € F(S): Wythwyyp k, np pwugh
T puqumpui wnbsmpnibtiphg wqup ppdpmd ptnh mbbh Gwb htpbguy
wnbgmpymbbtpp’ [5][a][57'] = [A], npptn [8] € F(S) U [o] € R: Wlkjughbyny
R-pt pnpnp [B][a][67'] whuph ypwpplipp Yupubwip R-p - wwpmbwyng
wibbwthnpp Gnpdwy Ghpwumdpp F(S) wquy fudpnd, npp Yopwbwltbp
N(R)-n{: Yhypupytiip F(S)/N(R) dwypnp-fundpp: Gpyne pupp o b [B]
Juupuikd dhubnyd hwpuwyhg nquuht pup N(R)-h dhuy@ b dhuyb, tpb
[~ "e] = [7'a] € N(R), huy nu Gpwlwymd, t, np [o] = [B9] = [BH],
[y] € N(R): tuptdte [8]-0 wpugynud & [a]-hg N(R)-h [y] = [A] wnbsmpjub
Yhpwndwdp: Yhgnip wydd o = agyas b [y] € N(R): Lwbh np N(R)-p Gnpiwyg
L F(S)-nu, wyw gnynipymb mbh [y1] € N(R), np

[vao] = [V][azg] = [a2][n] = [aam] :
Nuuyph
[a] = [a1yas] = [aa][yaz] = [aa][azm] = [az][n] = [a1as]

U [(anae)™1[a] € N(R): Upugwip, np [a]-b b [agas]-p dhulinyl hwpulhg
nuuhg G pup N(R)-h b [y] = [A], [y] € N(R), wnbgmpymbltph jhpunnuip
pnjwd hwpwlhg nuuh quppht gnipu sh pipmd wprynipll wyn nuuhg:

Wuwhuny wwwgniglightip, np [@]-hg [8]-0 Yuptih L upuiuwg 7' puqunipyul
wnbgnipynibltiph hwenpnwpwn Yhpundwdp dhwyt b dhuyb wyb nbypnd, bpp
[a]-0 m []-0 dhubnyl hwpwlyhg nuuhg b puyp N(R)-h: Mwugph S dbhshtiph
puqunipjudp b ppyud wnbsnpynibitinpng npnpynud £ vh junudp, npt hgninpd
L F(S)/N(R) $wypnp-fuipht: Wu nhypmd wumd &b, np funudpp qipjud
L dUhsbhipny U npnphs wnbsnipynibbtpny: Jdbpp 0qupugpdud 8 Jupgh ng
wpbpwh fudptipp ppjud G S = {a, b} duhshtipng L (1.20) Yuu (1.21) npnphg
wnbgnipntbbbpny:
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1.18. dtpownnp sujwd wpkipjut hodptip

NYhgnip G-0 wphpwb funwdp £, npht mbh d0hstbph Ytpowynp puiqunipynih:
Wnuhuh hodpbpp quibubtip JGpowynp Stwd wpbtpjwmb pdpbp: dpubg
wupqugnyb ophtmybtpt &b ghlhy pudptipp, npnbp dOYymud &b dkl dUhsny:
Mupqynud £, np Judwyuwluwbd ytpowynp d0Jwd wpbjjud punudp Juptih k
Utipyuyuwgty  ghythy fudptiph mnhn wppunpyuih qiupnyg b npubnyg - huy
thwupnpbl Gupugnpty pnpnp Yytpownp dtjwd wptipjub hadpbpp:

Wyu dwund joqupytilp wptijjub judptiph wnhyphy dipjuywugnuihg, wyuhbph
huiph gnponnnipiniip Yopwiwlybip gnudupdwd 4 Gowbny: Annp fudpbipp wyu
Jwumd wpbpjwd bt Gy X ... X G, wpbhpwh fudptph ninhn wppunpyup
Yohowiwykip G1 @ ... & G, brwing (wyu wppunpyuip tngbwtu wijwind b
nminhn gnudwp):

Wb thwupp, np G funudpp ipowdnp dtjwd k, Gpwbwymd k, np Yqpiytb
ytipowynp pwiwnipyudp pwpptip G-hg' g1, . - -, gn, NN

G:{)\lgl—i—...—f—/\ngn\/\iEZ,izl,...,n} :
Luwju L wnwe Ynuumdbwuhptiip

2"=7®..Z={(M1,.-..,\)|N€Z,i=1,...,n}
N—_————

n hwup
hunudpn:

Leid 1.5. Z" judph huwdwywlwh Ghpwpunidp epowynp obywd b U milth
ohpstiiph pwqunipynili, nph hgnpnigynipn < n:

Uwyugnyg.  Wwuwgnygp Yyupuptip hinmbghwny puyp n-h: Whthwypy €,
np n = 1 phypmd Z-h Judwyuyui Ghpwhnuipp uqiqud L npnpwlh
wdpnng pyh pninp wuwphYbtiphg, mugph Jtpowdnp dtwd b odkly dbhgny:
Nhgnip (kddh winnuip Shoyp b Z71 hwdwp: Woqugnigkp wy@ Z™ hudwp:
Yhgmp H < Z"™ Uwhdwbbbp pwqinpyniip htgplyu; Yopy F =
{32, M) (i, A2, ..oy Ap) € H}: Wythwyy &, np F' < Z: Gph F = {0},
wuww htinwgbtyny H-h pninp yaynpitiph wnwehtl ynnpnhtwpbtpp” Juypubwbp
bhpwnuip Z" '-md b hwdwdwyt hannipyphy ipunpnipjud wyn Ghpwhdph
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hudwp Ygpiygh dbhsitph pwqunipynil, npp hgnpmipymbp sh gipmqubgnid
n — 1-n: Wn dthsitiph pwquinipyub pninp yaypnpbtiphtt juybtjugbbip wnwohl
gnnyuu Ynnpnhtugp U juypubwbp dthsttiph puqunipymb A -h hwdwp:

YYhpupytp F# {0} niwpp: Lpwbwltbp p1-n Ghpwhidph thnppugnyt
npuwiuh quwppp:  Shpukp H  thpwpdpmd  npulk  pwpp, nph wnwehl
Ynnpnhtwpp pg © (g1, p2, -+ fn): LUBh np F < Z, waqu F-p p1-ho wuphy
pninp wdpnne pUtph puqunyeynidb k:

Yhgnip (A1,...,Ay) € H: Mwupq L, np A\ € F b A\; = g3 dhwupdbpnpbb
npnpywd wdpnng e-h hwdwn: ymphb L yplubby, np

(A A2y ooy An) = e(pa, pay ooy i) + (0, A2 — gy ooy Ay — Eltp) (1.23)

U jmipwpuwbgmp (A1, A2, ..., Ay) € H hwdwyuypuuuwbnmd b npnpulh (A —
€MD,y - oy Ap—Efyn) € Z™ L Lpwbwljlilip pnpnp wynwhuh (A2 — &2, . . ., Ap —Etn)
Jtlpnphtiph puqunipyman H -ny b wyugmgtbp, np H <771 bpnp, nhgnip
(a1, an) b (B1,...,Bn) € H: Sudwawyh (1.23)-h uypubnd top’

(04170427"'>05n) = €a(M1aM2>---,#n) + (0,0(2 —Eal2,...,0n _Ealun) L
(B1,B25 -+ Bn) = €gp1, 2, -5 pin) + (0, B2 — €gpin, - - -, B — €pin) :

Mung E np (0, a2 — eqpin, ..., 0n — Eapln) € H W (0,8 — €L, -, Pn —
€glin) € H: Uybhwpp £ Gwl, np (1 — Brya0 — Boy..yan — Bn) =
(a1, a2,...,an) — (B1,B2,...,0n) € H: Mbkbp, np a1 — f1 = (0 — €8)1
W (a1 — fr,a2 — Po, ..., 0n — Bn) = (€a —€8) (111, 2, - - -, pon) + (0, (a2 — B2) —
(0 — €8)H2s -+ (i — Bu) — (0 — p)tn) € H:

Nwuph (oo — €qfi2, - ., nEaftn) — (B2 — €2, .., Bn — €aitn) = ((a2 —
Ba) — (€0 — €8) 12, - - -, (Ctn — Bn) — (60 — €8)pin) € H W H < Z" 1

Swiwdwjt honmyyphy Ghpunpmpui’ H -n ytpowynp dtwd £ b mbhp
olhshiph puqumpynl, np punugwd L ng wytih, pwb n — 1 hunp duhshitinhg:
H -h dUhshtiph wyn puqinpjub Yeljpnpitpht wybpugbtiop dky tnp qponjujub
wnwohli Ynnpphbunp:  Wuhbiph (1,92, ..., m_1) € H dbhshg upugynui
£ (0,71,72,---,m-1) € H Jtpnpp: Wu qpnjulul  Ynnprhbwpibpny]
nonuyiiuwd dthstitiph puwqunipniip jutjubttp H -h phyuwytwd 6bhstiph
puqimpml: Wdd wybhwyp E np (1.23)-h (0, A2 — epo, ..., Ay — i)
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Jtlpnpp Yupwgyh H-h phnpubgwd dUhsbtph thengny, muph YJudwjului
(M A2y, M) € H Gupugdh (pa, fi2, -+, ) & H-h plnquyjud dthgbtiph
dhongny, npnlp Juquitt H-h hwdwp dthsttiph ytpowynp puqunmpnih: LEddh
wuyugnigyud Lk

NYhgnip H < Z™ W H-h dbhsbtiph G0 Ay = (M1, -5 A1n)s -, Ay =
(Amis -« s Admn): Ququtilp htiplyw) Ywypphgp

A1 A2 0 A

A A o Do
|

)\ml )\m2 T )\mn

Wu dunpphgh pnntpp uqind G H-h dthsbtiph puqunipynid: Swdwdw)b
Ltdd 1.5-h" Jupnn thp hwdwpby, np m < n: Ypupytp A dwypphgh ypnntiph
Ojuypiwdp htiplywy gnponnnipnbibpp

1. tpynt pnntiph ptinwihnfunipnid;
2. ynnh pwgqiuwyupynud —1-ny;
3. ukly ypinnh gniiwpnudp dymuhb:

Wu gnponnnipynibitiph wpnymbpmd uipugymd G0 H-h dbhsitiph  Gnp
puqunipjnibbbp: Wowehli tipynt gnpdnnnipynbbinph nypmd nu wdhwyp E:

“Yhgnip
A1+ A1 A2+ Ao oo A+ Agy
R A A e Aon,
A 21 22 2
)\ml )\m2 e )\mn

Bt H-h nput qpupp Ghpluyugynid © ey Ay + e9Ao + ... 4+ €, Ay, (nliupny,
wyyw A hudwljwpgny wyh Yobpyuyugh 1A+ (62 —e1) Ao +e3hs3+. . .+,
nhupny:

NYynipht £ ptiubty, np Get Z™-h pninp quupptipnid shwdwdwbwl pptintipny
thnfutilip ¢-pn W j-pn Ynnpphupbbpp, wyw juipubwp Z"-h wdypndnpdhqd,
nph niypnud H-p Jubgth hptit hgndnpd dbl wy) fudph dbe: Z™-h wdypninpdhqu
E upugymd twl, tpt dhwdwdwbwy Z"-h pninp qpuppipnid puqiwuyungpjtip
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t-pn Unnpphbunpbtipn —1-my: UGY wyp wypninpdbhqd juypubwbp, tph
Z"-h pninp qupptipnd Jhwdwdwbwl ¢-pn Ynnpphbwpbtipp gnudwpkbip j-pn
Ynnpnhbwnbtipht: Anpnp niyptipmd H-p qubgth hptit hgninpd dby wyy fudph
dtio: Miptidl, bpb dunpphgh ymbtpht jhpunbip htiplyw gnpdnnmyeymbbtpn,

4. pynt ynibbph pnuthnpumpm,
5. ywl puquuyupymu —1-my,

6. Ukl vyywb gnudwpnuip dynwuhi,

wyw dbwthnugwd A dunpphgh ynntipp Yiuquikb dthsbtiph hwiwlwpg H-hb
hgninpd haiph hudwn:

Munq k, np ph ypnntph b ph ymbbph nhypnd Wby ponp/uymipn —1-ny
puquuyupytinyg b htipn yynu qpnnh/uyywtin gnudwpting hpuubwgynid £ by
nnnhg/uyynithg Ukl wy yinn/uynih hwtiiint gnponnnmEnibn:

Jbtpp tpJwd pnntiph 1.-3. b ymbtiph 4.-6. gnponnnipynibbbpp jutgwudkip
pnntiph b ynbtph dupdwdp puppuljui gnpénnnipyniaabp:

Wuwhuny, A duwpphght yhpweting pnntiph Whwd wndiph puppuui
gnpdnnnipynibbtpp upubwip H fudpht hgninpd fudph dthsbitiph puquinipynib:
Stinh mbh htaplyw) Juplunp thwugn:

@Etnpid 1.6 (Uwypphgh Udhph Gnpdwy wpbuph dwuhb). GQwduywlwi
nxXn-gupuulh dwapphg, nph pwppbpl widpnne pybp ki pnnbpp U
wnihiph pwppwplpui gnponnmipyniiilipny hwplyh F phpk;

ng - 0 0 - 0
s

0 0 0

0 0 0 0

whlynibwqouwyhle ipbuph, npplin n; > 0, ¢ = 1,2,...,r, phn npud n;11-p
puwdwbhymd Fwnwig dhwgnpnh n;-p ypw, © = 1,2,...,r — 1:
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Wwwugnyyg. “hgnip pppjuwd £ A dwpphgp: Qpnjujut A dunpphgh hwdwp 7 = 0
b ptinptidh winndt wythwyypnptb howp b, wyn yupdwnny Ynpypupybop A # 0
nbwpn:

Wdd Yujupugptbp dh wignpppd, npp ptipmd £ ppguwd dupphgp Udhph
onpdwy wptuph: Uugpphgh wnwehtt qpnqmud U wnwohlt uymimd  quypliynn
puppp Jubjwbtip hkbpuwht qpupp b Jopwbwytiop wjt a-ny: Uyqphg qpibkip
duypphgh Gjuqugnyl npujud puguwpdwl wpdtipny qpuppp b pnntph
wnibtiph ptinuihnpunyeynibitinny b, tph wihpwdtog t, —1-ny pugqiwuyupytng
wnwehll uynibp, nupattitp wyn pupph pugurdwl wpdtpp htbpwyht: Jtpgubip
wydud npuk ng hkipuyhtt ng gqpnyujub ypupp wnweh ninnhg/unithg: “+hgnip nu
-0 t: Mg Lk, np || > a: Pudwitip A-0 htbpuyhl pwpph ypw' 8 = oy + 6:
Wyuw |y| whqud gnudwptiip (hwikiip) woweht pinnp/uyniin S-0 wpniiwynn
pnnht (pnnhg)/ujwbp (wmbhg): Wpnymbpmd S-h pbnmd upubwbp 6-b:
Bpt 6 > 0, wyuw § < a U ypnntph m ymbbph phnuthnunieymbbtpnyg
nunabtbp 6-0 htbpwjht pupp: Logwd tnuiwyny Jupytbp dwgpphgh pninp
ng htiipuyht pwupptiph htap, npnbp gupiymyd G0 wpwehlh pinnnud/uymbimd: Lwbh
np htlpuyhlt ypuppbph pugwpdwly wpdtipbtipp fjuhuyp Jugmd Gh, wyw wju
wpngbup Juwpyyh tpguynp puwbwlnipjudp puyjitphg htpn b wprymbpmy
wnwohli innp/uyjwllt pninp (pupptipp puwgh htiipwjhtthg Ynuwetbwb qpnjujub:
Wuhph dunpphgp Yptipyh htaplyuy pbuph

alo -+ 0

B

Yhgmp B dupphgmu gnynipgnih niith qrupp, np sh pudwiynid wnwbg dhwgnpnh
htpuyhth Jpw: Lowbwltlp wyn puppp S-ny: Ghpunptkip, np S-0 quplynud
L A duwypphgh é-pp ypunmmd U j-pp wmbmd 4,5 > 10 Pwdwbbbp S-0
htipuyhtt pwpph ypw' S = ay + J, nppptin 0 < 0 < a: Wyu |y| whqud
gniwptlp wowohlt wmbp A-0 wuwpmbwynn j-pn wywip: Qpoymbpmd A
dunpphgh wowehli ypinnh j-pn phnmd Jupubwbp +ay-0: Wdd 2-pn qpinnh
wnwohtihti gnuiwptyny Yud wnwehtihg hwibking nupabttbp wnwehli ypinnh j-pn
quppp hwjuwuwnp +46: Woweht yinnnud uypubmd Gip Sh ppupp, nph pugupawl
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wndtipp thnpp £ htbpuyht pwpph pugupdwly wpdtiphg: Snntiph m uymbbph
phnuthnfumpynibitipny b, Gpb wthpwdton £, —1-nd puquuyupytiny wnweht
unilip, nupdbbkop 6 wypwppp htbpughtt b Ypyokbp Yopp swpunpjud wnweht
pnnh b wowehlt wwb ns htbpwiht ypwppbph gpnyugdwd wpngbtup: Lwbh
np htbpuyhtt puppbph pugupdwl wpdtipbbpp jphuyp ojugnd b, wyw wju
wpngbiup jujwpqdh Jepguwnp pwbwlnipyudp pwyiiphg htipin b B dwyphgh
Jnipupuwibsnip pupp jpwdwddh htbpuwjhth ypw wowbg dbwgnpnh: Utmd k
wdpnne wynngtup Yhpwntp B dugpphght: @bnptdt wyugniggud k:

@hnptd 1.7. Uunpphgh Udpph npdwy nbuppn npnpywd b dpwpdbpnpli:

Wuwwugnyyg. Hnipht £ dunptiy, np qpuppujut gnpdnnnipynibdbpn sbb thnfunid
dwyphgh pninp k-suthwth Jhtnpbtiph wikbwdbd pinhwinip pudwbwpupbbpp,
k < n:Nwpytlp k-sunhwbh dhunpbtph wikbwdtd phinhwimp pudwbwpwpbtpp
Uudhph bnpdwy pibuph dwyphgh hwdwp

ng - 0 0 -+ 0

n, 0 0
0 0 0 0
0 0 0 0

Wythwyp E, np 1-squthw@th dhinpbbiph wdtibwdtd pinhwingp pudwbwpwnpp
n1-0 L Ynipht £ hwingybf, np k-sahwbh dhtnpbtph wikbwdbd phnhwinip
puwdwbwpupp nu ning ... N, wpppunpyub £, £ <7 Bpp pbinh mbh r <k <n
wuwydwbp k-suthwbh dhbnpbtpp gpojujub Gh: Qwgph ny, ning, ..., nine ... Ny

nina __ ninzng __

wpunpyubbpp b nputlg hwpwpbpmpynbbbpp 7y, o = e,

ning...Ny
ninz..Nr—1

= n, npnpynid kb Jhwupdtpnpk: @tnptdh wmyugnmgywd t:

..y

orpLuyLEN:

1 2 (10
1. ( - ) dupphgh Udhph Gnpdwy pbuplh £ ( 0 9 ) :
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1 2 3 1 00
2.1 4 5 6 | Jdunpphgh Udhph tnpdw pupt £ | 0 3 0
7 8 9 0 0O

Wydd Yppwntlp Udhph Onpdw; wphuph dwuphlt ptnpbtip Z"-h  pninp
tipwhiptiph hqninpdhquh Goypnipyudp tjupugpiwd hwdwp: Yhgmp H < Z™:
Jbipgblp H-h npuk dthsbbph pwqinipymb, np wwpmbwymy E m dths (m < n
hwdwdwyd Ludd 1.5-h) b Juqukbp dbhstotph dwpphgp, [pugbting wyt n — m
hunp gpnyuub pnntipny

M1 A2 0 A

A21 Aox o Aoy

>\m1 >\m2 e >\mn
0 0 --- 0
0 0 --- 0

Mung k, np uw Gnybuybu H-h dthstbph pugquinipymb b Atpkbp A dwypphgp
Udhph Gnpdwy qpiuph U upubwip H-hb hgninpd fudph dthstitiph puquinipyub
n X n dupphg

ng - 0 0 -+ 0

n. 0 -+ 0
O --- 0 0 --- 0
O --- 0 0 --- 0

“Yympht £ yplubty, np wyu dbhsbipny otymd L

YIN1,Y2N2s o s Ve, 0y, 0 | i €EZ, 0 =1,2,...,7
——

n—r
funuipp, npb hp htippht hgnuinpd b htaplyw) mnhn gnuiwpht®

MZe&nZ®---dnZd{0}d--- B {0},
N—

n—r
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nptn kZ = {kx |z € Z}: Wuyhuny wywgnighghlip htipljuy phnptdp:
@tinptd 1.8. 2hgnip H < Z™: H-0 hgniinpd £

MZe&nZ @ - dnZd{0}d--- {0},
N—
n—r
ninhn guidwphl dhwpdbpnpbii npnpywd ny,ne, ..., n, whyhuh npului
wdpnng pYlph hwdwp, np ni41-p pudwbynd b wnwig dhwgnpnp n;-p
ypuw, 1 =1,2,...,r —1:
Wwptinhg bt upugymd £ Jtpowynp  d0Jwd  wpblpjwb  judptiph
Ojupugpmpyniip
Etnptd 1.9. g G- Yhpowynp dhywd wpbijui undp b b ohjud
En huap obps wwpnibhwlhnn ohpsihnh pwqunipyudp: Snyniggnilh nibbi

dpwpdbpnpbic npnpywd wylyhup npuwdul wilpnng ny, na, . .., e pPYkp, np
Nij+1-p pudwhynid Fwnwig dhwgnpnpn;-p fypuw, i =1,2,....r—1, nn G-0

hqminpp Lt
an @an @ @an @ZTL—T‘

nimphn guibwphl, nppbn Zy, = Z/k7:
Uwwugnyg. Hhgnp G-h duhgltinh GO g1, . . ., gn pwppbpp, nuph

G={Mg1+...+\gn|NEZ i=1,...,n}:
Ynphl £ ptubby, np (A1, .., ) = Agr + -+ 4 Angn wnpuyuipytipnudp
hnininpbhqu & Z"-hg G-h Ypw: Swdwdwyh hgndnpphquih dwuphl phnptdp
G-0 hgninpd £ Z™-h pup Gpgwd hndndnpdphquip shemyh wlppnp-fudphli: fuyg
dhomlp (hubyny Z™-h Ghpwhinudp pugp @tnptd 1.8-h hgninpd k

MZenZ®---dnZd{0}®--- {0}
N———

n—r

ninhn gnudwphb: Ynpht  pbubb, np

Z'fmZ SmZ® - LG {0} @ - ® {0} =
—
n—r

ZImZSLInZ @ - - DL/ SLD--- DL :
—_———

n—r
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5%}

buuutiv’ (A1, ..., An) W (g1, .05 n) pwpplipp Z"-hg  Juupluidki

dhlny hwpwyhg nuuhb pun

MZEnZ®---dnZd{0}&--- {0}
N——

n—r
fudph, dhuyt b dhwyb, tph npwig pupptipnipniip wupluoh

MZOnZ @ - dnZ®{0} & --- {0}
| ——

n—r
hudphti, hulj nu hwiwpdtp £ htgplyugh@

1. iy =pimodn;, e =1,2,...,7;

2. M=, t=r+1,...,n

@Etnptdlh wyugnigud t:
Llunptilip, np Jtipguninp dtqwd wpbpjwb fumdpp Yihth Jtpgwnp, dhuwyb

tpp 7 = n:
Wdd uypubwtip Yytipownp wptipjub judptph mnhn gnudwph wytith <tnipps>

ybtinnudonieynib:
Yhgnip G-0 Ytipowynp wpbpwd funwip b b hqninpd £ Z,,, & Zyp, & --- &

L, mnhn gnuiwpht: Jdbpgbbtbp n,-h Jtpmdnmpmip wwpq wpgpunphsitiph’
pz‘k: Lwlh np n;41-n pwdwiymd £ wowbg dhwgnpnh 7;-h ypuw,

— 01,02
Ny =Py Pa™

i=1,2,...,r — 1, wyu Jupnn tbp gpt’

a0 2 (875
Ny =pP1 Po” " " Pg s

N1 = PP - pik,

— E1 €2 Ek
Ny =py Py - Prs

nppbn a; > B; > ... >¢; > 0,1 =1,2,...,k bogybu ghptilip (npbutip ninhn
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wpypunpjwbtipht Yipwptipgnn dwuh ophtwyotipp)

an = Zp;n @Zpgz @"-@Zp:k ,

Ly_y = prl @ Zp§2 @D Zpik ;

Ly = ZLojr ®Lizz @ -+ © Ly
u G-U hgqnunpd L
Zypr @@Ly DLy ©--- Lo, ©--- O Ly &= DLy

ninhn gnudwpht: Ljuptilp, np wytih <bmpps> Jtpdnmpyni ghyhy fudptiph
nnhn gnuidwp upuibwne hwdwp hbwpwynp sk, pwh np, hbswbu ghyptdp (phubp
ninhn wpypunpyutpht Yepuptipgnn dwuh ophtwyitipp), ghythy fumdpp, nph
YJupgp wupgq pyh wuphdwb £, hbwpwdnp & ng qiphyhwy dunyd btipluyugbty
ninhn gnuiwph phupny:

@tnptd  1.10. Jhpowynp wpbkjyjuh  pndph hgninpd o ghlhl
padpliph nimpy  gnidwphl, phy nprdd ghlyhly udplph upglpp wwpg
pYliph wwppdwbhbp Lh: (linhn quuidwpp npnpywo b dphwnpdbpnpbi
gnidwplypiliph nbnuapnunieyuh dppnieyudp:

Wyugnyg. Ulnud £ wyugnigl dhwynipnibp: Awyg nu nunind £ wljohwyy,
tipt Guptbp, np

prln @-"@szk @prl @"'@Zpik@"'@zpil @"'@Zpik

ninhn gnudwpny  nq,...,7n, pYybipp npnpynid GO dhwpdtpnptb:  @bnpbdh
wyugnigywd k:
orruvuy:

Nwiwawjh @hnptd 1.10-h" uypnple pipdwd &b pnpnp hpwp ng hgninpd 1800 =
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233252 Jupgh wpbpwb udpbpp.

o ® Ty ® Lo ®Ls D Lg ® L ® s,
Lo @®Zlo® Lo ®ZsDZLs® Los
Lo ® Lo ® Lo ® Ly D ZLs D Zs
Lo ® Lo ® Lo ® Ly D Las
Zo®Zy®L3®L3dLsDLs
Lo ® Ly ® L3 ® L3 D Las

Lo ® Ly Lo ® L5 © Zs

Lo @ Ly D Lig D Zios

78 ® L3 ® Ly P ZLs D Ls

7y ® L3 @ L3 ® ZLos

7.8 D Zg D Zs D Zs

Zg ® Ly D Loas

1.19. lodph qnpdnnnipyniup puqinpjui Ypu

THhypuwpytiop htiplywy fubnhpp:

“Yhgnip ppywd kL vh wbhy, npp pwdwtwd £ 7 hup hwjwuwp ubyypnpbtph,
npnip yuyuwiwbwuwinptb hwiwpuyupyuwd bo 1, 2, . . ., n pytpny, hbswbtu gnyyg
E pppwd ugpnple pipdwd djupnud.

Wohyp Yupbih Ewyppty Yatgppnth tugpduwdp: Mpnigph dhwygnp pugip dey
utijyinph gwhny £ Wuhbph dbkl puying wowehl ubijunpp gpudnid £ tplypnpnh
ptinp, tpypnpnp’ Lppnpnh W wyil, 7 — 1-p° n-h pbinp, hul 7-p° wewghbh:
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Spywd Gb twl 7 qpupptip gnybh btipytin: Snipwpwbsnip ubtiynp btpybny
nplk gnybny wpubmd Ghp wihyh Gbpynud: Gpyne Gipynd hwdwpnud Gbp Gmybp,
tpt dtyp Wnwhg upugynd L wbdhyh wypnyyny: Ophbwy, uwpnpl pipdwd
ubpynudtitpp Gnybb GO

Tn 1 n 1
n-1 2 n-—1 2
3 3
—
—
n 1 i 1
n—1 2 n—1 2
3 3
—
—

Mwhwbgynd £ hwpdty  wpwppbp  (hpwphg  wypnypny - supugynn)
otpynmuibbph pwbwln:

®npakbp fubnpht puy dwpbduphiului dbwbpynd: Lowbwltip N =
{1,2,...,n} U R={1,2,...,r}:

Wuath dh Obpyuwd tnuowy ppdmd £ f : N — R $nblyghuyh dhongny:
Wuyhuh $nbyghuyny npnogwd dbpuwb tnubwyny 2-pn ubipnpp obpyynd
L f(i) gnyoiny: Pninp f : N — R $nilijghwbdtiph puquinipynitd plinpniigud k
pwbhwlty RY -ny:

Wohdh wypnuypbbipp Yupbih £ 0jupugnty

1 2 3 -+ n—1 n
m =
2 3 4 .- n 1



09 ULEN

phnunpnipyul wuphéwbbtpnyg: mpht £ gptubl, np 7-0 Gupugpmu k
wihyh dhwynp wppnygp, pwih np i-pn ubijynpp gpudnud £ 2 + 1-h pbinp
i€ {1,2,...,n—1} hwdwp, huYy n-pn ubypnpp gpudnid £ wnwehth pbinp: Mwpg
L, np 7% qptinunpnipyniip (7-h & wiquyd hwenpnwpun Yhpwnnuip) hwdwpdtip &
k hunp Jhudnp wipnyypbtipht: Wyuhtph withyh pnpnp wgnygitpp upugpynid
Ll m-ng duwd ghythy pdpny (7) = {e,m, w2, 73, ..., a7 w ((7) 1 1) = n:
Lwl 7 phnunpmpjud jupgp hwjwuwnp b n-h, wjuhbpb 7-h wdkbwihnpp
npulud wuphfwip, np hwjwuwp £ dhwnph qu n-0 £ (npnyhtple - dhwynp
wynyyhg htpn wdkt bh ubypnp Jpunuetmyd E hp uygpbwlyub qbnhb):
Yhgnip mbkbp tpym Ghpyiwb tnuiwy f,g € RY, W npuip upugynd
L0 hpwphg wypnywypny, npp ppynud E 7F-ny: Wn thwuypp hwdwpdbp L
f@@) = g(7*(i)), i € N: bpt oqpuugnpdtiip gr* Gowip 7% ptnunppwi
W g pmbyghuwjh hwonpnwpwp Yhpwedwd wprymbpmd upugynn Snblghwh
Dpwhwliub hwdwp, wyw f b g Ghpymdttph hpwphg wpnygpnyg upugybn
thwupp Jupnn GOp gpb Dwl htuplywy Yepy' f = gr*: Jdbpghl wuydwip
hudwpdtip b f77 % = ¢ wuydwiht: bujuwbu, tpt f(i) = g(7*(7)) pnmp i-ph
hudwp N-hg, wyuw 7% (7) = j phnmomd £ dbjului wiquy pninp wpdbiphbtipp
N-hg U 7"~ %(j) = i, muph f(7"*(j)) = ¢(j) prinp j € N: Wo thwuypp, np
f,g€ RN btpyuwb tnubwybtpb hpwphg wywpnyyny G uypugynid Jopwbwytop
f ~ g bpwin: Mpia
f~ge 3k)f=grt: (1.24)

Stnh mbkh htayplyw] hwpynpynibbbpp.

L f~f
2. f~ge g~ f;

3. f~gug~h= f~h:

buljutiu, (1.24)-h we vwup Juptih £ gptp Gwl npubu (3k) f77F = g,
niuh g ~ f U 2. hwpynipymbp uypnyq t:

Gpb f ~ g U g~ h, wyu gnynpymb mokb & Wm np f = gr* b g = ha™,
npptinhg wpuimd thp f = haaf = hatF = f ~ h U 3. hupynueymip
uqnyq k:
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Wu bpbp  hwgpynpeymbitphg  htpund £ np RV-p qpnhdwd  E
hwiwpdtipmpyui quutpph’ f,g € RY vhubnyh nuuhg b < f ~ ¢: Mupq
k, np jnipupwbgnip £ € RY wqunplyubnud £ hig-np nuuh: Gplyne uiukp uad gk
hunpynid Jud £ hwdp@yomd GG: bpnp, et f-p quipuind £ A b B nuubphd,
wyw g € A= f~guheB= f~ h Nuwiwdwjlh 2. b 3. hapynipymbitph
g~ fuf~h= g~ h, wuhlip A nuuh $miyghwibtpp yunpuimd o B
nuuht b hwupwyp B nuuh $mbyghwbbipp wupuind b A quuhb: Nugph
A=B:

Lwlh np dhubnyb nuuht yupuinn $nidjghwdtinny yppynn ttpynuddtipp
hudiptyjond G0, hull pwpptip nuubtph $nibljghwbtipng wppynn thpynuddbpp
¢till hwdpyomd, wwyw pupptp bpynudtiph pwtwlyp hwjwuwnp L ypupptp
nwutiph pwbwyht: Wuyhuny pupptip ttpymdbbph puwtwyh hwyydwb futnhpp
hwitghgytg $mbyghwdbph hwdwpdbpmpjul nuubph pwiwhh  hwyyiwb
futinphti:

Wu b wy 0wl ppbnhpbtiph mddwb hwdwip hwpdwp L ogupugnpotiy hplyuy
qunuthwpp:

Uwhdwimd. %Yhgmp ppjwd G G jundpp U S puqinipynibp: Qumd &b, np
G punudpp gnpdmd £ S puqimpyut Ypw, tph vwhdwiwd £t dp G x S —
S wppuuwgpybpnud (wdkb (g, s) qnyghtt hwdwywpuupuwbnng guppp S-hg
Upwiwyymd t gs-ny), np puwdwpupnud £ hplyw) wuydwbbbtphb.

1. es=s;

2. 91(g28) = (9192)s

Wu vwhdwbdwd pnuwinuiuhg hdwugpp htaplyuyd £ fodph qpuppbpp
dbjiwpwiynid G0 npwbtu S pwqunipjul pwpptiph <abwhnpunipynibitphs
fumdp: Wuhlipt fwdph ¢ ypwppp wanbiing S puqimpjub s pupph Ypa
<dhunpnpunud> £ owyl gs € S ypuwpph: Uwhdwbdwd wowohlt wuydwbp
Dowbwymd L np dhuynp Jud Onybwpwp <dbwthnpumpmbps> wqnbtiinyg
pwpph Yypw wyl sh thnpunid: Bpyne <abunhnpunipymbbbtphs>  hwenpnwpwp
Jhpwenuwip hwiwnpdtip L tpuwbg wpgpunpyuny uypugynn vkl <abuwthnpunipjuies
wqgnbtignipjubn:
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OrpLUYLE:

1. %hgnip G =S, U S =N ={1,2,...,n}: Wikh dh o pinunpnipymbp i € N
phup puwimd k «(i) pyh by, wyuhliplh ai = «(7): Wybhwypp t, np S,-p gnpdnud
t N puqimpjub Jpu:

2. %hgmp G = S,, N = {1,2,....n}, R = {1,2,....r} u S = RY: S,-h
gnpdnnnipgniip RY-h Ypw uwhdwinud Ghp htiplyuy Yepy' o € S, f € RY
hudwp of = f - a, wyuhtipt (af)(z) = f(a(z)):

3. lnpubwpnh  ququpbtph  (Ynntiph, GOhupbiph)  plinunpnipymbttph
puqunipinibp, np upugymd Gb junpubwpnh wypnuyypbtpng funwdp Gb Jugqdnud:
Wn funudpp gnpdmd £ junpuwbwpnh ququpbtiph puqunipyui pu: Wnwhuh
wyunyypbbipn 24-0 ti.

a. dhunfnp wpnuyyp (thwupugh wpngyp sh Gunpupynud) - 1 hug,

b. 90° uppnyyp funpwiwpnh bpyne hwinhywlwg Ghupbiph Yhbyppnbibpny
wbglnn wnwbgph onipe - 3 hwny,

c. 180% uppnyyp unpwbwpnh bplne hwinhwwljwg Ghupbtph Yhbyppnbbbpng
wbglnn wnwbgph 2nipe - 3 hwy,

d. 270° uppnuyyp unpwbwpnh bpne hwinhwwljwg Ghupbtph Yhbyppnbbbpnyg
whglnn wnwbgph onipe - 3 huy,

e. 120° wpypnuyy unpwiwpnh wilymbwgdh pnipe - 4 hup,
f. 240° uppnuyyp funpuiupnh wilymbwgdh pmpe - 4 hunp,
g. 180° wpnyy funpwiwpnh bpyne hwinhywljug Ynntiph Yhippnobbipnyg
wbglnn wnwbgph 2nipe - 6 hunp;
4. G fumdpp gnpdmy £ htpl hp Yypuw (S = G) htplywy Yepy. g € G, s € G
qnyghtt hwdwwyuwypuuuwbnd £ gs € S;
5. G punudpp gnpdmud t hipl hp Jpu (S = G) htplyuy Yepy. g € G, s € G

hwdwp gs = g~ 'sg: bpnp, e 'se = s U g7 (g5 's92)91 = (9291) 5(g291):

Yhgnip G, fundpp gnpdnd £ S puqinipjub ypw: Shputip npuk g € G:
Wn g-ny npnpymd kS puqimpyub thnfudhwpdtp wppuwyugpytipnd S-h, Jpu
Ty : S8 = S, Ty(s) = gs: bpl Ty(s1) = Ty(s2), myuw gs; = gsa U s = s2: Gph
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s €S, wyu T, g(g_ls) = 5, nuph 7, wpypuuunpytipnuip S puqunipjui g s

uppp pubnd k s-h dbe:

Ty wppuwupytipnudtitiph puqunipiniip thwy £ hwenpnupwp hpundwi
gnpdnnnipjul Ghupdwdp: buuutiu, Ty, (Ty, (s)) = Ty(g18) = g2(g918) =
(9291)s = Tgyq,(s): Nuuph

T

gz'T

g =1

92491 >
T,T, =T, :

Jtpoht tpynt  hwpynipynibitipp Dpwhwymud L, nn T,
wppuyupybpmdttph - puqinipymbp jundp £ wppuuyugptpnudtbph
hwonpnwpwp Jhpundwb gnpdnnnipyub Gugpdudp:

Gpt S pwqumpymbp Jbpowdnp k. wwuw 7Ty wpypuwupytpnudbipn
phinunnnpymbibn G S, uhdtphly fudphg, npptin » = |S|: Mupq k&, np g — 7,
wpypuywpipmdp G-hg S, hndndnpdhqd £ b G-h gnpdnnnipyjud thnfuwnkl
Juptih b vwhdwbwhwyly 7, pinunpmpymbbtph S-h ypw gnpdnnnipjub
htpugnpdudp: Wunithtipl yepewynp S-h nhiypnid dhoyp jhwdwptilip, np G-0
ntnunpnieynibbtph jundp E:

Uwhiwimd. Yhgmp G punudpp gnpdmd £ .S pugqimpjub Jypu: s € S
pupph wpuphp funadp (Gud wwpquiytu wpuphthquipng) Eynggnud htigplguy
pwqunipjniip.

Gs={geGlgs=s}:

s € S ypupph mn&dhp £ Yngynud Gs = {$|3g € G, gs = §} = {gs|g € G}
puqunipynibp: intoph Gpiupmpyniap nintdph pupptiph pwbwyh k:

Nwinqytiip, np Gs < G: Bph g1,92 € G, wmyu g1 = 8, gos = s L
gt = s Mkt (g5'g1)s = g5 (918) = g5 '8 = s U g5 g1 € Gy, mupp’
Gs < G: Ljunptilip, np e € G5 b G # :

Yhgnip g € G, s5,t € S U gs = t: Wu nhwpmd G, = ¢~ Grg: Wuqugnigtilip
nu: bpti g1 € ¢g7'Grg, wyu 3L € G g1 =g thg L

g1s= (g 'hg)s = (g 'h)gs = (g "Wt =g ' (ht) =g 't =s:

Wuhbplt g1 € Gy b Gy 2 g 'Gig: Lwbh np g7t = s, wyw, pup
wwugnigwdh, Gy 2 (971 1Gsg™! = gGsg7 L g7 Gig O G
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Wydd nuunidiwuhptilp nintdpbipp: Yhgmp s; € Gs b gs = s1: Mupg Lk, np
g sy = s L mpldh s € Gsp: Nwplowpwp’ Gs = Gsp: Wuhbph hpup dtie nplik
<Guwthnfuniyjuips> wbghnn pninp s-ph nintoptipp tnybb Lo:

Yhgmp s € Gs1NGsy: Mptdd Gs = Gs; b Gs = Gsa, wjuhlipl’ Gs1 = Gsa:

Wuyhuny S puqinmpymip ppnhymd E shunpynn nintdptiph: Onpabtiop
hwoytp wyn puppbp nintdptiph puwbwyp Yytipounp S puqinipjui phiypnid:
Gprt pninp nintoptiph Gpyupnipnibtbpp hwiptyotht, wyw nintdptph pubwyp
yupquubu hwjwuwp Yhobp S-h hgnpmpyui b nintdph  Gplupnipyub
pwtinpnht (hwpwijhg nuutiph ntwph tiwi): Uwluyl pupptip ninbdptip Jupnn
L0 mObbw) pwppbp Gpupnpymbbtp b nntdptiph pubwyh hwyqupl wykh
Onipp dbennibtph Jhpwenmd £ ywhwbon:

Lwp wwupgtibp, pb np niypmd fudph qupptip <abwthnpunipynubbbpps
Jhpwowd s-hb ypuwihu Gh dhubnyt qpwppp: Ugpnygg £ hwdwpdtipniginibdbph
htiplyw) onEpwb.

g1s=gs < (95'91)s =5 g5 'q1 € G2 & g1Gs = g2Gs

Uw Dpwiwynmud £, np g1 = ¢os vhwyl U vhwylh uwyh nhwypnud, bpp
hwdpiomy G g1-h b go-h puyp Gs-h Junnigqud hwpwlhg nuubpp: Oiptda
pupptin gs-ph pwbwyp ppwd s-h hwdwp hwjuwuwp Lt hwpwihg nuubph
pwlwyht pup G4 bhpwpdph’ Gs-h htntpuht: Wuhbpd®

|Gs| = (G : Gs) : (1.25)

Uwpnpl Jogyuugnpdtlip htplywy tpwbwynudp” ¢(g) = [{s € S|gs = s}
wjuhlip Judwyuuwi g € G hwdiwp ¥(g)-0 nu wyb s-ph pwbwyd £ S-hg, np
gs = s: Lpwbhwytp bwl M(G, S)-ny pninp mntdpbph pwbwyn:

k]

@tinptd 1.11 (Ptnbuwynh (GAY). Hgnpe Yhpowynp G pdpp gnpdmd E S
Yhpouwnp pwqunipyubi Ypw: Upnyq b hboaplywy pwbwdlp

M(G.S) = s 2 o)
geG

Uuugnyg. NSwpytblp pninp (g, s) qnuyghph pwlwlp, npnig hwdwp gs = s:
Shpuwd ¢ € G hwdwp pnnp s-tph pwbwyp, np gs = s hwjwuwp t ¥(g)-h,
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nuph gnudwptiny pug pnnp g-tiph upuitiubp ZG@D(Q) = {(g,5) | gs = s}:
ge

Ujnu Ynnuhg, tpt dhputibp s € S, www pnnp g-ph pwbwlp, np gs = s
hwjwuwn k(G @ 1)-ht: QGmudwpting puyp popnp s-ph wpuitmd Gop” > (G

ses
1) = {(g, s) [ gs = s}|: Nupliwpwp wpnyq £ 5~ 4(g) = ZS(Gg :1): Oqutiny
geCG sE
Lwgpuidh ptnptidhg b (1.25) pwbwdlhg Jupubwbp
B (G:1) . 1
Zw(g)_Z(G:GS)_(G'l)Z(G Gy) Z\Gs| (1.26)

geqG seS seS

Wtith mpwnhp  nhypuplbip ZS ﬁ gnuiwpp: hgnip pninp ruppbip
sE

mntdptipp htgplyuwd G0 Gsy, ..., Gs, (wyuhtpt M(G,S) = k): Mipbdd,
k

> |G—1$‘ = > > |G$| Pnnp s € Gs; hwiwp Gs = Gs; U phwlubwpup

seS i=1s€eGs;

G = Taay: Wuwhuny,

R B D N e MRS

SES =1 seGs;

Wydd (1.26)—hg htipumd £, np

— =k =M(G, S
Z|G$’ (7 )
seS

b ptinptidh wywugnigywd k:

1.20. Wapyh fjutinph pmdnwdp

Ghpwnettp @bnptd1.11-h pwbwaup Jtpp nhypupyus <wbhyhs>  habnphib:
Mupq t, np (1) = {e,m, 7%, 73,..., 7"} punuipp gnpdnud £ RV-h ypu
(ptiu ophtwly 2.-p): Lwl nympht £ hubb, np Ghpyuwd  $mbyghwbtiph
hwdwpdtipnipjul nuutipn hudpbyjond Gb wyn $mblghwbtiph mntdptph hbg:
Ntypwpwn hpwphg wypnypny - supugynn bepynudbtiph pwbwlp  hwduuwp
L pnbljghwdtiph mgtoptph pwbwyht, npb pup Rtintuuynh (GUdh ppymd k
htiplyw) pubwalng

Mm((r), RY) =
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Wuwhuny pulinhpp  hwigkgytig +(7%)-h hwpydwbp: Cuyp uwhdwidwb
U(7*) = [{f € RN | fn* = f}]:

Yhgnip a-0 npuk ptnungpmipgni £ S,-hg: Ljwpugpkip ponp f € RY, np
fa = f: Spnhtilp -0 ghyiph: Nhotightiip np jnipupwbsynip ghlyy mbh htiplguy
ppliupp’

{i,a(i),a?(i),...,a™@)},

npuptin pognp i, o (3), (i), . . ., ™ (3) puppbipp puppbip o b o™ () = i fa =
f wwypdwip tpwbwlynid t, np

pnnp ¢ € N-tph hwdwp, wyjuhliph f $mblyghwd hwugpugpnih £ o plinunpnipyub
ghyitiph Ypw: Muuph, tpl a-h ghyjtiph pwbwyp hwjwuwp t g-h, wyuw fa = f
wujdwbht pujuwpupnn $mbyghwitipp pduwpytym hwdwp wtpp £ plyppty
$milyghwjh wpdtipp jnipwpwigymp ghyth hwdwp: Lwbh np $mblyghwdbtph
wpdbipibph phpnypp R = {1,2,...,7} -0 t L ghytiph Ypw wpdtpbbipt
piyppynid GO hpwphg wijuwh, wyw fo = f wudwdht pujwpwpnn
dniyghwdtiph pwbwlyp Yihth hwjuwuwn r:

Wdd wuwpq t nunind, np (7)-0 hwpytim hudwp  wihpudtpp Lk
hugty 7-h ghiph pwlwlp: Sholiip, np w¥-ny Ohwpugnynud b wihyh
wynyypp & ublppnpbph swihng: Yhypupybip 1 hwdwph ubgpnph - ghyp:
7%-h hudwuuypuufuwing wgongyny 1 hwdwph ublgpnpp wogomd £ & + 1
hwdwph ublpypnph dhe, Yupohtu® 2k + 1 hwdwph ublpppnph dhe U wyil dhish
nn Ybpwnunibwip hwdwp 1 ubiypnpht: Puyg, beb Yytpunwpat) Ghp hwdwn 1
utiyinph, wyw Gnyb yypnyitpny 2 hwdwph ukypnpp Gytpunuebw hp bnp
. dynu pnpnp ubipgunpbbpp Gnybwbu Yybpunuetbwb hpkbg ptntipp: Qwugh 7*-h
pninp ghlytipt motb dhubnyb tpupnipynbn: Whthwjn E, np wyn Gpupnipynmbp
wdtwthnpp npuiub ! phyb k, np (Td'k)l = e: Wuhbpl, ghyh tpyupnipiniap
hwdpoyonud k 7Tk—l’1 Jupgh htap, npbt hbswybu ghyptilp hwjwuwn k£ (n”—k) Lwlh
np ghltiph shwynpnudp hwdptyond £ N = {1,2, ..., n} puqumpjul htp, wyw
ghltiph pwiulyp hwuuwp k (n, k)-hi: Shplwpup o (7%) = 78 1

n—1

(nb) .

M), RY) =~ S

k=0
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Jbpohl pwlwadlip Juptih £ wybih wwpgbgbty: Wythwyy E, np (n, k)-0 n-h
pwdwlwpwnb £ b n-h uiwjuub m pudwbupuph hwdwp Jupbh E pbgpty
k € {0,1,...,n — 1}, nph hwdwp (n,k) = m (ophtwy k& = m): Nwoyklp ph
pwih wiquud t ypyaydnud 7" -p nz_:l (MR gnudwpnud: Gpb (n, k) = m, wuqu m-p
b n-h b k-h pwdwbwpunb k, mﬁﬁ?h (% ) %) = 1: uptdh A-tph pwliwulyp, npnig
hudwp (n, k) = m hwjwuwp £ =-hg thnpp 2 -h htip thnjuwnupdwpwp wupg
pUtph puliwlhi: W phyp ppnud Ehwypbh ¢ (2) Eybiph $mbyghwgh dhengny:
(Eyttph nubiyghwlr’ ¢ (n2)-p, huuwuwp Er-hg thnpp b 7-h htup thnjuunwpawpuwp
wunq pUtph puwbwlhl: bpb n = pi' - pge-p n-h Ytpmdnpmbl L wwpq
putinh wpypwnpywih dhengny, wuw ¢(n) = n (1 - ,,%) 5 <1 - p%):)

Wuyhuny <wbhyh> hbnph Jtpebwlwbd nwdnudp qpynud £ htplyuy
pwbwaliny

m((m), BY) = - 3 (L)
min

Yhypwpytbp <wbhyhs fubnhpp 7 = 5 b k& = 2 piypnid: ynipht £ puplly
pninp Ghpynuittipp, np wymgypbbpng hpuphg 6t upugymd: Ypubp mpt G

Swiwdw)h upugud pubwalih’

é(¢(1)25+so(5)21) :%(1.25+4.21) :%:8 :

lodph gnpénnmpjui wy] jhpunnpjuia ophtwlyatp

Oquftiiny fwiph gnpdonnmpyub qunuithwphg b Ytipp upugyud wprynibpltiphg'
wupugmgtilip, np tph Ytpowynp fudph Gipwpidph nuuhsp (hinbipup) hadph
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Jupgh wikbuthnpp wupq pwdwbwpunpb b, wyguw wyng thpwhinudpp tnpdwy E:
Wyu wyinnuip dtibp wpnbkb wuyugmgly Gop, tpp nuuhsp hwjwuwp t 2-h:

Uwhdwimd. Yhgmp H < G: H Gipwiudiph tnpiwhquopnp £ Yngdmd Ny =
{g€G|g'Hg=H} puquinpjmip:

YniphQt E yptull), np onpdwihquuypnpp Ghpwundp £ G-nud: buljuytiy,
nhgnp g1,92 € Ny W gy 'Hgr = H, g2Hgy ' = H: Muyph

(95'91) " H(g5 1) = 9 N(92Hgy " )g1 = g ' Hg1 = H

i} g;lgl € Npg, wyuhiplt Ng-0 thpwpnuip L:

Qyohwpp &, np H < Ng < G U Ny-0 witbwdbd Ghpwiunuipd b G-nud,
npnid H-p inpdwy £ Gpl Ny = G, wyw H-p tnpdwyg L G-nud:

Yhgmp S = {a " 'Ha|a € G}: G hunuipp gnpdmd £ S puqunmpjud Ypu'
g € G hiph pwppp gnpdtyny e 'Hae Ypu wyh qpwimd £ g a1 Ha)g =
(ag)"'H(ag)-h utig: Mupq t, np H € S W H-h mntdhpp huwdphyomd
wdpnne S-h htip, hul uypuphy fundpp Ny -0 B ipd mntdph tplupnieynian
hwjwuwn £ (G : Ng) -hi:

Etinpty 1.12. dgnip H < G: bph (G : 1) = n, p-& n-p wilklwpnpp wupg
puwdwbhwpwupi Flu (G : H) =p, wwyw H<G:

Wuyuwgnyg. Lwih np H < Ny < G, wyu phnpbdd wyugmgyud t, tpt Ny =
G:

Mupq E,np (H :1) < (Ng:1) bnmptit 1 < (G : Nyg) < (G: H) =p:
Gpt (G: Ny) =1, wyqu Ng =G u H<G:

Yhgmp 1 < (G : Ng), wyu (G : Ng) =(G:H)=p, H=Ng u|S| =
p: Uw Gpwbwlmd E, np gnynipymb mbh hniminpbhqd G jwiphg S, uhdtapphly
hudph utie (ptiu Ytipp twpugpiwd 7y wppuwupytipnudotipp): Lowbwltip wyn
hnininpdhqup f-ny:

Ujniu Ynnuhg kerf = Ng = H U kerf = H: Ntiqpbwpwp, H < G, pulbh np
hnininpdhquih dhemlp tnpdwy E G-nud: @bnpbdlh wyugnigud

NYhgnip G-0 Ytpowynp punudp £ U wyl gnpdnud £ hbph hp Jpw htgplyug
Y.

(a,2) = a ‘za :
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Wyu gnponnnipynitlb wijuind G0 hwdwnd gnpdnnmppynib: Ahwljubwpup G-
ppnhynmd L nintoptiph b Gpynt qpupp Gnyt mntdphg Gb dhuyt b Jhwybh wyb

ntiypnid tpp npubp hwdwmo b, wyuhtiphh £ b y pwpptiph hwdwp Yqupaygh
ac€G, npy=alza

Yhyppupltip wyb nintodptipp, npnbg tpupmpmon 1 k. Wthwpp E, np
wynwhuh nintoptp gnynipynit nubti, pwdh np dhwynp qpuppp yupnibwynn
nintdhpp punugwd t dhwyb wyn pupphg: Uhwynptitip pninp 1 tplupnieyudp
nnbdptpp b upugdud puqunipymip bpuwbwytip Z(G)-nyd: Hmphd £ hudngyby,

np Z(G)-0 punyugwd t G-h pninp wyl ypwipptiphg, np plinuhnfutih G G-h
pnnp pupptiph ht: bujuwbu, 2 € Z(G) dhwyb b dhwyd wyb nhiypmd, bpp

lga = z pnp ¢ € G, vuluyt ¢ 'za = = wuyiwip hwiwpdbp b za = ax

wuwjdwbht: Mwng k, bwl, np Z(G)-0 G-h bopwhmdpb t: Gph 2,y € Z(G) wywu

lza = 2 b e 'ya = y, htipliwpuwp, ya = ay W ay™ ' =y ta b a ly~ta =

! Yaa='z)a =

a=

a=

y~ ' Wdu nhypupytbp o'y~ z)a puppp, o (y e)a = a7y

Lo Uypuguwbip, np yila: S Z(G), pwlh np yilx Qunnn

(a™'y~ta)(a™ wa) =y~
Juqumu t 1 tpupnipyudp nintdhn:

Z(G) tbpwhnuipp Yngymd £ G fudph Yalgppna: Wthwypyp B, np wyl Gnpduwyg
thpwunuip t:

Oquytiny Ytipp Gopgwd hwdwymd gnpdonnmpymbhg wwywugmghip htuplywg
whnnuip:

@Hnpbd 1.13. Guwidwywlhwbh Jhpowynn junidp, nph Jupgn wwpq piyh
pwnwlniup b wpbjpub (plnuapnpulyp)

Uyugnyg. Lowbwltbp (G : 1) = p? nppbn p-0 wwpq phy t: hgmp
G-0 gnpdmd E hiiph hp Ypw hwdwndmpjudp: Mupg £, np G-0 qppnhynud £
shunn mntdptiph L jnipwpwibggmp nintdph Gpupnpymbp G fwdph jupgh
pwdwbwpwp £, pwbh np tpupnipyniip hwjuwuwp £ wyn mntdph ypwpph
uquph; fudph hinipuhli: Mpbdt® pnnp ninbdpbph Gplupnipynibbbpp ud 1
Lo Gud p Gud b p?: Jdbpohl ntiwph wihbwp b, pwdh np dhwynp quppp
sh Qupnn dtl wyp ypuph htap (hot Jhubngd nintdpnmd: Geh 1 Gpupnipyub
ninbtdptiph pwbwyp ¢hth wwyphly p-ht Jupubwbp, np pnpnp mntdptiph Wby
wwpnibwlynn pupptph puwlwlp sh thth wwyphly p-ht, hogp hbwpudnp gk
Muuph 1 Gplupnipyut mntdptph pwbwyp’ Z(G) Yelppnth Gupgp wuphl k
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p-ht: Swdwdw)h Lugpwbdh phnptdh’ wyl Jupnn t jhol; hwjwuwp Gud p-hi
Yud £ p%: Bph (Z(G) : 1) = p? wyu G = Z(G) b G-b wplijjw L

Yhgnip (Z(G) : 1) = p: Lwbh np Yabyppnip Gnpiwy Ghpwhumdp £ upnn
tlp nhypwpyly G/Z(G) dwipnp-funidpp, nph Jupgp Gnybwbu p £ L wyn
yuypdwnny wyl ghyhy k:

Muwihg widhowwbu htipund £ G-h qtinuthnpubih (hop: Lwih np
G/Z(G) dwypnp-fumdpp ghyihy £ wuww npw pninp qpupptipt hig-np dkyh
wuyphGwbibtpb G, wyuhtipl Ygpidh « € G\ Z(G) wybwhuhd, np G/Z(G) =
{2(G),zZ(G), (xZ(G))?,...,(«Z(G))P~'}: Lwbh np Ytbyppnbh pupptipp
pplinuhnfutih G pngnp ywppbiph htap, uputnd bop, np (22(G))F = 2 Z(G) u
G/2(G) = {2(G),22(G), (P Z(G)). ..., (+? Z(G))

Yhgnip a, b € G: Gqpiytb tipynt hwpwlhg nuutp wlppnp-fudpnd, np a €
2" Z(G)uwb € 2"Z(G): upph a = 2™e; b = x"co, npuptin ¢1, c2-p Ytlyppnbhg
Ll Wdd, oquutiny wyl thwuphg, np Yhbppndh prupptipp pinuitinfutih 6o jodph
pninp pupptiph htap, upuind Gop' ab = 2™ c1x"co = 2™ c1co = 2T egey =
x"cox™cy = ba L phnptidl wuyyugngud t:

1.21. fodph ghljihl hinkpup

Yhypwpytbp 7 uppuih pnunpoenubbtpp: Lipdmdthp gnyq wn gnygq
ptnuthnfubh t1, ta, . . ., t, wiuw hnhnfuwubbbpp tit; = t;t;: Gudwjuljub
n puppubh phnunpmipjut hwdwp vwhdwdtip npw ghlhy ptuwlp npybu
tbltb2 07 npptin b [1 nhnunpmpjub ¢ Gpupnipjub ghlyitph pwbwyb t:
Nyniphtt £ GQupty, np E 1b; = n: bujuwbu, ¢b;-0 ¢ tpupnpub ghytpnd

=

wuwpnibwyynn {1,2, .. n} pwqunipjul pupptph pubwlyb k:

a € S, ypbnunpmpjul ghythy phuwlp Yuowhwlbip htplywy Yhpw.
ghr(@gba(e) - ybnle),

Uwhiwimd. Stnunpmipynibtph G < S, hudph ghYihy hointpu b Yngdnud
htiplywy puquiwbnudp

P (t17 t27 cee 7 bl(a) bz(a) . tlrjln(a) :
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orpLuyLLN:

1. %hgnip G = (7) = {e,m, 7%, 7%, ..., 7" 1}, npptin

12 3 -+ n—-1 n
T™= :
2 3 4 --- n 1
bbgytu ptuwbp <wbhyh> pubnph modwb dwdwbwy TI'k—h ghyihy ypluwyp

-0 t, muph ghUihy hadph huidwp

n

1 (n,k) 1 n )
Py (t1,t2, - tn) = — L :;Z‘P<g) o
mln

k=0
n
2. %hgnp G = S, U by,by,...,b, pUtpp pwupupmd b Db, = n
=1
wuydwbhb: Swpytibp tll'ltg2 ...t ghyrhYy pliuwyh plnunpmpmattph pubwyp:
Snipwpulgymp o phinunpmpymb dpjuyugbbip ghyiph wppunpyuny, npp
qnwd E htaplyuy Yhipy

a=(i1)... (%) (J1k1) - .. (bokny) (P1G151) - - - (PbsQbsSbs) - - - (1.27)

npptin  (i1) ... (ip,)-p 1 bGpupmpyubd ghlytpl G, (j1k1) ... (Je,ke,)-n 2
tipQupnipyub ghlytiph 0, (p1q151) - - - (Pbsqbs Sbs)-0 3 Lpupmipyub ghyjtiph to
U wyh: dwumpnptit (1.27)—nui npnowih htippujuinpjudp gpyud th pnnp
1,2,...,n pytpp wdkb dtyp dhoyp dhly wiqud, wyuhbpb (1.27)-ny npnpynid
£ 1,2,...,n pYtph dh pnuihnfumpymb: (1.27)-h jmpupwbsymp ghyih pytph
ghlyihly phinuihnfunipymbp ghyih dte sh thnfunid pbnunpnnipgnibp, pwbh np wyy
ghyip ¢h thnfudnud b thnfugmud £ dhwye ghyih gpuenwdp: Lub pinunpneynbp
sh thnpuyh, tpt phnbpny thnpukbp dhubnyb Gpupnipyub Gpym ghyp: Wikh
dh uwynuhuh ghythy whnupwpd U ghyiph pnuhnfumpymi  (1.27)-nu
¢til thnfumd -0, uvwuyl thnpund GO 1,2,...,n pYtph pnuithnunpnianp:
thluhll phnwpwpdtph U ghytiph mhrlwlhnhmlrarjlmﬁﬁhnh pwiwyp hwjwuwp t
II bili%: Mipkth a-h hwdwyuuufuwind LI b;!i% hunp 1,2,...,n pytph
i-1 i=1

1=

phnuthnunipynd b pwbh np pnpnp phnuthnunipynibdbph pwbwyp »! E, woyu
(1.27) ghythly phuwyh o pinunpmieymbibtph pubwlp

n!

bZ'ZbZ

.

=1
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L (upph Sp,-h ghyhy hontipud £ htplywy pugqdwinudp

1 n!
PSn(tl,tz,...,tn):—' Z nitlilt?-utzn,
n! by
(b1,b2,..,bn) H bi.’l v
i=1

npptin gnuiwpp Ytipgymd £ opup popnpe (b, ba, -, bp) hunwpwdmbtiph, np
n

> iby =mn:

i=1

3. dhgnip G = A, Gudwywubd o € S, pnunpnipyui hwdwp, nph ghyhy
phuwlp t?lt? .. 07 b Yhpwlwltbp d(a)-ny o plinunpnipyub nhyptdtinp

n

n

dla) =) (i—1b=n—> b :
i=1 =1

SNwyybh £, np pyptdttgpp qnyq phy b dhwyb b dhuygb, Gpp o phnunpnipymbp

qnuyq L Dwuph, A,-h ghyihly hintipup Juptith & ugpuibwg htaplywg Gpeg

n

) b1 b bn
thebz e

1 nl(1+4 (-1
Ps, (t1,t2, oo tn) = — ) ( £L )
" (01,b2,,0) ] bitib:
=1

npptin. gmuwpp Yipgymd £ opup pogape (by, b, - .., by)  hwjwpwdmbtiph, np
n

> by =mn:

=1

4. %%hgmp G-0 dtpp nhpuwpyuwd fnpuwlwpnh  ququplbiph  puqunipyub
wupnybbpny  uypugynn pbnunpnipynibttiph - punwdp £ Mwipgtip wyn
phnunpmpymattph ghyhly ptuwybtpp.

a. thwnp wpnyyp (thwupuigh wypnyy sh juipupynud) - 1 hwp - ghyihy
phuwlyp ¢§ E;

b. 90° wppnuyyp funpwiwpnh Lpln hwinhywluwg thupbtiph Yahyppnbbtipng
wbglnn wnwbgph 2mpop — 3 hup - wdkb dh hwinhywlwug Ghupp
ququipltpp Guqunud &b dh ghly - ghlyhy phuwyp £ E;

c. 180% uppnuyyp funpwbwpnh bplne hwinhwwljug Ghupbtiph Yhbyppnbobpny

wbiglinn wowhgph pmpep — 3 hwyp - wpwbgph Ypuw ququp sqw’ pnpnp
ghtipp 2 tipyupnipywib G - ghyhy phuwyp 5
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d. 270° wynyy funpuwbwpnh tpyme hwinhywluwg thupbph Yhbgpnbbtpny
whglnn wnwbgph pnipop - 3 hunp - Gnybb £ s 90° wpngph hwdwp —

2.
t3;

e. 120% wppnuyy funpubiwpnh wilynwgdh onipep - 4 hunp - wnwbgph Ypwjh
tipynt ququpitpp 1 tplupnpyub ghyitp 6o juquind, wyn ququpdtphg
Jjnipupwbggmphll Yhg 3 ququpltipp ghlyp b juqimd - ghyhly pluwyp
22 L

f. 240° uppnuyy funpubwpnh wilymbwgdh pmpop - 4 hunp - Gnuybb E hig
120° wpnipph hwdwp - #3432

g. 180° wpnyy funpwiwpnh bpyne hwinhywljug Ynntph Yhippnobtipnyg
wiglnn wpwbgph onipop — 6 hwyp - wowigph Ypw ququp sqw nnp
ghlttinp 2 tpjupmipyul kb - ghyhy phuwyp ¢

Bhyihy htntipup htuplywid E.

1
— (] + 6t] + 8t7t5 + 9t3) -

quqmpﬁhph(tla cee 7t8) = 24

1.22. Mnyujh pEnptup

Ghgnip N = {1,2,...,n}, R={1,2,...,r} L G < S,, funuipp gnpdnud £ RV -h
Upw (Voo € G Vf € RN) (o, f) — f - oz Upuph) fundpp Gf = {a € G| f =
fa}-u t, hul mntdhpp nu Gf = {fa|a € G}-0 L: bhgytu ghptip RN -p
pnnhynud £ shwpynn nintidpbph:

Llpptibp 21,22, ..., 2, wiju hnthnpuwubdtph puqimpmip’ z;z; =
xjr;: Smpupwbymp f € RN hwdwp uvwhdwbtbp $mbyghwih Yohnp
htiplyw pwiwatny w(f) = H T4y Puupnpli $mblghwgh Yohop oy k
puwihu hdwbw], ph i])mﬁllghum pumh wiqud £ phpmbmd qppywd wpdtipp R

pwqunipinilihg:
NYhgnip g € Gf, wyuhtiph 3o € G np f = ga: Mupq L, np w(f) =
Ha:f @ = Hac (a(i)): RwOh np a-0 ptnunpmpmb b, wwyw btpp -0

gﬁr}mﬁnui L1- hg n wpdbipbtipp «(7)-0 tnybwtu pbnmbmd £ 1-hg n wpdbpbtipp
(pinhwimp phypnd by wy hwonpnujuwimpyudp): Oqpybiny =1, 2, . . . , Ty
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thnthnjuwljubbtiph piquithnputijh (hobne hwbquiwbphg uwpubnd Ghp

) =T11=s0 = [ {7y = [T 20y = w(9) :
i=1 i=1 j=1

Wuyhuny wyugnmgbghtip, np dhtubinyb nintoph $nmbjghwbtiph Yohnbbpp
hwjwuwn bb: Swiwewyp dhog sk np Shog B Yhgmp n =4, r =2 U f(1) =
fB3)=1=9(1) =g(2). /(2) = f(4) =2=9(3) = g(4) L G = {e, 7}, npppbin

1 2 3 4 .
T = 513 4 : Wybhwyy &, np w(f) = 2725 = w(g) vwuyd f-p b g-bo

qupptip mnkdpbtiphg tb, pwbh np g = gm:

Snipwpwilsjnip mntdoph hwdwp uvwhdwbbbp Yohep npybtiv wyn nmnkdph
$niiyghwyh Yohep: Lwbh np wyn nintdph pninp $nmbyghwdbpt mbkt dhtbnyb
Uohnh, wju uvwhdwinuip Unetlyp £ Wdd thnpatitp hwpyty pninp nintdptiph
Wohotiph gmuwpp” Y- w(Gf), npp Yupwbwytbp Q(N, R)-ny: Wuwhun|

pup pnpnp G f
nintoptiph
Q(N,R)= > % L ogyytyny (1.25) pwbwdlhg upubnd top
JERN
Q(N,R) = W) () G, 1) =
(N, ) %%@ﬁﬂf%ﬂ?ﬂf:
1
G 2 wlhGr )

fERN

(wjuiptin ogftightip Lwgpwidh phinptidhg): Quuithnputiiny tpghtt gnidwpp
uubtnud Lop

D wN@Gr:l)= ) w(f){aeGlf = fa}| =

fERN fERN
D oWl D 1= ) w
fGRN aeG acG feRN
f=fa f=fa
Munh,
Q(N,R) = (1.28)
aeG fERN

Lbpdmdblp  hbplyw;  pwqiuinudibtpp (puppuiui  uhdbypphy
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puqiwinuibtpp)

S1=x1+...+x,
_ .2
So=x1+ ...+,

53:x?+...+x§

sk::vlf—l—...—ka:

Stnunpbkbp s1, 82, ..., sy puquuinudbtpp G fudph ghythy hintpuh dbg
t1,t2, ..., tn hnthnjuwmubbtph thnfjuwptt b Juypubwip
1 RC)

. 1
(G ’ 1) a€eG

SZQ(Q) ... shn(@)

Pc(s1,82,...,8n) =
npptin bga), - ,b${") -0 o« phnunpmpjud phuwyt b Swdwnpbng (1.28)-p b
Pg(s1,82,...,8,)-n phubmd bbp, np tph > w(f) = SZQ(Q) . SZ”(Q), wuyw
e
Q(N,R) = Pg(s1,82,--.,5n):
Yhypuipltbp sl{l(a)s?(a) L sn® wppunpup: Who Juplh E

Yupupyugnty hegplywy htpw.
(1 + . 4 a) @2 4222 @ )@ (1.29)

Wyu wpypunpyuh thwlwuwgdtinp pwgtinig htigpn uipugynud £ dh puqiwbnud,
nph jnipupwbgmp winwd Jupbih £ owb wpubwg (1.29)-h thuugdbiphg
Jjnipupwibsyniphg dkuljud gmdwpbh phpptny: Lowbwltip o phnunpnipyui
ghlitipp (nhypwplbiny npwip npytu N-h bipwpwqunpymbitn) htpbyw e,

A1, Az, .y Ay (o) — 1 ipuipmipyul ghyjtipp
B1,Bs, ..., Byy(a) — 2 tipupnipjub ghljtipp
C1,Cy, ..., Chy(a) — 3 tipquipnipyul ghyjtipp

bhgytu wpntl wwupgty thbp, ppwd o pinunpnipyud hwdwp f € RN
dniyghwt pujwpupnd £ f = fo wuydwiht dhuyd b Shuyh wyb nhwpnid, tpp
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S dmiyghwlt hwupupnt £ o phnunpmipywt ghyitiph ypw: Qwuph, Yuptith
b funuby f $mbyghwyh ghyh ypw wpdtiph dwwuhb, wyuhlip gptiny f(Ar)
hwuljwimy top f(7), i € A;g:
Gpt f € RY U f = fo, wyu
_ 2 2 3 3

w(f)=xfa,)-- T F (A @) TFBL) - T F By o) THC) T () * (1.30)
npptin. Tpoa,) - "xf(Abl(a))_ﬁ’ nu 1 Gpupmpyub ghfitpmd  yupmbwlynn
pdtph Ypw f pmbyghuyh wpdbpitipht hwdwyuwipuwupwing Ypeh dwub L,
x?(BU"'x?‘(Bbg(a))\ 2 tplupmpyub ghyiipmd wwpnibwynn pytph ypu f
dmilyghwyh wpdtpltiphtt hwdwwywypuwufpwing Yoph dwub £ (pwbh np B;-b
tpym pyhg b pwnfugwd, nwuph wyn dwuh phob © 2ypyTrp,) = xfc(gi)) U
wy b Wdd gnyg qwbp, np gnympymb mbh (1.29)-h thwlwugdbphg winudbbtph
pbppiwd bh bnwiwy, nph wpyniipnid wpugymad £ (1.30)-p: (1.29)-nud mbkbp
bi(@) hwp 21 + ... + 2, thwlwghd, wnwehlhg plnppkilp @4 4,)-0, tpipnpnhg
T ¢(4,) -0, W wyll b Jtinghtihg L f( Ay, (@) -0 Whnihtupl, bo(a) hunp (22 +. .. +22)
thwlugdtiphg ulqphg Ynlypptibp wnwehlt thwljugdhg l‘fc(Bl)-n, tpypnpnhg
:v?c( By) D L wyb W Ytupohbhg a;?c( BbQ(a)): Ldwl auny Yupubwbp wdpnne
(1.30)-p: Wuwhuny, jmpuwpwignip f € RY hwdwp, (1.29)-h thwljugdtipp
pugtiny Jupubwbp w(f)-p: Umu Ynnihg wwpg b, np (1.29)-h thwljugdtinhg
winwibtph phyppiwd Juiwjuluwd tquiwy hwigigomd E nput f € RY
(f = fa) $miyghwjh Ypnh wpugiwip: bujuytiu, nhgnip wpweht by () hwp
(1 + ...2p) thwliugdtphg plyppyty G Tiys s Tiy (o> hUIONNT ba() hunp
(22 +. .. 22) thuugdtinhg pyppyty o 93?1, cee x?b " U wyi@: Ydw Dpwbwlymy E,

2 «@

nn hwdwywipuwuhiwt $mdyghwyh hwdwn

f(AD) =1, f(Ab () = bia),  F(B1) =71, 5 [(Biy(a)) = Jbo(a)

b wy b Bt gnib dky hwljugdhg pbypptitp Wby wyp winwd, wyw wybhwppnpba
Jupuiwbip uby wy $mbyghw, pwih np Yhnpudh  Pmbyghugh wpdbpp
hudwywgpuwupiwb ghlih Yypw: Wuyhun wyugnigytg np

S ) = O
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L htpliwpwp’
Q(N,R) = P(s1,52,...,5n) :

Jtpohti pwlwalp hwppbh £ npytiu Mnjuyh phinphud:

Etnptd 1.14 (Mnyw). “Mgnp N = {1,2,....,n}, R ={1,2,....r} L G <
S, pnnipp gnpomd E RN -p opw: RN -p punp drubiighwbkph Yphnikph
gudwnpp Q(N, R)-p, hwjwuwp b Pg(s1, 82, ..., Sp)-pl:

NYnipht £ 0yunpti, np qpinunpting z; = 1 pnnp ¢ € R hwdwp upugymad £
w(f) = 1, muph
QN R) = >, w(Gf)

puyp popnp G f
nintoptiph

hwjwuwp £ nunimd nintdptph pwbwyhib:
“thgnip, hwpljuninp £ gty nintdptiph pwbwyp, npnbg Yohep hwjuwuwp
T

t ZL’ml ma2 xmr

1 Xy ...y, nuplin Z m; = n: Mwupq L, np wyn puwbwlyp hwjuwuwp L

i=1
mi,.m2

Po(s1,82,+-,8n) pulqliumq_uuinui ey o winudh gnpdwlghtb:
orruLuyuLGr:

1. “Fhgmp hwpluynp © qpity funpwiwpnh ququplbph hpuphg wypnygpny
suipugynn bptip gnybtipny bGbpynuitiiph pwbwlyp: Mwpq L, np Gbpynudbtipp
ppynd G0 f : N — R pmbyghwdbtpny, nppptin N = {1,2,...,8}, R =
{1,2,3}: Mpnypdbpp tyupugnjwd bb bwhnpn ophtwlobphg dymy, npyptin
Jupmgwd E hwiwuunpuupuub 24 qupp yupmbwynn fudph ghyjhy hiinbipup
P(t1,...,ts) = 5§ + 67 + 833 + 9t3): Wn hunwipp gnpdnud £ RY -h
Jpw b hwdwduyt Mnjwjh phnpih’ hpwphg uppnyypnyg sutpugynn Gbpynuittiph
(mbyghwttiph pupptip mntdhptinh) putwyp Juypugyh, tptk
i ((z1 + 22 + 23)® + 6(27] + 23 + 23)*+
+8(21 + T2 + 23)% (25 + 25 + 23)? + 9(a + 23 + 23)*)

puquuinuuind plnunptiip dtytp thnthnfuwubbttph thnpowpt: Wn pubwyp
Yihth hwjuuwp 2 (3% + 6 x 32 + 9 x 32 x 32 + 9 x 3%) = 333:

2. “thgnip hwplunp £ qpdty junpubwpnh ququptiph hpuphg wynygnyg
suipugynn tiptip gnyytipng wybwhuh dbpymdbtph pwbwyp, np wnwehti gniyyoing
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Obpyywd £ bpym ququpe, tpypnpony’ Lo Gpyme ququp, hull dbwgud snpu
ququpbtpp btpyyuwd b tppnpn gnytng: Mwpg k, np hwpluynp £ qupity x%w%x%
wlnudh gnpdwyhgp
1
3 ((z1 + 22 + 23)® + 6(27] + 25 + 23)*+
+8(21 + T2 + 23)* (25 + 25 + 23)? + (2 + 23 + 23)")

puqiwinuimy: (x; + z9 + 1‘3)8—nui x%m%xé‘ winuih gnpdwihgp hwjwuwp L
(3) (5) = 420: 6(at + b+ 242 + 8(a1 + w2 + 23)2(2? + 23 + 23)%-nd wilinwuh
qnpdwhgp qpn k, huy 9(z? + 23 + 23)*-mu " 9 x (‘11) (‘f) = 108: Muyp, pubnph

yupuupwoh % = 22

1.23. Uhmnyjwi hodplp

bbgywtu ghptp Lwbgpwidh pEtnptdhg, Ytpowynp pudpnd  Judwjwluib
tipwhidph upgp fudph Yupgh pudwbwpunt £ Wu dwunud dktp juuugnigtiip
hbs np hdwugpny hwjunund wonnd, tpb fudph upgp pudwiymd £ p™-h Ypu,
npptin p-b wwpq phy £ wyw judwjuywi s < 7 hwdwp fudpnd Ygpinh p?
Jupgh Ghpwhinuip:

Lwj wyyugnigtiip dh pwbh wupq whnnud:

Ladd 1.15. Hpgnip H-p b K-6 G fbpowynp puiph blgowpudpbn ki U HK =
{hk|h € H, k € K}: HK pwqumpjui pnwppbph pwbwyp |HK|-p hwfwnp

wipnyq k-
H||K]|

[HN K|

Uwugnyg. Yhgnip h € H, k € K: Opnptiip wyb (hy, k1) € H x K qnygtph
pwiiwyp, np hk = hiky: Yniphtb © yptubby, np bk = hik = hl_lh =kk'lec
H N K: Lywbwyhbp ¢t = hflh = kik~ 1 Uiy, top' by = ht™' U ky = tk:
WyuhGpl jnipuwpwbgnip ¢ € HNK qpwppht hwdwywqpuupwbnd £ oh (b, k) €

HEK]| =

H x K qnuyq, np hk = hik;: Qwuph, H K-h qpupptph pwbwyp hwjuuwn £

|H x K|
|HNK|

b (budh wyugngyud E:
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Lupbbp, np wyu tddh winnuihg htpumd &, np bt H N K = {e}, wyu
|HK| = |H| |K| b HK-h ypnupptiph hpuyugnuip hk qbupny, npypkn b € H,
k € K dhwyb t: Uw dtlp wupgby thip ninhn wppunpjuih niumdbwuhpdwb
dwdwbuy:

Laid 1.16. gnip m-p wilpnne npwlwb phy L hulp p®-b wunpq pygh ns
puguuuwlyul wlkpnne wuphdwi k:

P =
puduwhiynid p-p ypw:

@ 1
(mp 1 ) phimipy  qnpowdihgn  hlbgny  walpnne phy s

Wuyyugnyg. Cup uwhiwbdwb nibbbp

“—1

mp* =1\ _ (mp® —1)(mp® —2)... (mp® — (p* — 1)) _pH mp® —k
p* -1 (> = (> =D)p* = (p*—2)...(0* -1 & k
Wyuwugnmgtlip, np pninp 1 < £ < p®—1 hwdwp & b mp*—k pytpp, Jhudwdwbwly
Jud puwdwiynmd Jud b sbb pudwbynid p®-h Yypu:
Yhgnip k-0 pudwbymd b p®-h ypu: Whthwy £, np p® < p® b s < a: iuph

a—S

k=np® 0w mp® — k =mp* — np® = p*(mp** — n):
Yhgnip mp® — k-0 pwdwbynd £ p®-h Jpuw b mp® — k = np®: Gph s > a,
wwyw p(m — np®~ ) = k > p® pwbh np m — np®~* > 1: Muph s < a b

[0}

k= p*(mp*~ —n):

p*—1
*—k *—k
Wuwhuny, kl_[ SRS wpunpjunud jnipuipwbgnp #5= Ynpnpuih
1

hudwiphsh L hul]lpﬁlpmpl’l p° ptiuph pwdwbwpupitipp dhijubg shignpugind o
(03

mp® — 1
L nmiptdn < i ) >—|3 sh puwdwlynmd p-h Yypw: Ledd wywugnigyud L:
D

Ladd 1.17. &ph H-p U K-0 G uiph khpuwpdpbp ki b pnmp h € H hwdwnp
wplinh miph h1Kh = K wuydwbp, wwyw HK = {hk|h € H, k € K}-&
anybawbu G udph Gapuwpndp E

Uyugnyg. Pujulwh Eupnighy, np (hoke) ™ (h1k1) € HK: Mupqk,np by thy =
hs € H W hy'ky'hs = ks € K: Qwuph ky 'hs = hsks U

(hoka) M (hiky) = ky'hy thaky = ky 'haky = ha(ksky) € HK -

Lt wyugngywd E:
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Uwhdiwimd. Yhgnip G-0 ytpowynp jundp £ U p®-b p wupq pyh wikbudbd
wuphdwblb b, nph ypw wowbg dhwgnpnh pudwiymd t pudph (G : 1) Yupgp: G
fudph H bhpwfunuipp Yngmu b p-Ehpwfunudp, tpt (H : 1) =p%, 8 <

p% Jupgh p-thpwnudipp Yngymd £ Uhpndyub p-thpuwjunudp G-nud:

G luiph H; U Hs thpwdiptpp Juiwibip hwdwmd, tph 4qupiygh g €
G, np g 'Hig = Hy: Soypnipyudp upmgynud E, np hwiwnd bhpwdpbpl
hgninpd Ll

E-tnptd 1.18 (Uhinyh plinptidp). hgnie G-b kpownp unidp E p-b wupq
phd b (G 1) = mp® U (m,p) = 1, wyuplipl’ (G : 1)-p sh pudwbnfnid p***-p
Ypw, wujw

1. jwdwywlpule B-p hwibwp, np 1 < 8 < o, G-nd gnymgaynile mlh p°
lpungh p-kilpwpunnip;

2. Upymyjuls p-Llpwpudpliph ny, pwhwlp pufwpwpnid £ n, = 1modp
Punnuapluin;

3. hwdwywlpuwi bpyne Upyny juh p-Lapupdplip hpup hwdwynid La;

4. jnipwpuihignip  p-khpwpnidp wwpnibhwlhymd  F Upmyjui
p-blpupudph Lke:

Wuugnyg. Hhgmp S = {s € G| |s| = p°} (hbgybu dhop |s|-p puqumpymi
puwppbiph pwiwyb £): G jundpp gnpdmd £ S puquinipyub Ypw htplywy Yhpy
g€ Guse Shuiup gs = {gz|x € s}: Wybhwyy L, np |gs| = |s| b es = s,
g1(g28) = (9192)s: Lpwhuljtip m = mp®? U (G : 1) = mp®: Wmpht t phubty,

pP p?—1
wuphdwbp, nph Ypw pwdwbymd £ |[S|-p, hwdpdyomd b p pyh wibbwdbd
wuphdwbhb, nph Ypw pudwbynd £ m-p: Muipg E, np p-h wynwhuh wuphdwop
p*P-0 & G pudph gnpdnnmipymbp S pwquinpyub Ypw ppnhnd b oybpohtu

mp” [ mpf -1 .
np |S| = =m s Nwdwawylh Lhdd 1.16 p pyh wdbbwudbd

shwpynn nmintidptiph: Gt pninp nintdptiph Gpupnieymbitpp pudwiymd th
p pUh wytih UG pwh p*P-0 wuphSwih Ypw, wygu [S|-0 b Ypwdwbyh
p-h wyn wuphéwbh Ypw, high wbhiwp b Qwgph Ygpidh dh nintdhp, nph
tplupnipgnibp sh pudwbynud p@—? -hg WEd p-h wuphswih Ypw: Shpubilip nplik
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s fidtinp wyn nintdphg (wyn nintdhpp Yopwbwybip upuinump Gs bpuing) b

nhypupytiop npu wpuphy undpp” Gs = {g € G| gs = s}: Swdwawyh (1.25)-h
|Gs| = (G : Gs) L Lwgpwidh phnptaip

mp® = (G:1)=(G:Gs)(Gs: 1) =|Gs|(Gs : 1) :

Luwih np |Gs|-p sh pudwbymy p®~?-hg UEd p-h wuphGwih Ypw, upubno
titp, np (G : 1)-p pudwiynud £ pP-h Ypw b mptada p? < (G : 1):

Ujniu Ynnihg niGikibp, np (G : 1) < p?: bujuybu, Ytipgttitip npuk & pwpp s
pwqunipynitihg: Mwpg k, np gz € s pninp g € G5 hwdwp, pwbh np gs = {gz |z €
s} = s: bph 1 = ¢oF npuk g1,92 € G5 hwiwp, wyw pwqiwyuypytng
1% = ¢go& wnbsnieybl wohg &~ '-ny upuimy khp' g = ¢o: Miptadh pnnp g2
wnunpyubtipp, nmptin g € G, qruppbp &b b yupuiomd b s puqunipyuin:
Mmuph p? = |s| > (G : 1):

Wuwhuny G tbpwpundpp p° Qupgh p-tbpwunuip £ G-nud b phnpbsh
1. winmut wyugmgyud k:

NYhgmp H-p Upinfjub p-thpwnudp © G-nid: Lowbwlkip H-ng H-O
hudwmd pnnp Ghpwhudpbph puqimpmip § = {g'Hg|g € G}: H-
qnpdnud £ $H-h Ypw htaplywy Yepy' A € H quppp qputmd £ H € $ bbpwjunidpp
h"'Hh = h7'g"'Hgh = (gh)"'H(gh) € $ tlpwhuiph dbg: Sphuhuy
uipunigynid £, np nu gnpdnnnipjnih L Snipuwpwbsnip ninkidnph Gplupnipiniop
p-h wuphtwd E, pwbdh np wyt hwjuwuwnp E hudwyupuupiwd uipuphy fjudph
hintipuptt H-nd: Swdwduwylh Lwgpubdh phnptidh, p-thpwhidph Ghpwhudptph
Pt Jupgbpp, pb hintpubtipp, (hobny p-tbpwfudph Jupgh pwdwbwpwpbbp,
p-h wuyphtwbbtip to:

Mupg £, np H € $H: Yhpupytbp H-h mntdhpp' {h*Hh|h € H} = H:
Wywgnigtiip, np thuyt H-h nintdhpl & uqiwd dty qpupphg, wyuhlipl nibh
1 ipjupmpymb: “hgnip Ygpigh vy wy K € H, np {h"'Kh|h € H} = K,
wyuhliph A 'Kh = K pninp h € H: Swdwdwyh Lhdd 1.17-p HK = {hk|h €
H, k € K}-0 thpupumdp b G-mu: Swdwdwyd Ledd 1.15-h (HK : 1) =
% Uwluyl mbkbp, np (H : 1) = p* U pwbh np K-0 H-h hwdwnidb
L wyw (K : 1) = p®* Gopwhdptph hwgpnuip Gnphg Ghpwnup B Qwgph’
HNK < Hu (HK : 1) = p% npptin 0 < 8 < o Mptith HK-b onybuytu
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p-tibpwunuip £ G-nu, (HK : 1) = p?>*8: Quihnp HK < G, wyu (HK : 1)-0
p®-h pudwiwpupi £ b p?*f < p%: Staplowpup, p® < pP U o = B: Upuibmad
tip, np (HNK:1)=p*=(H:1)=(K:1)uL H=K:

Wuwhuny pninp mntdptiph tpupnieynibbtipp, pugh dtyhg, p-h npuljub
wuphwbbbp G Splwpwp motdpbph Gpiupnpnibbph gmdwpp [H|-p 1+
pq ptiuph phy £, wyuhtpl® [H] = 1 mod p:

Yhgnp Juiwywul p-thpwhndp gqupnibwiynd £ $H-h Ghpwpdptnhg
utiynud: Wuptinhg Uhinyjuwb p-tbpwjudph nbwpmd Yppuh, np poinp Uhpind jub
p-tbpwhiiptipp hwdwmd th H-htt b muph dhijubg (phnptdh 3. winnuip):
Lult juypugyh, np H-p nu pninp Uhindjub p-thpwhidpbph puqinipymbb L
L |9 = n, = Imodp (plnpth 2. winnuip): Jdbpowwbu Juwwgnigdh twl
pbnptidh 4. winnudp:

Wyugnigtiip wydd, np juduwywud p-tipwhindp wupmbwlymd E $H-h
tlpwhiiptinhg dtynud: “hgnip K-0 p-thpwhunudp t, npp sh wqupmbwlymy $H-h
tbpwhiptiphg ng Utymu: K- gnpdmd £ H-h Ypw hoyp wybybu, hbswbu H-p
k € K quwppp pwinui £ H € $ bbpwpunuipp

k'Hk =k lg 'Hgk = (gk) " 'H(gk) € $

tbpwhidph dke: Fhgnip gnynipynih mbh 1 Gpupnipyub mntdhp, wjuhbph He
£, np kHk = H pninp k£ € K: buswbu Jtpp pipdud nuupnnmpymbbbpnid
K H-b thpwfunwip L, i
(K:1)(H:1)

(HNK :1)

5% Kﬁ—n p-tbpwhnuip £ Unu)l (f] 1) =p*u

(KH:1) =

(K:1) <
(ﬁﬂK:l)_

)

htplwpwp (KH : 1) > p* mptn (KH : 1) = p* b (K : 1) =
(HN K : 1): dbpehli hunjwuwpmpymihg funip b, np K € H high wihfuwup
E: Wyuwhuny, pninp mntdptph Gplupnigymbbbpp p-h nhujut wuyphtwbbtp G
U |9] = 0mod p, htgp Gnylbybu wihbwp t: Neplwpwn, ponp p-tGhpwhidpbpp
wyupmbwymu Gb $H-h Ghpwhdptinhg dbynud:

@Etnptdlh wyugnigud t:
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orpLuyLLN:

1. Qyugmgtilip, np @nptd 1.18-nui vwhdwijwd 7, phyp m-h pudwbwpwupb
L: %hgmp G punwipp gnpdmd £ hp Ghpwpudptph ypw htplywy Ytpy g € G
puppp pubnd £ H bbpwpunuipp g ' Hg thpwhudph dte: @tnptd 1.18-hg
whihowytiu pjunid t, np pninp Uhinyjub p-tbpwhudptipn juqinud G0 dky
nintidhp, huy judwyuyuit H Uphndjub p-tipwhidph uipuphp junudpp nu Gpu
inpiwthqupnp © Ny = {g € G|g ' Hg = H}: Miptih hwdwawyh (1.25)-h°
np = (G : Ng): WYmpht b upmgby, np m = (G : H) = (G : Ny)(Ny : H) U,
htipwpwp, m-p pudwiynud £ n,-h Ypu:

2. Wyugnightp, np tpt (G : 1) = 15, wyuw G hunuipp ghyhy & Yhgmp G
funudpp gnponwd £ hp Ghpwhudptph ypw wybytiu, hbswtu 1. ophtwynwd: dhgnip
H-p Upnyjub 5-thpwundph k, hul K-0 Uhynjub 3-thpwpindpp: NSaplwpwn
(K:1)=3,(H :1)=5u H-u m K-b ghyhy tb: Swdwdwjd @tnptd 1.12-p°
H-p tnpiwy £ G-my, nuph Ny = G U (G : Ng) = 1, wyuhbiptt Upinyyub
5-tiipwudptiph nintdhpp punuguwd t dhwyt H-hg b H-p dhwy 5-tbpwhuniipl
L: Upinyub 3-thpwhudptph nintdph tipupnipgniip hwjuwuwp t (G : Ng)-ht:
Munpq k, np (G : Ng) € {1,3,5,15} b @bnptd 1.18-h hwdwdwyh (G : Ng) =
1mod 3, muph (G : Ng) ¢ {3,5,15} NStyppbwpwp K- dhwy 3-thpwunudp L
Yhgnip k-0 K-h dhsh k, huy h-p H-h: Yhqupytibp kh-ny dtqwd (kh) ghyhy
thpwhinuipp G-mud: Whthwyp &, np £ € H U K, mupph kh-p sh wjunpunud
G-h U ng vh ubthwub Ghpwiudph, nptdh (kh) = G:
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2.1. Uwhdwiumdubp

Nhgnip A puqimpyul Jpu ppyud GO Gpym gnpdnnmpymb, npnbghg
wnwohlipn  Juijwiblp <gmiwpnui>, hull bpypnpnp  <puquiuupupynngs:
Swdwuyyupuuuwbwpuwp Gogupytip + b - Gpwbbbphg:

Uwhiwimd. (A4, +, -) hwdwlupgp Yngymd L onuly, bph

1. (A, +) hwdwlupgp phnuihnfubih undp £ (Ghwydnp qruppp tpwbwyynid
k£ 0-ny);

2. (ab)e = a(be);

3. A-mu gnjnipnil nibh gupp, npp wiwlyny 1-ny, wybyhuht, np Va € A
hwdwnp al = la = a;

4. (a+b)c=ac+bclualb+c)=ab+ac:

Gl wptinh mbh twl ab = ba wuwydwip A-h pninp qupptiph hwdwp, wyw
onuyp Yngymu L qplinuihnfubith:

Stnuthnjutiih onuyp Ynsynud £ puoy, tpt jnipupwisnin ns qpnjuyjub
qunp nuith hwunupd puyp puqdwyupyiwd, wyuhbpt' (Ve # 03b) ab = ba =
1:

Uotilip onuljiitiph th pwbh puppuljub, puyg Juplnp hwgpynipymb.

a) a0 = 0a = 0;

hujuyty, ¢ + a0 =al+a0 =  a(l+0)=al = a, muph a0 = 0;
hwdwawjt 4

83
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b) (—=1)a = —a;

a+(—1)a = la+(-1)a (1+(—1))a = 0a = 0, ntuyph (—1)a = —a:

Ny’
hwiwawyb 4

Wunthtip dhoyp hwdwiptop, np 0 # 1, pwlh np hwuowl nhypmd ¢ =
al = a0 = 0 U onwyh pninp uppbpp hwjwuwp to 0-h, wyuhbpt' A = {0}:

Wathnihtigny Ytpp Gpgwdp Jupbih £ wubg, np onuyp wyd hwipuwhwyyuub
hudwlupqb k, npmd Juptjh £ gnudwply, hwot] b pugqduwyunpytiy, hull puogpnd
twl pwdwbty:

orpLuyLLGN:

1. Yyniphl b uypmugtiy, np (Z, +, -)-p ptinuthnfutih onwly £ (nupw sk), huy (Q, +, -),
(R,+,-) b (C,+,-)-p nuotp b

2. Yhypuwpytbp (Zy,, +, -)-p, npupbin Z, -0 htswybu dhoy puyp mod n-h dhwgplbtph
nwutiph pwqimpymbt & Wohwy &, np (Z,, +,)-p phnuihnpubih onuy E:
bbswytiu ghptibp, Z,-md pup puqiuyupiuit hwunupd mobh dhwy wyh
ng qpnnjulijmb pupptipp, npnbip thnppownupdwpwp wupq o dnnnith htig:

3. iptdt (Zy,, +, -)-p qupy £ dhwyl, tpp n-p wupq phy & Lotibp (Z,,+,-)
onulh vh Juplunp hunpynipynil bu: dhgnip n = 6, myu 2-3 = 0 mod 6: Uuljuyh
ng 2 = 0mod 6 ng k| 3 = 0 mod 6, wjuhbipl wyh pwlthg, np puppbiph wppunpyup
hwjwuwn E qpnjh sh htipunud, np wpquinphsitiphg npuk dbyp gpnyuuib :

4. Lowbwytip Alz]-ny 2z (hmhnpuwuwih A  gpbnuihnfubih - onuijhg
gnpdwlhgbtpny pninp puquwbnuittph puquimpnip: Afz]-p pbnunfubih
onwly L pwquuwinudidtph unynpuluwd gnudwpdwd b puqiwuyuplyiub
Ojupiwdp:

5. n X n swhwih Juypphgbtph pwqunipmbp, npnig pupptpp A onuljhg
Ll, onwy Lk (ng phnuihnpubih) dunpphgibph gmiwpdwd b puqiwyunpliwb
Oupiwdp:

6. Yhiypupltip @ + bv/2 phuph pnnp pyYtph puqinegnibp, nppbn a-o W b-0
npughntwy pYbp Gh: dmpht £ hudnqyby, np wju puqinipmbp nuowyp k, tph
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gnuiwupnuip b puquuuyupnudp vwhdwbkip htiplywy Yhpy.

(a4 0V2)(c+dV?2) = (a+c) + (b+ d)V?2;
(a + bV2)(c + dV2) = (ac + 2bd) + (ad + be)V?2 :

7. %hqpupytbp (0,1) hupwdh yYpw pnnp wbpbnhug  $mbyghwibph
puqunmipiniip:  Wu  pwqunipyniip  yphnuthnputih onwly L $mibyghwbdbph
gnuiupiwl b puqiuyugpiub Gugpdudp:

2.2. Gupwonuljutip b onujuyhtt hninWnpdphquittp
Uwhdwmimy. A onuijh B tbpwpwuqinenip Yngjnd  Ghpwonuly, tpb

1. (B,+) < (A,+) — wyuhbpl, puyp gnidwpdwd B-0 A-h thpwhinudpl t;

2. 1€ B;

3. a,b € B=abe B —wjuhlplh, B-0 thuwy L puqiuyupjiud Gjugpdwdp:
Up ytpy wuwd, onuyh npuk Ghpwpuqinpimb Ghpwonwly L, btph

onuyh gnpdnnnipynbitph uvwhiwbuhwnudp py juy Gipwpwuqineub Ypu wyh
nunpabmu £ onuy:

Uwhdwimd. Yhgmp A;-p b As-O onuljobp Gb:
f Al = Ay wppuuyupbpnudp Yngdnid E onuijughtt hndndnpdhqd (Yud

ninuih hndndnpdhqd ) tiph

L f(0)=0, f(1)=1;

2. fla+0b) = f(a)+ f(b);

3. f(ab) = f(a)f(b):
Brt Jtpp tpjwd f wppuuugpytpnuip thnfjudhwpdbpnpbl wpgpuwugpjtpnid £
Aq1-p As-h Jpw, wyw wumd kb, np onuytpt hpwp hgninpd Go b f-p Yngfnud
L onuljuyht hgminpdhqu:

Qwuypnptl, Grt nhuyppytip dhuyb gnudwpdwb gnpdnnnieyniip, onuuyht
hnininpdhqup Yytpwdyh ppdptiph hndninpdhquh:
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bbgwtiu L puiptiph nhiypnd, wjunthtipt dtbp hpwphg skbp wqwpptiph
hanunpd onwltipp:

Snmpuwpwisjnip  hnindnpbhquih  htyp Juuyymd &0 htplyw; Gpgne
pwqunpymbttpp dhemyp'

kerf = {a € A1 | f(a) = 0}

U wunplytipp
Imf={be€ A2|(Ja € A1) f(a) =b} :

Yympht £ upnigli, np wuybpp Gopwonuwl kE: buljuwbtu, pwbh np
hnininpdhqup haiptiph hndninpdhqd £ gnidwpdwb gnponnnipjul djupdudp,
wyw wyupybpp twb pudpbph hnindnpdhquih wunpytin £, nugph U wyb
tipwhunudp £ (Imf, +) < (A2, +): Wythwyp E, np f(0) =0 f(1) =1 € Imf:
Gpt b1, by € Imf, wyuw Yqpiytb a; b ae wybwyhuht, np by = f(aq), be = f(a2):
Muwnq L, f(ara2) = f(a1)f(a2) = biba, mptild bibe € Imf U wunplbpp
thpwonwy E: hhswytiu b judptiph nhiwypnud, wnwig pnhwipnipnip fuwpapbyn,
hwpdwpnipyub hwdwp Jupnn Gop hwdwpty, np Imf = As:

Uhgnilyp sh Jupnn (hot) Ghpwonuy A;-mu, npnyhtiple f(1) =10 1 &€ ker f:
Uwluwyt (kerf,4+) < (A1,+), pwbh np dhomlp bwl hudptph hndnidnpdhquih
dhonijtr £ b thpwunuwip £ Aj-nm: Uhonithjh hwdwp yptinh mbh dh pwgp Guplinp
wuwjiwl, npl wybjh mdtin £ pwl tipwonuyh uwhdwidwb 3-pn wwydwin (thuy
1httb puyp pugqiuyugpyiub).

a€kerf, © € Ay = ax € kerf, xa € kerf : (2.1)

bujuutu, f(az) = f(a)f(z) = 0- f(z) = 0: W Ypy wuwd, dhenilp
wupnbwymd b hp quupptiph papnp wugphfotpp:

Uonpunuweiwdp hnindnpdhquh Juonigwdphi:

Yhgnip f: A = Imf wppuyuwpybpmdd onujuyht hndndnpdhqd t: Lwbh
np wyl twb hudpuyhtt hnindnpdphqd L gniwpdwb gnpdnnnipjub djunpdudp,
wyw hwiwdwyl hgninpdhquh dwuhb phnptdh’ upubnd Gbp, np (A/ ker f, +)
dwlypnp-funudpt hgninpd t (Imf, +) wunpytpht: bogytu ghptbp, A/ ker f
$ulppnp-fudiph prwppbint puy ker f-h hwpwyhg nuubpt GO, wyuhplt

a+kerf={a+z|xekerf}
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puqunipynibbbpp: 8nyg pwbp, np wyn nuubtipp ng thwyh Juptih £ gnidwpty, wyp
bwl Jupth £ puqiuwuyunyt:

Uwhdwbtbp hwpwlhg nuutinph wpypunpyup htplyw; pbwjub tnubwyny.
(a+kerf)(b+ kerf) = ab+ kerf: Upnighbp wju vwhiwbdwh Ynobljypnipynibp:
NYhgnip a1 € a+kerf, by € b+kerf: Ququgmghbp, np a1b; € ab+ ker f: Militilip,
np a; —a € ker f b by — b € ker f: Spliwpup,

a1b1 —ab= a1b1 — alb + alb —ab= al(bl - b) + (al - a)b
U hwdwawyb (2.1)-h a1 (b1 — b) € kerf, (a1 — a)b € ker f: Muypp’

arby —ab =ay1(by —b) + (a; — a)b € kerf

a1by € ab+ kerf :

Wuyhuny  (2.1) wuwydwip pny; qytg uwhdwih] hwpulhg nuubph
puquuyupynuip:  Nwuwpwly  Jupdmpymb b ougpmgl, np A/ kerf
dwypnp-punipp  hwinhuwbnd £ onuy hwpwlhg nwubph gndwpdwd b
puquuyupuub tupiuwdp: Wn onuyp jutjwitip uwlppnp-onulyy b wqupq
L, np gpnyuub pwppp qu 0 + ker f = ker f-0 &, huy dtyp 1 + ker f-0 L

Shotiip, np - (A/kerf,+), dwypnp-pwiph b (Imf,+) wuwpltiph
hgninpbhquid hpwlwbwgynd L dh g wppuyuypytpdwdp, npp uwhdwiynd k
htiplywy Yupy. g(a + kerf) = f(a): Lwih np uw puiptiph hgninpdhuq b, wuyw

g((a1 + kerf) + (ag + kerf)) = g(ay + kerf) + g(as + kerf),
9(0 +kerf) = g(kerf) = f(0) =0:
Swingqytip wydd, np g-b Gwl onuluwiht hqninpdhqd £ g(1 + kerf) =
f(y=1u
g((ay + kerf)(az + kerf)) = g(aras + kerf) =
flaraz) = f(a1)f(a2) = g(a1 + kerf)g(az + kerf) :
Wuwhuny wujugnigighip htuplywy winnidp.

Etnpbd 2.1. f : A — A onwlhuyph hnindnpdhqip nhwpnd Aq/ ker f
dwlppnp-onuill hqninpd LImf wuapllippl:
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2.3. bptwjubp

Uwhiwimd. A onuyh B thpwpuquinmpnip Ynsgymd £ dwfu hnbwg , tpb

1. (B,+) < (A,+) — wyuhbpl, puyp gmiwpiwd B-0 A-h tbpwhundp k;
2. BAC B, npypptn BA ={ax|a € B,z € A}:

Ldwl bnuiwyng uvwhdwiynd G0 we U tpyynniwbh hnbwbtipp: Ng
Fwluwd dwipwdwudbtph vbe sfunpuwliwnt hwdwp wyjunthtitpt Ynhypupytitp dhwgyh
ptnuthnjutith onuybtipp b onwl wtjwinudp Yopwbwhh plnuapnpuliph onul:
T ubiq pny| Yyrw shwnpt dwfu, we b pyynnuwth hntwbbph nbwptinp, pwih
np yphnuthnputiih onuybbkph hwdwp wyn tptp qunuthupbbpp hwdpbyond Go:
Wn yunpdwnny wyunthtipl Jogqupugnpdbip hnbwy wbwbnudp:

Quiwjwlui A onwl nmbh wnijuql tpynm hnbwg A-0 0 {0}-0: Wu
hnbtwbtipp Yngfmd &b pphyhwy hpwiitp, dtwgwd pninpp’ ng piphy hug:

Munmy 2.2. hgnip B-0 A onulih pnbwy E U guyniganil nibh o € B, npl
ntih hwlpunuwpd pup pugluwwuwapldwi: Gn nhwypnid B = A:

bpnp, 1 = aa™! € B hwiwdwjd hniwh vwhdwidwh 2. Yhph, niptad,
hwdiwdwyh Onyb 2. Ytph, B-ht L ygqupuimd twbe 1-h judwyuub wugphyp,
wyuhbpl Juiwjwub z € A hwdwp z =12 € B, niuph b B = A:

Ntyplhwbp. YFwrnpt mbh Jhuyh quyphyhwy hnbuyg bbip:

OrpLUYLG:

1. Yhqpupyttp wdpnne pyYtph Z onuyp: bhswytu ghwptip, puyp gnudwpdwib
bOipwhudptpt b pninp mZ = {mx |z € Z}, pbuph pwqimpmbitpp: Gph
mx € mZ W n € Z, wmyuw (mzx)n = m(xn), nnpbn xn € Z: Mptdh mZ -p
hntiwy t:

2. %hgnip A-0 nuoypn b Lopwbwyhip Afz]-nd z  thnthnjuwluih  wyb
puqiwinudttph onulp, npnig gnpdwlhgitpp A-hg Gh: %hgnip a € A:
Lowbwyttp F(a) = {f € Alz]|f(e) = 0}: Wuhbph, F(«)-U pnnp
puquwinuuibbph pwqimpembd £, npnbg hwdwp a-0 wpdwgp B Ynmipht |
uypnighy, np F(a)-b hnbiwy £ Afz]-mud:
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3. Yhgnip A-0 onwy k£ U aj,az,...,a, € A: Lpwbwytbp (ai,as,...,a,)-n]
htiplyw puqunpyman

{a1z1 + agzo + ... + apzy | 21,29, ..., 2 € A} :

(a1,a2,...,a,) -n hntiw £ A-nud:

bbogytiu phuwbp Gwpunpn pudind onujuht hndndnpdhquh dthonmlt hntiuyg
L @wupnptl hnbiwy (hbtp hwdwpdtip Ehndndnpbhqih dhoniyy jhotmb (wyuhtph
hntwbtipp fpwnmy b tnpdwy Ghpwdptph npt onuyitph nhiypnud):

QYhgmp B-0 A onuiyh hntwid & Yhypwpyhbp (A/B, +) Swlppnp-fundpp
(nhyuwpybng  dhwyt  gmuwpdwd  gnpdnnmpymbp): Shop wybybu, higybu
Junytighip dhonmyh nunmdbwuhpdwd nliypmd twpunpn pudimd uwhdwynid
L hwpwyhg nuwubph wppunpup (e + B)(b + B) = ab + B, L upmigymy
L wyn vwhdwidwd Ynotyypmpymip: Wahwpp &, np A/B-0 nueimd £ onuy
(ptnuithnfutih): Wuyhuny phubmd bbp, np tph B-0 A onuyh hntiw)b £, wyw
A/B-tu onuy L, wyuhbipti (a + B)(b + B) = ab + B pwtwalny uwhiwbymu
L puquuuyuypymip A/B-nid: Stnh mbh dwl hwlwowl winmdp. tpt A
onwyh npuk B tipwpwqinmpjud hwiwp (npp hwinhuwimyd £ bipwfundp pup
gnuiwpdwd) (a+ B)(b+ B) = ab+ B pwbwdlp vwhiwimd £ hwpwlihg nuubtph
wppunpu] b A/B-0 onuy L, wyw B-0 A onwyh hptuwgb b Pujulub k
uppnigh] hntiwh vwhdwbdwb 2. 4typp: Hhgmp a € B b € A: Mbkbp, np
(a + B)(x + B) = ax + B: Uulwjb a + B = B nuup A/B onuyh qpnb L,
htiplwpwp az + B-0 b hwjuwuwp £ qpnjh, wyjuhlpt’ ez + B = B: Lwih np
ar+ B =B < ar € Bupuind kip, npa € Bux € A= axr € B U hntwih
uwhdwbdwb 2. Ytypp uipnyq t:

Nhgnip wydd B-0 A onuyh hntiwh b fodptiph nbyph tdwb jupmghip
htiplyw; Juintwljut hndndnpdphqup.

f+A— A/B,
fla)=a+ B:

Quplitlp f-h dhoniyp.

a€kerf< fla)=0+B<a+B=B&a€B:
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Wuwhuny, kerf = B U jnipupwbgmp hntw; hwinhuwind b onuluwjhh
hnininpdhquph dhony:

2.4. Uwpuhdw] b yupq hnbwpbtp

Uwhdwimd. A onuih B hntwp Ynsymd L dwpupdwy, tpb wjl puihg, np C-0
Onybwtiu hpnbwy £ A-md b B C C htapmd &, np C' = A:

A onulh B hntuwp Yngynud £ wupq, tpb pbnh mbh htmplwp ab € B =
a € Blwibe B:

Quuyinplil dwpuhdw) hnbwp wybwhuh hntwg £ npp hbwpudnp gk plingplby
ubl wyy ng ypphyhwy hntiwgh dbe:

Muipq hntiwh qunuthwupp pugwhwpptn hwdwp obpdmodtip th onp W
owp Juplnp onuybtph nuu:

Uwhdwimd. A onuip Yngnmid k wnipnne, tipti ab=0=a¢ =0 Juu b = 0:

Gudwjwlwd nwoyp wdpnne onuy L Wipnne pdtiph L nplk nwowyphg
gnpdwyhgbtipny pwquubnuuibtinh onuytbpt wdpnne tu: Wipnne skt Uhwgplbph

nuubiph onwlitipp pununpjuy dnnnuh nwpnud (pbutip ophwl 2-p onwyitiph
uwhdwinuihg htipin phpgwd ophbwybtipmy ): Wipnne ¢kl bwl dwypphgbtiph

onulutpp’
01 01\ [(00})
00 00 00/
Wdd wpypugptitp yupg hnpbwh vwhdwidwb yuypdwbp htaplywy Yhpy.
ab+B=B=a+B=B Jqui b+B=B5B":
Uw hp htipphtt hwdwpdtp &

(a+B)(b+B)=0+B=a+B=0+B qui b+B=0+D8:

wuwydwbhi: Waghkng A/ B $wlypnp-onuyht’ wputmd tbp, np B-b wuipg hnbwy
L dhuyt b dhuyl wyl nypmy, tpp A/B-0 wdpnng L

Etnptd 2.3. Dwpupiiwy inbuwyp wwpq E:
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Wuyugnmyg. Yhgmp B-0 A onuyh dwpuphiwy hnbw@ £ ab € B: Gph a € B,
niptid B-0 wupg £ Yhgnip a € B: 8nyg qpnubp, np wyn nhiypmd b € B:

Guopmgtilp {a} U B pwqumpymip wwpmbwlynn thnppugnyl  hnbwp
A-mu: Wn pnbwgp whpp B wnbjuql wwpnibwyh pnnp ez qpbuph qruppbpp
Judwywlub x € A hudwp: Lwub wyb yhp £ ygupmbwyh pnnp ez 4+ y phuph
wpwppbipp, nuptin y € B: Yhpupytbp {ax + y|x € A,y € B} puqunpjnip,
npp Yopwbwytbp C-ny: Uypmghip, np C-0 hnbuy £ A-nud: Lwpu wipmgbp, np
C-0 thpwpunuip t pup gnudwpdwd

(az1 + 1) — (awy + y2) = a(xy — x2) + (y1 — y2) € C,

pwbh np y1 — y2 € B (B-b hptwy £): bptiwih vwhiwbdwb tpypnpn wwydwbp
upmgtiine hwdwp nhypwpybop (ax +y)z, nptin ez +y € C huly z € A: bkbp
(ax 4+ y)z = a(zxz) + yz: Uwuyh wybhwpp b, np 2z € A b yz € B, pwbh np
B-b hntiwy £ u y € B: Muyph, (az +y)z € C b C-b hnbiwy £ A-nud:

Mupq L, np B C C, pwbh np B-h pninp quuppbipp uipugymd G, tpb
ax + y-h dbe ptnunptitp £ = 0 pninp ¥y € B hwdwp: Lwlk wwupg k, np a € C,
pwigh a -1+ 0 € C: Cuyp thpunpmpjui ¢ ¢ B, mptdd B C C: Puyg B-O
Jwpuhdw) hntiwy E, htppwpup C = A w1 € C: Uqpiyth zg € A L yg € B
wyhyhuhl, np 1 = axg + yo:

Puquiuyuipytp Yyupohtt hujuwuwnpnipymbp b-ny” b = abxg + byg: Mbkbp,
np ab € B, mptdb abxg € B, pwlh np B-U hntiwyg E: Lnyh wuypdwnny b byg € B
u b= abxg + byo € B: Upnuguip, np b € B b ptnptdl wyugmgyud t:
Etnpbd 2.4. Npwhugh A onuhyp B hnbuwyp jhih duwpupiiuwy, wihpudbop b
U pufupun, np A/B dulppnp-onulip jhih nupp:
Wypugnyyg. Lwpu Goybkbp, ph his b pwbwymd A/B-h quoy (hbbip: A/B-0
pbnuthnjutith onwl L, nuypph wyd nuoyp £ dhuyt Geb wdth dh ng qpnyuljub
puwpp nbh hwunupd pup puqiduyupiub: A/B-h ng qpnyjuiub qruppbph
Ll a + B qtiuph wyl hwpwyhg pwppbpp, npnilg hwdwp a € B: Wb, np a + B-T
nbh hwunupg, bwiwymd b, np Ygpigh d6y wy; b + B hwpwyhg nuu, np
(a+B)(b+ B) = 14 B: Uuwjt (a+ B)(b+ B) = ab+ B, niptidt ab+B = 1+ B
L uw hwtwpdtp £ htgplyw) wwydwdhi

(Va & B)(3b)ab—1 € B :
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Wyuyhuny phtnptdh wyinnuip hwdwpdtip £ htigpljwihb.
B hntiwpp dwpuhdw b < (Va & B)(3b)ab—1 € B :

Ulgqrhg wwyuwgnightp wnwehlt dwup B hpbwp Wwpupiwy £ = (Va &
B)(3b)ab—1 € B:
NYhgnip a € B: Gunnighip htiplyw) hnbiwp’

C={ax+ylxeAyecB}:

Etnptd 2.3-nid wywgmgty Gop, np C-0 pnbwy £ U B € ¢ Lwbh np B-O
Jwpuhdwy £, wyw C' = A b Yqpytb zg € A4, yo € B, wybybiu np 1 = axg + yo:
Ntgpliwpwn, axg—1 = —yg € B U ytpghyny b = xg, wyugnigmd Lbp phnptdh
winiwd wnwehl dwup:

Wydud wyyugnightip phnptih winuwb tpypnpn dwup

(Va & B)(3b)ab — 1 € B = B hntwp dwpuhiuy L:

Yhgnip gnympynit mbh wybywhuh C hptiwyg, np B € C b a € C\B: Lwbh np
a ¢ B gqnympymb mbh b, np ab—1 € B: Uujuyt B C C, mwmph ab—1 € C: C-1
hntiwy £ a € C, mpwit ab € C U yupowwhu, 1 € C: Swdwdawy Mannud 2.2-h°
C = A L B-0 dwpuhduy hnbtuwy k:

Yhypwpytbp @Lnptd 2.4-h dh punp upbnp dwubunp nbiup:

Lwpu yupgtbp puquuinudbtph onuyitph hnbwbbtph juemgywdpn:

QYhgmp K-U nupp B Lowbwlhtbp K[z]-n z Gmhnfuwfubdh pnnp
puquubnuilbtph puquinipynilp, npnbg gnpdwhgitippn K guoyphg Go: Wythwyp
L, np K[z]-p pnuihnfubiih onuy b f(z) puqiwinuidh wuphéwip jupwbwybip
higytu dhoyp deg f(z)-n: bpt M-p hntw) b K[z]-md U wupmbwynod
L gnbt by hunp gpn wuphtwbh pwqiwinud, www, hwoyh wnbbny,
np puyp puqiuyunpiwbt hwunupd mbbh dhuyb gpnjuub wuyphtwbh
puqiuinuibtpp, hwdwdwyd Nanmy 2.2-h upugymd £, np M = Klz|: Ujnu
dwypwhtin nbwpb £, tpp M = {0}: Yhgmp M # K[z] U M # {0}: Wu nbhypmu
M-nd Ygipgp npujut wuppwih puqiuinud b, htplwpwp, wdtbwthnpn
npujul wuyphtwbh pwuqiwbinud b dqw gpn wuyphéwbh npul puqiwbnud:
Wdtibwthnpp npuiul wuphwith pwqiwinuip dhwyp sk, wyt npnpywd E
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hwuupni gnpdwygh Goypnipjudp: bujuwtu, hntwh vwhiwbniihg hgpund
L, np f(z) € M < M(x) € M, X # 0: Opwbugh npnpwlh
nupdbtp wdtbuwthnpp ppujubt wuphtwbh puqiwbnudh  phgppniegnian,
Juuwydwbwynpytilp  ybpgitiy  Gnpduwynpwd  puquwinudp, wjuhbpb  wjh
puquuinuup, nph z hnmhnpuwuih wdtbwpwpap wuphéwbh gnpdwyhgp 1 k:
Lowbwltbp f(z)-ny M hnbwh wikbwhnpp npujud wuph§wdh tnpdwynpwd
puquuinuip: bph 0 # g(x) € M, wyuw degg(x) > deg f(z): Pudwibip
g(z)-p f(x)-h Jypw g(x) = f(x)h(x) + r(x): [mphh £ pludb, np hwiwaw)b
hnbwh vwhdwbdwb 2-pn wwydwbh f(2)h(z) € M b hwiwdwyh 1-hb ywydwbh
r(z) = g(x) — f(x)g(z) € M: Gpt degr(x) > 0, wyu degr(x) < deg f(z)
M-p Yuwpmbwyh f(z)-h wuphéwihg thnpp npujut wuphwth puqiubnud,
hogh wbhtwp E: Mwuph, #(2) = 0 W g(x)-p puduwiymd £ f(x) -h ypuw wnwbg
dbwgnpnh: Mipbdh
M = {f()h(x) | h(x) € K[2]).

wyuhOph hntwp punugud £ wdkbuthnpp npujut wuphéwdh tnpdwynpud
pwquwinuih wwphybbtphg: Wuwhuh hntwibtpp (Gpp pninp ywpptipp dtiy
pupph wuphytipt Gb) Yngfnid Gb grhuwdnp hytwiotip, huy f(7) puqiwinudp
Yngmu k hntiwih dtnpn Yud dths: Wh nhiyptipmyd tpp M = Kz] yud M = {0},
hntiwbbpp Gnybwtu gjpowynp Gb, pwbh np S0Jwd G hwiwwuypuuprmbwpwp
10 0 puquwinuwudtpny:

Jbpwnuwpnbwbp @Ebtnptd  2.4-h Jwubwynp  nwphli:  Yhgnip  f(x)-0
wiybpwdtih puqiuwinud t (wyuhtip’ f(z) = g(x)h(z) = degg(x) = 0
Juwu degh(z) = 0) K[x]-hg: Hymphh L qbtubb, np htyplyw) puquinipgmbp’
(f) = {f(@)g(x)|g(x) € Klz]}, dwpuhdwy hntwy b K[z]-nud: Puljuubu
wphyhwy & onp (f)-p hnbwy B %hgmp wyl wwpmbwlgnd £ uky wy) hptiwh
dte (f) € M C Klz]: Lpwbwytbp g(x)-n M hntwih dtnpnp M = (g):
Nwnpq t, np f(z) € (9) = M, mptit f(z) = g(z)h(r): Uuuyb f(z)-0
wiytpwdtih £ U yud deg g(z) = 0 ud deg h(x) = 0: Gphl degh(z) = 0, wuyw
g(x) = fx)h " (z) € (f) b g(x)-ht wwphy puquwinudp Yihth wuphy bwl
f(z)-hb, huy nu Yopwbwyh, np (f) = M, hish withbwp t: iptdd, deg g(z) = 0:
Swiwdwy@ winmd 2.2-h" (9) = M = K[z|] b (f) hnpbwp dwpuhdwy E: Wdd
Yhpuntilp @tinptd 2.4-p (f) dwpuhdwy hntwht' Kz]/ f $ulpnp-onulp nwop
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L Wyth Ywipuwdwuld munidtwuhpttp K [z]/(f) nuogp: Wikh dh hwpulhg nuu
K[2]/(f)-hg muh htuplyuwy plupp

g9(x) + (f) = {9(z) + f(2)h(z) [ h(x) € K[z]} :

Mwnq E, np tpt 7(z)-p g(z)-h f(2)-h Ypw pudwiting upugwd dhwgnpnb k,
wwyw g(z) = f(z)s(z) +r(z) L

9(x) + f(x)h(z) = f(z)s(x) + r(x) + f(2)h(z) = r(z) + f(x)(s(x) + h(z)) :

uptdt, g(z) + (f) = r(@) + (f) & K[z]/(f)-hg mipwpwbgnip hwpwyhg
nuumd Jupkih b oplppkp wybwhuh Gbplugwugmghs, npp Jud 0-0 £ ((f)-h
ntiypnd), Juwd b dh pwqiwbnud £, nph wuphSwdp f(z)-h wuphéwbhg
thnpp £ Wuwhuny K[2]/(f) nwaph wywppbp &0 r(z) + (f) hwpuyhg
nuutpp, npptin 7(z)-p Jud 0-0 & Yud b Kfz]-h f(z)-h wuphGwihg thnpp
wuyphtwb mbtgnn Juiwjuwlub pwqiwinud b Wn gquonpb wbhwppnpbb
hgninpd L htgplyw; wydbtih dJwgpstih 0Qupugpnieyni nudbignn gupyhb:
QYhgnip n = deg f(x): Lowbwytip Ky[z] -ny K[z]-h pwqiwbnudbbph
pwqumpjnilip, npnig wuyphfwbdbpp thnpp b n-hg: Wythwyy , np K[z]/(f)
nupph pupptiph b Ky[z]-h dhol Yuptih b hpwjwiwgtly thnpudhwpdtip
hwiwywypuupwibgnd anybwgbng r(x) + f(z) hwpuyhg nuubtpp r(x)
puquwinuibtpht: K,[z]-h Ypw pbwuinptb npnpymd G puqiubnudtph
pup mod f(z)-h gniwpiwd b puqiuyupiui gnpdnnmpynibbtpp, npnip
onuwyh Yuomgyuwdp bl vwhiwbnd K, [z]-h Jpu: dbpp Gpqwd thnfudhwupdbp
hwdwywypuuuwibtgnuit hpwuwiwgind © hgninpbhqy Kz /(f)-h W K, [z]-h
dholi: Mruph Kp[2]-p nuow L

Unbpbyppugbtng @tnptd 2.4-h Jtpp 0qupugpuwo dwubwdnp ntiyph
qiluuninp hntiwgh dtnppp’ f(r) wiytpwdtih pwquwinwidh phupp’ Yupbih k
(ot dh pwpp Jupunpugnyb fubnhpbtpn: Upnple ynhgpupltiop wynuhuhp tpbp
onhbwy:
OrpLUYLE:
1. bagwhu huppth t f(z) = 22 + 1 € R[z] puqiwinuip (hhptitip, np R-ny

Dpwlwlty tp hpuhwd pytph, huy C-ny Yndwitipu pytph nupyptpp) smih
hpuyut wpdunp: @npakbp (@-Lnptd 2.4-h oqlnipyudp Junnigt] hpwlwb pytpp
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nuwomnh wybyhuh pbnuynud, npnud 22 +1 puquuinuip §mbkiu wpduyp: Wn
byuwipuyny juemgttp Kfz]/(f) W Kylz] nwopbpp, npnlip qyjw) phiypnid
Yihtiti R[z] /(2 4+1) U Ro[z] nuopbipp: Ynipht £ oupugpty Re[2]-h yrwpptipp:
Ro[z] = {a+bx|a,b € R} b hwpyh wnbbiny

z? = —1mod (2% + 1) (2.2)

wnhgnipjmin onulwyht gnpdnnnipymbitnt puyp mod (22 + 1)-h Gupupynud Lo
htaplyuy Ytipy.

(a1 + bix) + (a2 + bax) = (a1 + a2) + (b1 + b2)x

(2.3)
(a1 + bi1x) + (ag + box) = (arag — biba) + (a1b2 + agby)x :

Ujniu Ynnihg wwpq k np R-0 hgninpd b Ry[z]-h a + 0z wphuph
puquwinuittiph tipwnwopht: Wuhpl Rofz] nwopp Yupbih b nhpupyt
nputiu hpwlwi pytph nugph phnpuyimd b y2 + 1 € Rofz][y]: Wu tinp nupypnud
y2 + 1 puquwinudt mbh Gpyne wpdwy (wuipg b, np wybih punp wpdwy (hitkg
sh Yupnn): Puljuwbu, nhypuplbop Ro(z]-h htaplywy puppp0 + Lz: Shoyp &, np

0+ 12)% = (0 + 12)(0 + 1) = -1
hwdwawgb (2.2)

b (04 12)2 +1 = 0, wyuhtiph 0 + lz-p % + 1 (wupq L np Dwl 22 +
1) puquwinuih wpdwyp@ B Uynie wpdwgpp 0 — 1z-0 b Qwuypnptb dkbp
Junmgbghlp Yndytpu pytiph C nuowpp, pwth np wybhwyy &, np a + b —
a + br hwiwyuwypuupiwibgndp vwhiwind £ hgndnpbhqd C-h b Ra[z]-h
uholi: ®nfuwphbbyny = Gpwbp Yund dhwynph ¢ Gpwbny (2.3)-p Ybpuwdymy k
Uniyipu pyYtph gniwpdwb b puquuuyugpiub pubwdabbpht: Wu ophbuyp
owy nwuwdbbijh £ owyl wonudny, np dbq hwonnytg ptwlub duny (wnwbg Yund
dhwynph npuk ypuwgujub qunuthup dbpdndtine b npuyjbiu npue hhdwynpnid
pnjwinuiwihg djiwpwinpmb thigptne) pgwybtp hpwlub pytph nugp,
ulnubwny Yndwtipu pytinh nuoypn: Wuwhuny, dtip uipuguip shuwpwun tnubwy
PYwjht nuonh wytyhuh ponuybdwd Juengdwb hwdiwp, npnd iy jup wpdug
sniitignn puquutnudt nubth wpdunpbtip:

2. Wu ophtwlynud f(z) = 22 — 2 € Q[z] (wyuptin Q-0 nwghniwy pYtph nupph
E): Mupq k, np 22 — 2-p smbh pwghniw] wpdwyp: Ghpunkny @bnpbd 2.4-p
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upuimd tip Q-h Qzlz] = {a + bzx|a,b € Q} phnuytnuip: Wu nupgpnud
gnpdnnmpymbdtpp Juypupynd G0 htgplyw Yepy (hwpdh webbng 2 =
2mod (22 — 2) wnlgnipyniip).

(a1 + b1z) + (ag + baz) = (a1 + a2) + (b1 + b2)x
(a1 + b1z) + (a2 + bex) = (ara2 — 2b1b2) + (a1b2 + agby)x

Yhypupytibp y2—2 puquubnuip: Wo mh wpdwp Qefz]-mu” 041z pnwppp:
buljuytiu
0+ 1z)(0+1z) =2

U (0+1z)? -2 =0:

dwuynptib, dhip Gunmgtighp ¢ + bv2, a,b € Q pytph pwnwlniuwjhi
nuoyp (z-p hudwwyupuuppwbnud b /2 pwihi): Wu ophbwymd bu, ogyytiny
dhwjwp tnuwbwyhg, jupnnuguip poryuwjbt) nwghnbwy pytiph nuopd wybubu,
np 2?2 — 2 pwquiwinuit mitiw wpdugp U Gokn] nwghniw] pYtphg
Otipdmotightip V2 hnwghntuy phyp:
3. (bnptd 2.4-h dbY wy Jupunp Ghpwnenyeyjud ophtmyy Yyptubtibp ytpowynp

nuownptinh Junnigdwb dudwbwy:

2.5. Lwinpputiph onuljutp b nuowpnbkp

Lwpnpny  ophtwlbbpmd  wgpbuwbp, pht hbhsybu Gotny gppqud  onuljhg
Jud nupyphg @tnptd 2.4-h oghmpjuip Jupbih £ uomgl] Jbapehtttiphu
nonwytnudtbpp: Yhypupytiop ddwb dh hpwyhwly: Yhgmp ppjud £ 2z—3 € Z[x]
puqiuinudp: Qybthwyyp b, np wyn puqidwinudp smbh wpdugp Z-nd: Uwjuyh
wyl nuth pwghniiwy wpdug %: Wdu yptivbititp, ph hbsytiu Jupbih £ upuinupy
tnubwlyny Jurmgby ppjwd onuih phyuybnuip dhigh nuoy, dwubuynpuubiu
Yunnigly nwghnbwy pytiph nwyp:

Nhgnip A- phnuthnjubih onuy kb S-b onuyh wyhughuh Ghpwpuqdnipnih
L, nph hwdwp 0 € S, 1 € S b uypnyq L

a,beS=abes

wuwydwbp, wjuhtph S-p tGhwy b puqiuyupiut  aqugpdwdp  (wynuyhuh
pwqumpnbibpt pbnmidwd £ wijuwit] dninhpibp jud Yhuwhodpbp): A X
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S nhjupyyud wppunpuih Yypu 0bpdmdtip htplyw; ~ hwdwpdtpmpjub
hwpwptipnienibp.
(a,s) >~ (b,t) & Ipe S, npplat —bs) =0 :
Uw huljuytiu hwdwpdtipnigjud hwpwpbpnienib £, pwbh np
1. (a,s) ~ (a,s);
2. (a,s) ~ (b,t) = (b,t) ~ (a,s);
3. (a,s) ~ (bt) u (b,t) >~ (c,r) = (a,s) ~ (c,7):

Wnwohli tipynt hwpynmpynibdbnt wythwyyp Go: Qyugnigtilp Gppnpnp,
mbtbp (a,s) ~ (b,t) b (b,t) ~ (¢,r) = Ip,q € S, np plat —bs) = 0 L
q(br — ct) = 0: Wupbinhg phund &, np prqg(at — bs) = 0 b gsp(br — ct) = 0O:
Qnuiwplyny Ytpohtl tpynt hwjwuwpnipymbbbpp upubnd Ghp

pgt(ar —ecs) =0 = (a,s) ~ (c,7) :

Lowbwltilp  ¢-n (a,s)-h hwdwpdtipmpjub  nuup, hul S~1A-ny
hwdwpdtipnipyjul nuutiph puqunieyniin:

S~ A puqunipynibp Juptih b nupabl; onul uwhiwibing gnudwpdwh b
puquuyupuul gnpdnnnipymbbbp:

Uwhdwdtlp gnudwpnuip b pwquuuyupynudp hbgplyuy phwlub
pwbwaubtpny.

a b at+bs
STET T
a b_ab.
s t st

Lwlh np gnpd mbkbp hwdwpdtipnipjul nuubtph htiy, wthpwdbon £ uypnigly

gnponnnipynbbitiph Ynntypnpynibp: Ujutibp gndwpnidhg: “hgnip % = ‘;—1 b
b= %: Uuugmighilip, np ¢ + & = o+ % wyuhlplh 4Ebs = abithisi, phpp

t s1ty

dp,q € Snpp(asi—ays) = 0 q(bty—bit) = 0: Stplwpwin pgtt(asy—as) =0
L pgssy(bty —bit) = 0: Gmuiwpbny Ytipohtt hwjwuwpnudph we U dwu Ywubkipp
Juypubwbp

0 = pqttiasy — pqttiars + pgssibt;y — pgssibit =

at + bs - altl + b181 .
st a 81t1 '

pg((at + bs)sity — (art; + bisy)st) =
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Puquuyupiud hudwp' ¢ = £ 0 % = % wuydwbibphg uypuinmd tip,

S1
np
p,q €S, plas; —ays) =0 W q(bty —bit) =0:

Stplwpwp pgbti(asy — ars) = 0 b pgais(bty — bit) = 0: Gnudwpbyny Ytipeht
hwjwuwpmuibtph we b dwh vwubpp uypuimy Gop

0 = pqabsit; — pqaibst; + pqaibst; — pgaibist =

ab a1b
pq(absity — arbyst) = —— = —+ 1 .
st s1t1

at a

Tympht E oupnmgly, np puqiwyugpiud hwdwp wpnyq £ 5 =

@ |

ynmpnpuyobkph Ypwpiwb pwbwalin:

Jtpgbbny % u % nuubtipp hwdwyuwpuwuhiwbwpwnp npytiu qpn b Uk,
nynipht £ huwdngyty, np S7'A-0 qtnutnputih onul E Wh Yngmy E
pwitnpnbbtph onul:

Yhwpuwpytip ¢ phuph ypwpptiphg  Juqujuwd  bhpwonulp S™1 A-nu:

a

Uwhdwitilip ¢ hnindnpbhquip A-hg ntiyh wyn thpwonulp npytu ¢(a) = §:
Wo ntagpmd, tpp A onult wipnne bt ¢(a) = ¢(b) = § = % = a =0
I ¢ hnininpdhqup thnjushwpdtipnptil Gipnimd £ A-o S~1A-h dtio: Wuhhph
unipnne onuiljh nhiwpmu A-i Guptih £ inybwgoty S~ A-mu 1 |ptiuph ppupptiphg
Juquywd Lhpwonwlh htap b thwuypnphd S~'A-0 hwinhuwinud £ A onulh
nonuwybnud:

Gpt A wipnne onuymu ytpgutop S = A\{0}, wuyw S~'A-h pnnp ng
qpnywlub puwpptipp mitbwd hwjunupabbtp pup puqiuougppiut’ - 2 =
== %: Upuibnud Lop, np wyu nhypnd S™1A-0 qupyp £ puinpnitiph nuipy,

npp A onuyh plnuytnud £: Uwubwynp nhiypnd, tpp A = Z pwbnpnibph nuoyp
nwghnbwy pytph nuownd E:

2.6. Qnpoénnnipeymuutp hntwbitph tljuypiudp

Yhgnip A-U qpinuthnputiih onwy £ huy Bi-p b Bo-p hntiwbtp G A-nud:
Yymiphtt £ uwpnigl, np B1 N Ba-p phntwy o A-nud: Wkiho, hnbwbbph

Juiwjwhwb B;, @ € I plippubhph hwdiwp () B;-U hnbwy L
el
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bntwttph wpyunpyuy £ Ynggmy htplyw) puqunipymiap
Bi1By ={z1y1+ ...+ zpyn|n € Nyx; € By,y; € Bo,i=1,...,n},

npptin N-p phwub pytph puquimpnab t: Ugpmgkip, np B Bo-p hntwg E: Gph
Y1+ ... Fxpyn € B1Bo U 21wy + ... 4+ 2wy, € By By, wyqu bpwhwlbiny

uubtnud Lop
TIY1L + oo F Tuyn — (101 + .o+ 2 W) = T1Y1 + - -« + TntmUntms
npptin 7; € By, §; € Bo, i = 1,...,n+ m: Muph
T1Y1 + ..o+ Tuyn — (2101 + ...+ Zpwy) € B1By -

Ujnwu Ynnuhg, tiph
T1y1 + ...+ xpyn € B1Bo

b ze A uyu
2@y + -+ Tpyn) = 2(@)y1 + -+ (220)Yn
Lwbh np Bi-p hnbwy E zz; € By, i =1,...,n: ipbdl
2(x1y1 4+ - F xpyn) = 2(x1)y1 + ... + (220)yn € B1Bsy :
bntwbtiph wpypunpyup dhoy paud E hugpdwb dhbe.
BBy C Bi N By (2.4)

buuubu, Gpt 191 + ... + zhy, € Bi1Bo W x; € By, y; € Bo, i =1,...,n,
wyjw Jnipupwlsnip z;y; wppunpuip yquipuimd b ph Bi-ht U ph B-hi:
Quuph z1y1 + - .. + Tpyp-n uipudmd L b Bi-hb b Be-hl, mptdh b By N



U. Ytipuwbjwh 100

Bs-hti: Wythwyy &, np (2.4) pwbwdbp qbnh nbh twb hnbw@bph udwjuyub

ytipowynp pqpubhph hwdwp:
bntwttph gnudwp t Yngmd htigplyw puqunipyniap

By + By ={r+y|z € B,y € Ba},

nnb hntiwy £ bujuybu, tpb 21 4+ y1-p U 22 + y2-p wupuind th By 4 Be-hi,

wyw
(1 +y1) — (r2+92) = (1 —22) + (11 —y2) € B1 + B2 :
—_—— —\—
€B1 €B>
Luwl tph  +y € By + By, wyuw 2(x +y) = 2z + 2y € By + Bo:
~—
€81 €Bsg

2.7. Utwgputiph dwuht «<shtiwjui> phnpkdp

@bnpbd 2.5. Yhgnip A-b pkpuapnpuligh onwly i By, ..., B, inhwbhbpnp
impounupdwpun wwnpq ki wyupbpl i # j = B; + Bj = A: Lupuwybu
npluppyuwd huwdwywlpuwh m huap yi, ..., %n € A yuupphphg lpuguywd
hwyjwpwonith hwdwp guupmih mibph x € A wbhwhupb, np v — y; € By,

i=1,2,...,m:

Wuugnyg. @tnpbdp juuyugnigtitp hanmyghwyny puyp m-h:

Yhgnip m = 2: Lwbh np By + By = A gnymippyni kb 1 € By W 29 € Bo,
np 1 + x2 = 1: Quomghlp z = z1y2 + 2291 puppp U hwdngqyklp, np x-p
pujwpupnud | phnptidh windwbp: bujuwbu,

r—y1 =mz1y2 + (22 — )y1 = x1(y2 — y1) € Br:

Uhdtpphynipyniithg plunid k&, np ¢ — y2 € Ba:

“thgmp phtinpbdh winmdp hoy E, Gpl hntwiitph pwbwyp thnpp t m-hg
(m > 2): Wyugnighlp phnptidp m hwg hnbwbph nhiwypnud:

Nwiwdw)t ptnptdh wuwydwbbbph nibbbp

Bi+B=A
Bl—l-Bg:A

Bi+B,=A
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u Ygpiytb aq,...,am-1 € B1, by € By, by € Bs, ..., b,,_1 € B, wyliyghuhl, np
a1+ b =1,
as + by = 1,

m—1 +bp—1=1:

Puquiuyunpybny  Jtpoht hwjwuwpnipymbibph we U dwhi Jwubpp
m—1

upuind kbp' 1 = 'H1 (a; + b;): Jdbipoht wppunpyuih thwlugdtpp pughng
Jupubiwmbp a; U b;ftnumnhnh wnyunpuibbph  gnudwp, pbn npmud ponp
wppunpubbpp, pugh dtyhg bibs ... by —1-hg Juupmbwlbl wpbjuqb dhy
hunp a; : Wbthwyyp &, np pnjnp wpupuinpyubtipp, np yqupnmbowynd &b npuk a;
yupp b, htpliwpwp, npubg gnudwpp wuypuimd £ By hntughh: Lywbwytbp
wyn gnidwpp a-ny: Ujmu Ynnihg b1bs ... bpn—1 wppunpuyp wupubmd
L BeBs...By, hnptwht hwdwdwl hnbwiibph wppunpuih vwhdwbdwb:
Swiwdwjb (2.4) pwbwalp’

BsBs...B,, CByNBsN...NB,

biby...byyp1 € BoNBsN...N By, :

Lowlbwkbp b1bs . . . by—1 wppunpuyp b-ny: Lhpp pwpunpjudhg ugputinid tbp,
npl=a+b,a€ By,be BoNB3N...N B,,: Upwbhg plunid t, np By + (B2 N
Bsn...N By) = A L ptnptdh wonmup Yhpuntih £ By bW Be N B3N ...N By,
hnbwbtiph ntiypnud, pwbh np hinmyphy Gbpwunpnipyudp phnptidp 6hoy L, tepb
thnfuwnwpdwpwp wunpg hntiwidtph pwiwyp’ gy jwg nbwpnid 2-p thnpp £ m-hg:
Clpptitp y1 =1 b y2 = 0 quupptipp b Yhpwetlp phnpbdp 2 thnfuwnwpdwpwp
uyunpg B1 W Bo N BgN...N B, hptiwitiph ghiypnud Yqupigh 7 wybuyhuhb, np
r1—1eBiluz;—0=2z; € BoNB3N...N B,: Quyhuny, dtlp Jupnigkhghlp
wybwhuh 21 qupp, np

z1—1€ By

T1 € By

T € Bs

r1 € By, :
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®npuwphibing hwonppupwp Bi-p Be-ny, Bs-ny ... ybpp Yhpungwd
tnubwyny YYunmghbp z2,23,...,2T, puppbpp, wjbybu np jnipupwbsjnip
t=1,2,...,m hudwp ptinh nbh.

z; — 1€ B; (25)
Vj#ixiEBj: '

Jbhpwnuwnwdp ptnptidh wwywgmgdwbip m hwuyp hntwgbtph pliypnid:
Ogqupityny Juwomgwd z1,x2,x3,...,Tn U pbnptdh yguwydwbdbpnd ppud

Y1, Y2, Y3, - - - » Y uppliphg’ Gunmgtip @ = x1y1 + T2y2 + . .. + TyYm Puppn
U hwpytiip

m

T—Yi=T1Y1 +T2Y2 + ...+ Ty — Yi = ijyj-i-(wi— Ly :
j=1
J#i

m
Swiwdwyh (2.5)-h" 2; € By, Vj # i bmptdh ) z;y; € B;: Ll hwdwaw)h
j=1

i
(2.5)-h #; — 1 € B; b (x; — 1)y; € B;: Wuhliph z — y; € B; jnpupwbgjnip

i€ {1,2,...,m} hwiwp b pnptdl wywgnigyud k:

NGyplhwbap 1. Lhuwpblp np A x A X --- x A = A™ nhjumpyub wppunpjup

m
htipppnipyudp Jupbih L pupablp phnuthnputih onuil), uwhdwbbing npuw
puppbiph’ (Y1, 92, -+, Ym) hwjwpwdmbtph  Guypdwdp  YnnpphGwy  wn
Ynnpnhtwp gnidwpdwt b puqiuuyupuwub gnpdnnnigymabtpp.

(3/173/27-~-7Z/m)+(21;227---72m) = (3/1+21792+Z27-~~73/m+2m>

(y17y27 <. 7ym) : (Zla 22y - .,Zm) = (y1217y2227 <o 7ymzm> :

Yypht £ ouypnmgly, np pujwpupuws Gb onwih uwhdwbdwb pnnp
wuwydwddtpp b A™ onuyh dtyo m qpnd hwiwywypuwupwbwpwp (1,1,...,1) b
(0,0, ...,0) hwjwpwdnilitinb h[l:m

Wdd  nhpupyip A/ iOI Bi  dulpnp-onuyp:  Yhgmp  ppywd
(y1,Y2, -+, Ym) hwjuwpwdnmhlt hwdwywypuuppwimyd &b Gpyne  quupptip’
z1 U z9, np pujwpupnd kb phnptdh woundwop.

r1—y, €8, 1=1,2,...,m;
To—y; €B;, 1=1,2,....,m:
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u[uihgluu]hu uyunpg L, np 1 — 29 € B, ¢ = 1,2,...,m L nphdl
X1 — Tg € ﬂ B;: Wuhtpl, z1-p b zo-p hwdwwwpuuppwind &b qpywd

(Y1, 92, - - - ,ym) -ht, dhwyt b dhwyb wJﬁ ntiypnud, Gpp z1-p b 22-p Wupuiind
bl Jhubnyb hwpwlihg npuuphb pup ﬂ B;-h: Ujnwu Ynnihg, tpb y; — 2; € B;,
= 1,2,...,m, wyuhlipll y;-0 L zZ ﬁ dhliinyt hwpwihg nuuhg O pup B;,

wuyw
r—y; €8, 1=1,2,.. m=>zx—2z € B, 1=1,2,....,m:

m
Wuyhuny, upuind Gop thnfudhwpdtp hwiwyupuupiwibgnd A/ () B,

=1

(A/By) x ... x (A/Bp) HA/B

onuyitiph dholu: W hwdwwyunpuujuwbinudt hgninpdhqu £: bujuytiu, nhgnip
m m
f:A/(Bi—]]A/Bi,
i=1 i=1

nppbin
(l‘—l—ﬂB) (r+ Bi,...,x+ Bp) :

Guiwjwljub

m
(Y1 + B1, ..., ym + Bm) € [ A/B;
i=1

hwdwp hwdwauyb @hnpbd 2.5-h° gnynipymb mbh ¢ € A wyhwhuhb, np 2+ B; =
yi + By, i =1,2,...,m: Niplwpwn

<:1:—i—ﬂ ) (x+Bi1,...,x+Bp) =1+ B1,...,Ym + Bn) :

m
Wuwhuny, Yuidwjwlub pupp H1 A/B; -hg mbh Gwhwwupltp (wnwhuh
ntiyptipmy wumd b, np f wppuyugpytponudp unpgbipgphy E):
m
Yhgnip f (a: + N Bi) = (B1,...,Bp): Mupq L, np
i=1

(.%'—i—Bl,...,a}—i-Bm):(Bl,...,Bm)
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m
Wz+B;=DB;,i=12...,m: wuph, z € B, i =1,2,....muz € () B
i=1
m

Stpliwpwp, kerf = () B; b f wppuuupytipnudp thinfudhwpdtip £ (hiyklyphy
=1

m
b): Wyugmglightip, np f-p thnfudhwpdtipnpbl wpgpuwupltpnud £ A/ () Bi-p
i=1

m
A/B;-h ypw: Ympht £ wpmgt, np

i=1
S <<$1+ ﬁ&) + <$2+ ﬁ&)) =f <($1+$2+ ﬁ&)) =
i=1 i=1 i=1

((ml—|—x2)—|—Bl,...,(ac1—|—x2)—|—Bm)):
((:L‘l—I—Bl)+(:L“Q—I-Bl),...,(xl+Bm)+($2+Bm)) =
(x1+B1,...,:L’1+Bm)+($2+Bl,...,$2+Bm):

f<$1+ﬂ3i> +f<$2+ﬂ3i>
i=1 1=1

b idwbwybu’

(((m) (o)) = (oim) rloeD)

m
Wuuwghuny wwwgnigtightip, np ytipp tpdwd f wppugqunpytipnudp A/ ﬂl B;
i

u [[ A/B; onuyttiph hqninpdhqd t:
=1

NGyplhwap 2. Lwpnpn hplwipmd  vwhdwbwd [ wppuogugplbpnoip
m

Yhpunttp =¥ + (N B; pwpphl.
i=1

1=

f<xk+ﬂBi>:f (x—i—ﬂBi) :(f(erﬂBi)) =
=1 =1 =1
(z+ By,...,x+ Bp)" = (xk—FBl,...,xk—FBm):

Wuhbpt, tpbt  (y1,¥2,...,Ym) hwjupwdnhl, pup Gbnptd  2.5-h,
huwdwyupuuppw@nd £z quppp, wgue (yF,95,...,95)  hwgupwdnht
hudwyuwgpuupowbmd zk-t: Wu thwupt mbh twb mnnuijh wywugnyyg: Mibkbp
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x—y; € B;,1=1,2,...,m: OqpuJulp huppbh pwbwéalhg
— 1
ab—yf = (@ —y)Y 2Ty

Lwbh np x — y; € B;, wyu hr}hwlﬁhph uwhdwbnuihg htapund k, np

k k— 1 .
T fyz (x —y;) E T 7] B;,, i=12,....m

2.8. Utimgpubiph vwuhtt <shttwljuti> plinptidh npny dwutiwynp nwypkp

(3tinptd 2.5-h dwubwynp nhyptipt 6o wdipnne pYtph b puqiutnudttiph hwdiwp
hwyypth pinpbdbbtpp:

Nhgnip A onup wdpnne pYtph Z onwilt t: boswybtiu ghiptibp jnipupwbsnip
hntiw] Z-nid d0dwd L vty quppnyd, wyuhlpl punugwd L npnpulh wdpnne
pUh pninp wuphlbtiphg: Gpine hntiwgbtiph thnpownwpdwpwp wwpg hotp
hwdwndtip £ hntiwbbtiph dthsttiph thnpuwnupdwpwn wung (hbotnea: Saplowpwnp,
tpt B; = {kiz|z € Z}, i = 1,2,...,m, wyw @bnptd 2.5-h i # j =
B; + B; = A wuwydwbb pnmbnd £ i # j = (21,20 € Z)kiz; + kjor; = 1
wptiupp, npb hp htppht hwdwpdtp © @ # j = (ki k;) = 1 wwydwbhb
(wyuptin (K, k5)-0 wikbudtd pinhwinp pwdwiwpwpb b): Qoph, wdpnng
prYEph ntiypnd @Gtinpbd 2.5-0 pnmbmyd £ htaplyw) pbupnp.

Yhgnip ki, ko, . .., kny pbapn hnjuunupdwpwp wunpg ki Guduwywlpub
Y1, Y2, - - - » Ym PYLPA huwjwpwonih hwdwp guynigynih nibph wyhwyhup x phy,
npr=y;modk;, i=1,2,...,m

Lwih np puquuinuidtph (npnbg gnpdwlhgbtipt K nuoyphg tb) K|x]
onuynd hntwibtpp dtymd Lo dhy ypwpph dhongny (hntwih wikbwhnpp
npulud wuphwbh puqiwinudny), wyw hnbw bbph hnfuwupdwpwp wupg
1htbip wyu phypnd bu hwdwpdbp b hptwbtph dbhsbtiph thnpuwnwpdwpwn
wupqg (hobmb: @bnptd 2.5-p pwupunpymd L hplywy Yepy.

Hhgnip fi(z), fo(z), .., fn(®) i pdwpwn e
rwquwbinwidihp ki K[z onwlnid: Guabwywlwi hy(z), he(x), ... hy(x) €
Klz] pwquwblnwdibph hwibwp quniggni nibh wbwypup g(z) € Klz]
puwqwbhnwd, np g(x) = h;mod fi(x), i =1,2,...,m
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Yhpupytop Ehnptd 2.5-h dby wy npwgpuy dwubwynp nhyp K [z] onuih

hwdwp: dhputip hpwphg pupptip m hwyp K nquogph 17{711111[1[111[1\ a1,a2,...,0Qn:
Lowbwltblp fi(x) =2 —ai,i=1,2,...,m U f(z) = [[(z — a;): Wqbhwpp L,
np popnp f;(2z) puqiwinuddbpp thnjuwnupawpwn ulul;l:ql L Wdd dhputip K
nuoph npuk by, ba, . . ., by, pupptip, npntig Ynhypupytop npytiu puqiubtnudbbp:
Swiwdwy@ @tnptd 2.5-h" gnympymb mbh g(z) € K[z], np g(z) = b; mod (z —
a;), i = 1,2,...,m: Uuuyd wupq t dwb (Ptgmh ptnptdhg), np g(z) =

g(a;) mod (x — a;), nuuyh
g(ai) :bi, i:1,2,...,m: (2.6)

m m
Wu nhypmu Ntplwbp 1-nd nphpupyywd () B; hntwp f(z) = [[(z — ;)
i=1 ;
puquuinuiny diJwd hntiwb &, wyuhbph’

ﬂ Bi = {f(x)g(x) | g(x) € Kz]} :

Swiwdw)@ Ntyplwbp 1-h° g(z)-p dhwyb Lk ﬁ B; Gyqpnmipjudp, wjuhbpl pninp
puwquubnuubtipp, npnip pujwpwpnd Go 721.6) wuwjdwbht htplywy phuph
L0 g(x) + f(2)g(z) L wupuimd b g(x)-h hwpwyhg nuuht pup f(x)-h
K[z] onuynud: Jdbpgbtin wyn hwpwihg nuuh juiwjuiud pudwinud
pwdwibing wytt f(z)-h Ypw dbwgnpnmy Jupubwbp Gnyh hwpwyhg nuup
Uty wy| pwquwbnwd, nph wuphGwip thnpp £ f(z)-h wuphGwihg m-hg: Wn
puqiuinuip pujupupnd k(2.6) yuydwdht b g(x)-h hwpwyhg nuuh dhuy
m-hg thnpp wuyphwih puquiuwbnuit £ (bpb (httht wnyhuh Gpyne pupptip
puquwinuibtp, wyw f(z)-h Ypw pudwibing upugud npubg dhwgnpnibtpp
wtiypp £ hpup hwdpbyokht, puyg wyn dbwgnpnitipp hwdpbyond G htitg npwbg
htip, pwih np npuig wuphdwbbbpp thnpp Lo f(z)-h wuwphéwbhg): OQwph
(2.6) wuwydwiht pwjwpuwpnn m-hg thnpp wuphbwih puqiwbnudp thwyb
Yw pwbwynmd £, np m qpwupptip Yagptipnd pypyuwd wpdbtpbtipp pnnunn m-hg
thnpp wuyphdwih puqiwinuip dhwyh k:
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2.9. Utwugputiph dwuhtt «<shtmuti> plnptivh dh fhpunniypjuia dwuht

Yhgnp Klz]-p = thmpnpwyuihg Juhuwd K nwophg  gnpdwlhgtipny
puquubnuilph onuyt k: Yhgmp ™ — 1 puqiwinuit mbh K gupypmd m
hunp ypupptip wpdwdtip b pnnp wyn wpdunpbtiph pwquneyniop Juquinmd k
ghyihy hunudp pup puqiuuupiub, wjuhbpl gnymipyni mbh Wbl w wpdunp,
np 2™ — 1 puqiwinwdh pninp qupptp wpdupbbpp w-h wugphwbbbph
WO Lw,w? . wmh L a™ -1 = ml:[l(x — w): Lpwbwltilp K,y [x]-n]
K[z]-h wjb puqiuinudbbph hﬁpwpulqd;;gjmﬁn, npnlg wuphdwbp thnpp £ m
pUhg: Uwhdwbdtbp F wppuwyunpybpndp K, [z]-hg K™ = K X K X ... x K

m

ntupypyui wpgugpyuih ypu htplygwg epy.
F(f(@) = (fQ), fw),.., fl@™ ) : (2.7)

Jbtpp Gupugpjwd  @hnptd 2.5-h  puqiubnuibtph hwdwp dwubwygnp
ntiyphg htpunid £, np F wpqpuwupjtipnudp thnjudhwpdtp £ Uw pnyp E pughu
nhypwplty hwlunwpad wppuwuplbpoap’ F- o

YYhgnp f(z), g(x) € K [z]: Mwnq L, np

Ntypliwbip 1-hg uputimd Gop, np
FH(FWg(D), fw)g(w), ..., fw™ Hgw™ 1)) = f(a)g(x) mod (z™ — 1) :

m—1 . m—1 .
Hhgmp f(z) = 3 i’ W g(z) = > biz"s Wymphl £ upmgly, np puip
i=0 i=0
puquuinuuibtph puquuuyuiud vwhdwidwb

m—1 7 ' m—1 m—1 '
f(@)g(z) = Zajbi—j z' + Z ajbmyioy | & (2.8)
i=0 \ j=0 =0 \j=it1
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Lwih np 2™ = 1mod (™ — 1), wyuw (2.7)-nud thnfuwphbbnyg 2™ -p 1-mf
Juipubwbp

m—1 % m—1
f(z)g(z) mod (2™ — 1) = Z Za] i—j + Z aibmyi—j | 2" 1 (2.9)
i= j= J=i+1
Ldwlh tnuiwyny unpugymad k.
m—1 ) m—1 '
f(z)g(z)mod (™ + 1) = Z Za] i—j — Z ajbmti—j | '+ (2.10)
=0 \ j=0 j=i+1
Yhgnip qnynipyml mbh ¥ € K np ¥? = w U ™ = —1: Mupq L, np
w?m —wm=1lL ¢—1 — ¢2m_11
m—1 ) . m—1 . .
Uwhdwbbibp fy(z) = > (P'a)z’ W gyp(r) = > (W'b)z': Swiwdwyh
i=0 i=0
(2.8)-p
fy(x)gy(x) = Z ZW%W—%F]' '+
i=0 \j=0
m—1 m—1 ‘ o .
Z Z w]ajwm-i—z—meHij Zitm
i=0 \j=i+1
i1
m—1 ) % ' m—1 4 m—1 '
Fol@)gp(x) = Y0 | D agbiy | 2+ Y ™ Y ajbmioy | &,
i=0 §=0 i=0 j=i+1
wyuw
m—1 ' % m—1 ‘
fo(@)gp(@)mod (@™ =1) = > 9" | Y ajbij— Y ajbmaiy | &' : (211)
i=0 j=0 j=i+1

L{unptitip, np deg f(z) = deg g(x) = m—1 nhypmd puqiwbnuddtph (2.8)
puwbtwatny f(z)g(zr) wppunpyuih gnpdwlhgitipp hwpytiim hudwp K nupypnid
wihpuwdtoq  gnpdnnmpymbdtph  (gmiwpnudttiph U puqiwuyugpynuditph)
pwbuyp O(m?) Yungh t:

Lowbwltibp F(m)-ny F wppuyunpybpndp b gpu hwlunupap hwpybin
hwdwp K nuopmd Jupupythp gnpdnnnipynibitiph pubtwyp: dbpp upugyud
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(2.8)-(2.11) pwlwalbtpp pny; &b pwhu hwpdty  f(2)g(z) wppunpup
Yhpwnting F U F~1 wppuuugppnudtippn: buljuwytiu, ulqphg Ghwoytip

F(f(@)) = (f(1), f@)s- .o f@™T)

Flg(x)) = (9(1), g(w), -, g™ 1))
Juyunting 2F(m) gnpdnnmpgnt: Qyuw Jupupbing m hwug pugqdugugynod
Yhwyytiup
(f(Dg(D), fW)g(w),- -, f@™ g™ )

Ytlypnpp: Ntpn fhwpytiip
FH(fWg(1), .., f@™ Hgw™ ™)) = f(z)g(x) mod (™ — 1) :

Juypwptiny F(m) gnpdnnnipjmb:

Qupupbind  ns wdbjh pwl  2m puqiuwupymd jYupmghip
L, 2, ..., 9™ ! quuppbipp (wyuhbpb pnnp 1,40, 4%, ..., 4™~ quppbipp
L npudg hwlunuwpabtpp): Hpwbhg htgpn Yyuomglip  fy(z) W gy ()
puqiubnuibtbtpp Juypupbing ns wdbh pwb 2m puqiuuugpynud: Yhpunbng
F-n Yupuiwbp F(fy(z)) b F(gy(z)) dtypnputipp’ Yupwpting  2F(m)
gnponnnpynil: - Unnpnhbwupn wne Ynnpphbuyp Jpuqiuwunpytp wyn
ulpypnpbbipp U Yyhpwntitp F~'-p, wpwbwgny £y (z)gy () mod (2™ — 1)-p: M
hwdwp Yyuqpupdh m + F(m) gnpdnnnipynib:

Nwdwdwyl (2.10) W (2.11) pwbwaltph  f(z)g(x) mod (z™ + 1)-p
qpupptpgmd E o fy(2)gy(z) mod (z™ — 1)-hg dhuyb ¢’  gnpdulhghtipny:
Puqiuuplttp fi(2)gy () mod (™ —1)-h gnpdwlhgltipp 4™~ ypwppbipny,
np Gwhiwybu hwopyty thop U Yupubwbp f(z)g(z) mod (2™ + 1)-p: dpw hwdwp
Yowpuubbp m puquuyupymy: Shddgting (2.8), (2.9) U (2.10) pwiwdlbph
Upw, rympht £ plubty, np f(2)g(z) puquuinuidh wowehl m gnpdwyhgtinp
hwinptjonmd Go

1

5 (f(@)g(z) mod (2™ — 1) + f(z)g(z) mod (z™ + 1))

puquwbnuih gnpdwlhgbtiph htap, hul dhwgud gnpdwlhgbtipp

(f (z)g(z) mod (¢ — 1) — f(z)g(x) mod (™ + 1))

DN |
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puquuinuih gnpdwyhgitiph hbtgp: Mugph, Juupupting bu ng wybtjh pwb
2(m + 1) gnpdnnmpjnil, h Jbpen, Jupuiwip f(x)g(z) pwqiwinudh pnnp
gnpdwlhgitipp: Chnhwbnip gnpdnnnipynibiltph pwiwyp Yihth O(F(m) + m):
Uwluwylh wybhwyp t, np F(m) > m b, mpadb f(x)g(x)-p hwpdbnt hwdwp
Yywypwptp O(F(m)) gnpdnnnipynil:

Oquytiny 2™ — 1 pwqiwinuih wpdwpbbph hwgpniy hunpynipynititphg
Junmgyty L huwgqpmly wignphpd, nph  oqinpjudp F L F!
wpyuyupybpnudtitpp hwpgupynud G uguptng O(m lnm) gnpdnnnipjni:
Mw poyp £ opuhu hwpdly f(z)g(z) wppunpup owp wytih wpwg, pub
hudwdawjt  pwqiwbnuibtph  wpypunpuih vwhdwbdwb  pwbwdlh, btpp
dwpuuynud £ O(m?) gnpdnnnipynib:

F u F~! wppuuyupytipnudbtipp hwypoh G0 npytiu Snpyh nhuljpbg
ninhn U hwjunupd adbwhnfjumpymuabp, hul npubg hwyyiwb wignphpup
Ddnpytih wpug abwthnfjumpyna: dnipjth wpwg dhwthnfunmpniop twb pbwd
L dtd pytiph puquuuyupuud dhbs opu hwypbh jwjwgnyt wignphpubtph
hhuipnud:

2.10. Qfuwnp hnGwutiph onuljukp

Uwhdwimd. A ptnuihnputijh onuh qruppp Yngynid £ dhwydnp, Gt wjt mbh

hujunupéd pup puqiuwyupiub gnponnnipjub: Uhunpbtph puqunigynbp
Dowbwyymu £ A*-ny:

Wipnne pytph onuymu vhwly dhynpbtpp npuip £1 pwppbpd b Rlz]
puquwinuuibtph onwih dhwynpbtinl b puguowwbiu pninp qpn wuyphdwbh
puquubnuibbpp, wyuhtipll ng gpnyujut hwugugpmbbtipp:

Uwhiwimd. A gptnuihnfutijh onuih B hntwp Yngmd t qihowygnp, tpt wyb
dtjwd £ty qruppny’
B = (a) ={azx|z € A},

huly @ puppp Yngdnud £ hnbiugh duhg:

Uwhdwimd. A phnuihnfubih onwlp, nph pngnp hntiwbbpp giluwynp G Yngfnid
L qifuwynp pntwjitiph onul:
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Uwhdwimd. A qnuthnputijh onwiih p # 0 qpuppp Ynsymy E win]Gpudbh, bph
p & A* Wptinh mbh

p=ab= Quia € A" quibe A" :
Munmy 2.6.

o Gph p-h wbbpwolyp L www whbpwobyp b hwl ep-i hudwywluwi
e € A" hwdwp:

buuutu, wyihwpp E, np ep € A*: bph ep = ab, wmyqu p = a(be™!) L Guud
a € A* qud be! € A*: Unuyh be~! € A* wuydwlp hwiwpdtp £ b € A*
wwyiwbhb, muyph ep-0 wmbybpwodbh k:

o Gpb ualpnne onwlmd p ¢ A*, p # 0 wpwuppny oljwd (p) hnbwyp
wwpq b www p-i whyfbpwdlyp k:

Gpt p = ab, wyw ab € (p) b a b b puppliphg wnbduqb dhhp gupuomy k
(p) hntiwht: “hgmp nu a-b £ a = pr npnpwyh « € A hwdwp: iptdb p = pzd
U p(1 — zb) = 0: Onuld wipnng £, mptih 1 —xzb=0L b € A*:

o Gph p-0 wijpwolbyh b qiuuiynp hnbwybbph onwlynid, wuw p
hnbwgp dwpupduy b (fwdi uyung):

Yhgnip (p) hntiwp wwpnbwlynud £ by wyp (¢) hntwnud b (p) # (¢): Miptad
Jz, np p = gx: Lwbh np p-0 wybpwdtih b, wyu jud ¢ € A* qud x € A*: Gph
r € A%, wyuw ¢ = pr~' U (p) = (¢) hish whhbwp E: Gpl ¢ € A%, wyu (¢) = A
u (p) hnbwip dwpuhdwy t:

Gpym p U ¢ pupptpp Juijuibip wunghwgywd, tpt (e € A*), np
p = €q: Mwpq L np wunghwgwonieyjud hwpwpbpnieniip vwhdwind L
hwdwnpdtipnipjul hwpwpbpnipnt onuih widtpwdtih pupptph pugquinipjub
Jpw, yppnhtnd wjl shunpynn hwdwpdbtpmpyjub quubph’ tpym wiybpudhbh
pupp Uty nuuhg Gh dhuyt b dhuyh, Gl ngpubp wunghwgywd Gb: Whohwjyp
£, np wunghwugywd qprwpptipp dtnmd &b dhubinyt hnbwn:

Wdpnng pytiph onuymu dhwy wiytpudtih puppbpp wwupg pytpb Gb, pon
npnid p U —p wupq PYtpt wunghwgywd ti: Puqiwinudtbph Rlz] onuynud
whytpwotih ypuppbpp npwbp wiybtpwotih puqiwbnudttpb to:
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Wumd &0, np qpinuthnfutith onwyh B hntiwp dtgwd £ a U b puppbtpny, tph
B = {az+by|z,y € A}: yymphb £ upnighy, np {az+by | z,y € A} puqinipymil
hntwy L Ukbp Yoguppugnpdtilp (a,b) bpwbwynuip {az + by |z,y € A} hntwih
hwdwn:

Luwlt Juublp, np wdipnne onuyh a wpwppp pwdwiymd £ b qpuppph Jpuw,
tpt Ygpiyh wybyhuh ¢, np ¢ = be: W thwuypp Jupdwbwgptip htaplguyg
Yhpy' bia: Uwhtwibip wikbunild pinhwinmp pudwiwpuph qunuthwpp. @
U b quupptiph wikbwdtd phnhwimp pudwbwpup £ Ynggnid wyn qpupptiph wyb
ninhwinip pudwbwpupp, npp pudwiymud £ npuitlg judwywub wyp pbnhwbnip
pudwbwpwph Yypw:

Munmy 2.7. Ygnipe A-0 quwynp mbwibph onuly E: a b b ypwppbpny
olifuwd pnbwyp qipuwynp F U gynigyuib nih ¢ € A, np (¢) = (a,b): c-foa U
b ypwuppbiph wdkbwdkd panhwinip puwdwlwpupi

Wuugnyyg. Wybhwyyp £, np Yqupigh ¢ € A4, np (¢) = (a,b) = {ax+ by |z, y € A}:
Stnunptiny z = 1, y = 0" Juypubwbp, np a € (¢): Liwbwwbu' b € (¢): Muph
ca l ¢b t e-0 a W b ypupptiph pinphwinp pudwiwpupb E:

Yhgnip d-a U d:b: Wuhbiph, Ygpiytb e L f wyhwhuhl, np a = de b b =
df: Lwbh np ¢ € (a,b), wyu gnynipymb mbbh xg U yo, np ¢ = axg + byo:
Wuiptinhg widhowuytiu upugymi £ ¢ = azo+byo = d(exo+ fyo) U d:c: Manmul
wwugnigyud k:
orpLUYLE:

1. %hgnmp Z-0 widpnne pytph onuyd L biswtu ghypbtibp, Z-h Juiwjwywb
ng yphyhw) Ghpwpundp  pup  gmdwpdwd juqiquwd  Eonpnpuyh qrupph
(wdblwthnpp npulwd pwpph) poinp wuwphlitiphg: Muph jnpwpwbsmp
hntwy, (hotny Ghpwhnudp, pup gnudwpdwb guwynp b

2. Y%hgmp K[z]-p K nwyphg gnpdwlhgbbpny pwqiuinudbbtph onuyb L
NYhgnip B-U hntwy b K[z]-md: bpt B = Klz] ywd f B = {0}, wyuw
wybhwypnptit B-0 gqjuwynp £ Yhgnip B-0 wupnbwymd £ webjuqb dky
npulud wuphwih puquiuinud (hwjuwewy nhypmd jud B = K[z] juyd b
B = {0}): Lowbwytip f(x)-ny B-mui wupmbwlynn wibbwthnpp gpuiub
wuphwih puqiuinudbbtphg npuk dkyp: “hgnip g(x) € B: Pudwbtbp g(x)-p
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F()h dw g(x) = F@)h(x) +r(x): Mung b, np r(x) = g(x) — f@)h(z) € B:
Gpt r(z) # 0, wyw 0 < degr(z) < deg f(x): Uuluyh degr(z) > 0, pwbh
np tpb degr(z) = 0, wyw B = Klz|: Miptidh 0 < degr(x) < deg f(x):
Puwjg hntiwmd squw gpujud wuphwbh puqiwbnud, nph wuphdwbp thnpp £
deg f(z)-hg: Muuph r(z) = 0 b g(x) = f(z)h(x): Wybhwyp £, np B = (f()) =
[F(@)h(z) | h(z) € K[z]} qhnadnn by b

3. Yhyqpupytbp

ZW-1 = {z +yvV-1|z,y € Z}

pwqunipjnibp: Fnipht £ ouypnigli), np wyt wdpnne yplinuthnputith onwi E
Undiyitipu pYtiph gnuiwpdwd nt puquuyuipliud  ougpdwdp: W onuyp
Ungymd £ Qunuuyul wdpnne pytiph onul: Wwwgnmgtlp, np wjb gjjuwynp
hntwgliiph onul E: Lwju gniyg ypwibip, np Z[y/—1]-mu htwpwynp £ uwhdwitby
diugnpnmy pudwind: Lowbwlkbp ||a||-ny « = = + yv/—1 pyh tnpip’ |lof =
2% + y* Ympht b upmgty, np [lag]] = o] 18] b [lal] = 0 = a = 0: Fhgmp
a,B € Z[V/—1] u B # 0: Pudwitilp a-0 B-h Ypw npubiu hwuwpul Ynduytipu
pUtD o = By: Bpt v € Z[V—1], wyu Ytipgktp 4 € Z[v/—1], nph hpwlub b
ytind dwubpp v-h hpujubd b tnd dwubtiph dnpuju wipnne pybpb Gh: Mwupq
tonp ||y — 4 < 1: dbpguttp 6 = o — By € Z[v/—1]: Mibbp

d=a—py=py-py=B(r—19)

w ol = 18l Iy =4l < [8]l: Wuwhuny upugwip dowgnpyny pudwind
Z[V~1]-m a = B4+ 5, nmphin ud 6 = 0 Yud k& ||6]| < [|3]]: Fhgnip wydd B-u
hntiwy £ Z[v/=1]-mud b B # {0}: Lpwbhwytbp S-ny B-h witkbwthnpp npuub
Onpd nmbbtgnn pwppbphg dtyp: “hgnip o € B: Pwdwitbp dbwgnpnny a-b S-h
ypw o =By +0: Mupg b, npd =a— LG5 € B: bphi § # 0, wyw 0 < ||0]| < ||B]]
U uqpugymd k, np B-0n wqyupmbwynud E dh qpupn, npp Gnpdp npaaju £ U thnpp
18]I-hg: Muph 6 =0, v = By u B = (8) = {By |y € Z[v—1]} qiiuwnjnp hnbiuyg
L:

4. Yhpwpytbp

o]

5 2+g\/—19|a,b6Z,aEbmod2}
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-0 wdpnng ptnuihnjubtih onwy b Yndutipu pytph
gnuiupiwl b pugqiuyupjdub Gugpdwdp: bpnp,

@, b g ﬁ & *ac—190d) + 7 (ad + be)y/ 19 =
(5+5v) (5+5v)

(ac — 129bd)/2 n (ad —1—2170)/2\/_7197

puqumpynibp: Z [H v }

wjuptin (ac — 196d)/2 U (ad + be) /2 wipnng pytp bb, pwih np ¢ = bmod 2,
¢ = dmod 2 yuyywhbtphg plumd £

ac = 19bdmod 2, ad = bcmod 2,

U ac—19bd mt ad+be pYtipp qnuyq bb: Lul “C’wad = % mod 2: buljuwytiu, nu
hwdwndtip k. ac — 19bd—ad — bc = 0 mod 4 wyuydwbhb, nph Goypnipynibp punbhmy
L wjbhwyyp, tpt dwhn dwup ytpuppugptitp npytiu

ac — 20bd + bd — ad — bc = (a — b)(c — d) — 20bd :

bpt o € Z [ﬂ} www npu Yndupbpu hwdwmodp a-b, tnybybu
wwpuimy k Z [H‘/T] -ht, pwbh np a = bmod 2 = a = (—b) mod 2:

Uwhiwbtp o = § + %\/T S/ [ﬂ} qpupph Gnpdp wpubnupg
tnuiwyny npybu |jof = aa = a 4 19b Yymphb E wpmgty, np |af|| =
llee]| | 8]]: bwl ||| € Z: Lwbh np a—ﬁ n b-U dhuliny@ qnygmpyub b, wuyw

2 _ 2= Omod4, a-0 nub- qnuyq b,
1mod4, a-0 n b-0 Yhlnp Gh

U wikl nigpmu a? + 196 = 0mod 4, muph ||a| € Z:
8nyg ypubp wydd, np

Va,B € Z {HQ ”_19] , B # 0 hwdwp, bipbk a-b ¢

pudwiymd S-h Ypw b [|B]] < [af, wuyw (2.12)

3y, 6 wywghuh, np 0 < [[ay — 6| < ||B]] -

Shutytinyg (2.12)-h ypw' nymphtt L hwdingyty, np Z [14-7 5—19} -n quwynp
pntwbtph onwy k: bPuluwbu, nhgmp B-0 ns qnpphypw hpntwy L 0 # 8 € B
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punpl ntop bjuqugnyt npujub tnpdp B-md: Yhgnip a € B U sh pwdwbynd

B-h Upw: Wythwpp t np o # 0 b [|B] < [lafl: Gqnbyth v, 6 wjhwhuh, np
,0 € B, wyu ay — 85 € B: Lul pwbh np

0 < ||ay = B4, wmyw ay — 8§ # 0: Muph B-nud qupuilip ng qpnjujull yuupp
ay — 36, nph tnpup thnpp £ B-h Gnpdhg, hugh wbhbwp L

Wdd wyugmgtip (2.12) winnudp: Yhgnip o, f € Z [H‘/T} B # 0,
a-b ¢h pwdwiymy S-h Yypw b ||B]| < ||ef|: Lwih np f-80 dhwynp gk, upubmd
b’ [IBl] > 1 (bt A-0 Shunp b wupw B8~ = 1 (18|18~ = 1, muph
18] = 1): Lowbwltitp o = & + 2/=19 u 8 = § + 2/=19: Yymiphl £ hupyty
B-h unynpuljub Yniwtipu hwlunwpap: Mokop ||8]| = 88 L

== (- 3V0)
Wdd
s
nputin b4 [1+\/—Tg]
2

(wyuhtpl’ p = gmod 2) u

1 (_\/T)gz[l—i-\/i]

[ED

Lowlhwltibp = = ﬁ, Yy = Hﬁll : Upuibinud &lp' 3 = 5 + 4IV-19¢7Z [@}:
Uw pwbwnd £, np jud z-p Jud y-p wdpnne ¢k, Jud £ npulp wdpnne
b, pwyg ¢ = ymod2 punnuupnmip upuwy k, hbsp hwdwpdtip L % ¢ 7
wwiwbht: Ququgmgbbp, np Yqpoytb v, d € Z [@} ,np 0 < %fy — 6” <1,

htiplwpwp
0 < flay =Bl < 18]l :

Lowbwytbp {a}-ny ¢ hpwwid pyhd dnpuluw wdpnne phyp, pbn npmd, tpb
a=m-+ 3, wyu {a} = m:
Yawp 1: y € Z, 5L € L

Mbtbp

r .y r—y vy ¥y
== +2V/-19= LA NAST R
2 + 2 2 2 2
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dbpglblp v = 1u s = A2 L1/ ez[ Ve 9}:Uquu[1nui biip, np
gy-o=" {5 #0u

2
« T —y T —y 1
—~v — 0|l = — <=-<1:
8’ 6H < 2 { 2 }> =1c

Yawp 2: y € Z, S5 € 7
Glupunbtwyp 2.1. oy € Z:
Muwnq L, npy:m—l—é, 1,2,3,4u

i=1,2,

m7
y =
tv} {m+1, 1=3,4:

Muuph' |y — {y} € {% 2}: Mwupq & Dwl, np 2 — y-p qnuyq phY & Jdbpgbkip
y=10lL
v—y+{t | W} g, [V
= -1 Z :
1) 5 + 5 9 ¢ 5

Ugpubmd bhp

7_5:2~/—2{y}Jr.0—2{?/}\/_—197&0

| Q

27—5” = (y_iy})2 + (y_iy})Q 19 =5(y — {y})> < 5 x % <1:

Ghpuntiyp 2.2: 5y € Z:
Jhpghtilip v = % - %\/—19: Quipubwbp

! Ty 1 1 410y HY

(2 7,/_19) Z_Zy/-19) = — —-19 :

57 (2 Ty <2 2 > 2 2
Jtpgutibp

)=

2
2 2
L %’y — 0§ =5y — {by} # 0: Miptd’

2L +2{5y} xyﬁez[lﬂ/—iw}

EE BT T EEE

Yhawyp 3: y € Z, x Y & 7:
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Gupunbtwp 3.1: 2y € Z, x —y € Z:
Mmotbp 2y€Z:>y:m—|—% :>5y:5m+% Z7uby— {5y} = %: Muwpq L,
np £ — y-p Yl £ Yhgmp 2 — y = 2k + 1: Uypubmd Gop

1
x+y:2k+1+2<m+2) =2(k+m+1)

U 2 + y-p qnuq b Jdbpglbbp v = § + 5v/=19, wyu

o _(z .y 1,1 10y | g
DV el 7,/_19) — 4+ 2v/=19) = —-19 :
I3 (2 + 2 (2 + 2 > 2 + 2

0=

+

Hy _ 905 Tty _
2 Q{y} ; \/—719€Z|:1+\2/ 19]

Uypwbmy bbp
o

57—52{5y}—5y=—;#0

L Jbpownytiu

« 2 1
—y =46l ={by} —5y)" =—-<1:
57 H ({5y} =5y)" = ; <
Ghopunbwyp 3.2: 2y € Z, x — y & Z:
Miikbp

1
2y€Z:>y:m+§:>2y:2m—|—1:

Jtpgitbp v = 2, wyu %7 = 27”“" + 27‘1’\/—19:

Yquigh wdpnne p, npp < x < p+ 1, muph 2p < 2z < 2p+2 U |2z —
2p+1)|<1:

Jtpgutip

i1 2 1++/=19
5= p; +2y\/—19ez[+2]:

Mupq k, np %’y -0 = % = 0, pwbh np, tpt 2z = 2p + 1, wyuw
x —y =p—m € Z hbsh wbhluwp L:
Jbpowytiu uypuiinid top

-1

2z — (2p+1))? -

1<1'
4 4 ’
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Gupwnbiyp 3.3: 2y € Z:
Mmitlp y € Z Wy # m + %: Yqupyh wdpnne p, np p < y < p+ 1: bph
p<y<pt+zluip+:<y<p+luyuly—{y} < 5:bptip+i <y <p+3,
wyw
2p+§<2y<2p+1+%, {2y} =2p+1

b2y — {2y} < 3
“Yhgnip pbinh mth p <y < p+ 3 Yud p+ 3 <y < p+ 1 nliwpp: Yguplyh

wupnne k, np k < x < k + 1: Uwhdwbbip

k, k = {y} mod 2,
Z =
k+1, k+1={y}mod2:

Mupq k, np |z — 2| < 1: Jdbpghtip y =11

0= 2+{y}ﬁ {H\Z/_Tg]:

Ugpwbnud tip

SN S S ek ) s P
8 2 2
pwbh np y ¢ Z: dbpowytiu

(z — 2)° N 19(y — {y})?

o 1 19
TN T T 1 =1

x—:z<1:

1
Xf
9 4 9

Wdu nhypuplhilip p+ 3 < y < p+ 2 nhwpp: Uqpinh wipnng knp k < z <
k + 1: Uwhdwbbbp z-p htyplywy Ytpw: Gpb {2y}-p qnyg b, wyuw

2%k, % < 21 < 2%k + 1,
Zz =
2k+2, 2k+1<2x<2k+2:
Gpt {2y}-p bl £, wyuw z = 2k + 1: Anpnp pigpbpmy’ |z — 22| < 1:

Jbpgutp vy =2 L

5— {y}\/jez[ﬂmﬁ}

z
2"

Uiy tbp

%’y s 2x2— L 2y —2{2y} 1940,
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pwbh np 2y ¢ Z: Jhpouybu’

(22— z)*  19(2y — {2y})?
T 4

8]
=5l =
g7 H

=—-<1:
9

19 7
Xi
4

Nel i

1
< =X
!

5. %hgmp Z[z]-0 wdpnne gnpdwlhgibpny pwqiuinuddtph onwyh E:
Yhypupytitp 2 b 2 puqiwbnudbtpng dtdwd hnbwp

(2,2) = {2f(2) + zg(2) | f(2), 9(x) € Z[z]} :

Yyniphtt L uypnigli], np uw huuwtiv hntiwg £ Wt gihowdnp hntiwg sk Quugnigbip
nu: Mwnq t, np 2f(z) +2g(z) phuph puqiwinudh wqup winwdp qnyg phy t,
nuph (2, z) hnbwip sh yupmbwynd 1 jud —1 hwupugpmb puquwinuddbpp:
Gpt qupiyh dh A(z) € Z[z], np dtmud t (2,2) hnbwp, wyw 2 = A(z)p(z) L
z = h(z)q(z), nnnpwyh p(z) b ¢(z) puqiuinuibtph hwiwp Z{z]-hg: Wythwyg
L, np deg h(x) + degp(xz) = 0 U h(x) # +1: NSwplwpwn A(z) = +£2: Uuluyb
gnympyml smbh wdpnne gnpdwlhgitipny vh ¢(z) pwqiwinuy, np pujwpwph
r = +2q(z) quydwbhi:

6. Yhgnip Clz, y|-p Ynudwtipu gnpdwlhgtitinny 2, y thnthnfuwlwbtitiphg fupu]wd
pwquuinuditbiph onuyt E: Ymphb £ pbubly, np

(z,y) = {zf(2,y) + yg(x,y)| f(z),9(x) € Clz,y]}

hnbwip giuunnp sk: buuwt, 2 f (2, y) + yg(z, y) pbuph puqiwbnudh wqup
winudp qpoyulub b Gpb qpidtp A(z,y) duhs wyn hntwh hwdwp, wwyw
r = hiz,y)p(z,y) bWy = h(z,y)q(r,y): Mwpq L, np hA(z,y)-p sh Yupnn
1htt] hwupupnit (ng qpnyuut): Ujnu Ynnidhg, tpb degh = 1, wwyuw
q(z,y)-n hwupuypnit £ Wythwpp &, np A(z, y)-h wowehlt wuyphGwbh winuip
Juuwpmbwyh jud dhuyyt z hhnthnpuuuip Jud § dhuyt y thnthnfuwlwbp:
Muph z = h(z,y)p(z,y) by = h(z,y)q(z,y) yuiwdlbtpp dhwdwduwbuy
pujupupyti sk Gupnn:

2.11. dwlppnphwy onujukip

Uwhdwimd. A wdpnng wphnuihnfubih onuyp Ynsymd E pwlppnppuy onuly,
tpt pninp ng qpuyuub pupptpb wyn onuihg dhwpdbpnptt hipquyugynmud
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bl wiybtpwdbih pupptph wpgunpyubpng, wjuhtpd’ judwjuub 0 # a € A
qupph hwdwp Ygpoytb wiybpwdbh p1, .- ., pr W dhudnp € € A wybwhuht, np

a=E€p1...pPn:

Waytpwdtih pwupptph wpgunpyuih dhwnpynmbp hwuugynd £ hplguyg
Ytpu: UhLbnybh wquwpph Gpym ¢ = ep1...pn U a = q1...Gm
ttpuwyugnuittipn hwdwpynud B0 hwjwuwp, Gpb judwyuud p; hwdwp
Yygupigh Gpub wunghwgqwd ¢; b hwjwowyp judwjuluwb ¢; hwdwp Yqupiyh
Opwi wunghwgywd p;: lodpuynpbtitp wunghwgywd qywppbpp ¢ = €p1...py,
ubplujugiwb dke, Jupubwbp a = upf;pf; .. pf: npptin p € A* wr #t = p,
U p¢ widtipwdtith pupptiph wunghwgyud ¢ht: Gpynt a = epy* ...pdr L a =
(5q§1 ...qim uhpQuyugniipp hwdwuwp Gh, el 7 = m U jmpupwbgnip p;
hwdwp Ygpbyh Gpub wunghwgywd g;, np s; = ¢, hul] jmpupwibgjnip ¢; hudwn
Lqubyh Opwb wunghwgqwd p;, np s; = t;: Mwpq b, np p* = zq? NEAL
e=0A1... \p:

Yynipht £ ouaply, np $wyypnphuy onuinud wiybpwodtih qowppny dtgwd
hntiwpn wwpg £ buuwtiu, nhgnp p-o widtpwodbih £ Yhqpwuplbip npuing
dtwd (p) hntwp U wpmqtlp wyn hntiwh wwpgqmpynbp: hgnip ab € (p):
Uquiigh ¢, np ab = pe: Lwbh np onuyp dwlypnphuy £, wyw ab-o nibh dhuy
ttipquyuwgnud widbpwdtih puwpptiph wppunpyuih dhengny, npp Ghwdpblyah
pc-0 iwb Ohpjuyugdwb htiyp, npp Wupnibwynd £ p-htt wmunghwgywd qrwunn:
Muph p-htt wunghwgywd wqpwpp Juupnibwyh wbhpudbtopnptt ud  a-h
Utipjuyugmdd widbpwdtih qrupptipnd jud b o-h dhpuyugnudp: Neplwpup,
Jqui a € (p) qui kL b € (p) b (p) hnbwp wupg £ Wu wunpéwnny wwpg hnbwyg
dlnn yruppbipp Yngymad G onwjh wjwpq ypuppbp:

duwlynphwy onuymd upulinupy tnubwyny, oqytiny wwpgq puwpptiph
Jtpinonipynithg, Juptih E uwhdwidby gpwppbph wdbbwdbd  phnhwbnip
pudwbwpwph b wdtibuwthnpp pnhwbtnp puqiduuyunphyh qunuithwpbbipp:

orrudy:

Yhpupltlp  R[z] hpwjwub  gnpdwlhgitipny  puqiwinwdbtph  onulp:
Ynipht £ uypnighig, np

187" — 1227 + 202° — 12z + 2 = f*(2)g(x),
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npptin f(z) = 3z — 1, g(z) = 222 + 2 puquwbnuuiltpd wigtpwdtih th: Mwupg
L, np f(z)-0 wunghwugywd t x — % huy g(x)-p’ 22 + 1 puquwinuihb, muph

182% — 1223 + 2022 — 122 + 2

puquuinuih winbpudtih wpypunphsbitiph (3z—1)2(22242) U 18(22+1) (2 — %)2
Jbpnuonieynibtinn hwjuwuwnp ta:

@Ptnptd 2.8. Wupnne qiuuwiyynn hnbkwbhbpph onuhn duwlppnphwy E:

Wuyuwgnyg. Ulygphg Juuwgngtip, np Juiwjwlwb ns qpnyuiuwd wqwpp
ttpluywugynud £ wiytipwodtiih quupptiph wpypunpyuiny, huy htigpn uuywgnighip
wyn bbpjujugdwd shwlnipynn:

Lowbwytbp S-ny wyb (a) guwynp hnbwbbph puqunipgnbp, np a-o sh
Ubpyuywgynid witpwdtih pupptph wpgunpyuny: Mwpg k, np tpt (a) € S,
wwyw a-b ng wbytpwdtih t, ng | dhuynp:

8nyyg quwbp, np tph (a) € S, wyu gnympymd mbh Uty wy (a1) € S, np
(a) C (a1):

L{unptibip, np bpt (a) € S, wyw a = be, npptin b, ¢ ¢ A*: Wybhwyy &, np
(a) € (b) U (a) C (c): Nwtingutiip, np (a) C (b) U (a) C (c): buluuybu, nhgnip
(a) = (b): Lpwbwynud k, np b = ad: Muph a = be = ade b a(1 — de) = 0: Lwbh
np a # 0 b onul wipnne k, wyw 1 — de =0 b ¢ € A*: Liwhwwbu upnignud
tlp, np (a) # (c):

Munpq L, np b b ¢ pupptiphg wnbuqb dkhp snibh dipuyugnd winpuwdbih
wpypunphstibpng b ud (b)) € S qud b (¢) € S, pwlh np hwjunwy
ntiypnid hpwp Ygugptinyg b-h b c-h thpjuyugnmittip widtpudtih qpupptiph
wpypunpyudbpny jupubwbp a-h hadwyupuupiwb bipuyugnuip: Wyuyhuny
uypugubip Uk tnp yupp S-hg ((b)-0 Yud (¢)-0, npp Gpwlwytbp (a1)-ny), nph
hwdwp (a) C (ay):

Jtpp Gpgwdhg htppund E, np tpl S # (), wyu S-md gnynipynih mbh
hntwtiph witipg onpur

(ap) C (a1) C ... C(an) C ...

o0
Yhypuwpybip (@) pwqumpymbp: %w hnbwg b buuybu, tph 2,y €
i=0
[e.@]
U (@), wyw z € (a;,) by € (a;,) npnpuwyh 41 U 4o hwdwp: Wybhwypp b, np
i=0
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T,Y € (amax(il,iz)) L
oo

r—ye (amax(il,iz)) - U(al) :
1=0

Liwbwwybiu

oo

x € U(ai) =1z € (a;,) = zy € (ai,) C U(ai) :

i=0 i=0
Lwbh np A onuiyp qiuwynp hntiwtph onuy L, wuyw gnynipymb mbh b € A,
np (b) = U (a;): Muph b € (ax) npnpwlh k-h hudwp: Mwipg E np (b) € (ak):

=0

Ujniu Ynnihg (ag) C Ej(ai) = (b) b (b) = (ar): Upuguip hwlwunpmi,
i=0

puith np 3o € (axs)\(@) b U (a;) = (@) © U (a;): Mipbdt S = 0 U onuih
Jnipupuwibisynip pupp nibp Uhpzljl(l)l]wgnui wﬁt{hpgghlh ypupptiph wpypunpyuny:
Wyugnigtiip wydd, np wyn thpluyugnudp dhwyb k:

Ulgphg wwugnighiip th odwinul winnui'tiph p:ab W p-0 wibpwdtih k,
www Jud pia, Jud pib: buuytiu, nhgnip a-b sh pwdwiymy p-h Ypu: Fhgnp
d-0 a-h U p-h wikibwitd pinhwinp puwdwiwpunb £, wjuhpl ¢ = dz W p = dy:
Lwbh np p-0 wiybpwdtih b, wyu fud d € A* jud y € A*: Yhgnip y € A* :
Wu ntiypmd d = py~! U a = py~ 'z high wihbwp £ Miptdl’ d € A b (d) = A:
Uwluwjb, htsytiu ghypttp (Munnud 2.7), A = (d) = (a,p) b gnympymb mbkb
xo,Y0 € A, np 1 = axg + pyo: Puqiuyupybiny Ytipghtt hwjuwuwpmpyub we U
dwpu wutipp b-ny” uypubwbp b = abxg + bpyo L b-0 pwdwbymd £ p-h Ypu:

Gpb pia® W a-0 sh pudwiynud p-h Ypw, www higybu gnyg pytghbp Jupp
1 = azo+pyo: Muph a1 = akFx +ak_1py0 i pfak_lz Gupnibwltiiny wypngbup
Juypubiubip, np pia hiisp hwljuunud £ wyh pubhi, np a-b sh pudwbynud p-h Ypu:
Mipbutb tph pia®, wuw pia:

Wuywhuny wwywgmgl] Gbhp, np Gt onuyh Ytpowynp pwlwlnipjuip
qpupptiph - wppunpuip pudwiynud boowbybpuwdtih - pupph dpu, www
wnyunphsitinhg wntquqb dtyp Ypudwbdh wyn widbpwdtih gupph Jpu:

“Yhgnip ppdwd GO dhubnyb pupph Gpyne bipuyugndbip waytpwodth
wppunpjuiitiph dhongn

S s t t .
e1py ..oy =€2q1" .. g
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Wythwyyp £ np e2g) ... gl puppp pwdwbynud £ pi-h ypw: Uhudnp e2-p
sh pwdwiymd pi-h Jpw: Swiwowl ntiypnid €2 = p1x = 1 = p1x52_1 u
wiytipwdtih pr-p dhunp £ Mipkdt g1, . . ., gm pwpptinhg Shoyp dtiyp (hhotiop,
nn g1, - - - gm upptiphg ng Uh qnijq wunghwgywd sb) pudwbymd t pi-h Ypu
MNupgmpjul hwiwp Ghpwnpbbp, np nu ¢1-0 £ ¢ = p1d1 b wybhwppnphb
41 € A*: Upubnud tbp, np e1pj*...p5r = egq? ...qlm: Bph 51 # t1, wuklip

$1 > t1, wyw e1pjt ... pin — 62(51q§1 cgm=001

s1—t1 S92

pﬁl (51191 [ S 82(51qu ) qul) =0:
Onuyh wdpnnonip)niithg upubnid Lip

s1—t1..s S t t
e1py Py Pyt = 201Gy .. g

U dwp dwup pudwiymd b pi-h Ypw, hul we dwup ng (pwbh np go, ..., ¢m
pupptip wunghwgqwd kbt pi-h htap): Muph s1 = ¢ b oqptiny onwyh
wdpnnonipjnilihg
e1py? ... pir = 2014 .. gl
Upyotinyg Jtpp pwpunpud nupnnmpmbbtpp jupubwbdp, np jgpidh
09 € A*, np

n — t tm .
e1ps’ .. .oyt = 201024 ... g, -

Cwpniiuiiny wypngtiup” Ypwgunbiop pninp p; puppbpp dwpe Wwunod: Oplk;
puynui g;-btipp bt Jupnn uyunyty p;-Otphg pnup b Gnybwbu p;-Obpp kb
Jupnn uywnyby g¢;j-bbphg pnup, muwph n = m L phnptdt wdpnnonipjudp
wyugnigyud k:

bogwbu ghwptibp, nput nwoyphg gnpdwlhgtipny puqiwbnwdbtiph onwlyp
giluwynp hntubbph onwyy k, muph upubtnud Gop

NGyplwbp. Gt K-O0 nupp L, wyw K nuophg  gnpdwulhgibtpny
puqiuinuibtph K[z] onuyp Swyypnphuy k:

orpLIyULEN:
Ypupytbp Z[v—3] = {m+nv/—3|m,n € Z} onulp: Wu onulmy tnpup
uwhdwbymu k pwub tnwiwyny |[m+ny/=3|| = (m+ny/—3)(m—n/-3) =
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m? + 3n?: Wu onulp $wlppnphuy gk, pwbh np 2-2 = (1 + /=3)(1 — /=3):
Yniphh £ hudngyti, np 2-p & 1 £ /=3 widtipwdhjh Lo b wunghwgyud shb:
buluytiu, nhgnip 2 = (m + nv/=3)(p + ¢/=3): Mikbp [2]| = 4 = (m? +
3n2)(p? + 3¢%): Wybhwyy b, np p? + 3¢ # 2, htpliwpwp m? 4+ 3n2 = 4 L
p? + 3¢ = 1: Wuptinhg pund &, np ¢ = 0, p = £1 U p + ¢v/—3-p dhwynp L
Wythwnp £ owl, np onuyh dhwy dhwynpbtipt G £1 qowuppbipp, nuph 2-p b
1+ /=3 wunghugyuwd sk

Yhipupytilp Z[v/—3]-h phnpuynuip

—i—%V—B]w,yeZ, xEymon} :

2[5 - {

Ympht £ upmgty, np qpnuhnfubih onuy & (pbubp Ytpp nhypuplpdwd
Z[M572] onuitih ophtwtn): Z [ “y=E[-n qihuwnn hatwistph onwy
Nwdngytiip npubmd: Yhgnip o, 8 € Z [@} u § # 0: Pmdwitip a-0 S-h
Jpw npujtiv unynpuljub §ndybipu pytp « = G b gphbp v-0 %—I— % v/—3 \ptiupny:
Lowbwltbp v = % + {%}\/—73 et {2} = {y}mod?2 punnuypnuip upuuy
L, wyw ;-nud thnfuwphbtiop {Z}-p gne dnpujue wdpnng pyny wjbiybu, np
{#} = {4} mod 2 punnuupnuip {hth upnyg: Mwpg £ np [y =y < $4+3x & =
% < 1: @du bpwbwltbp 0 = a — Fv1: Uquubmd tbp, np

6]l = lla = Bl = lla = By + By — Bnll =
=18y = Byl = 1181 |y —nll < 18] :

WuhUplh dklp uwhdwitghbp Z [H?‘/j?’}—nuj dbwgnpnny pwdwind: Utmd E
UpYiby wyb nugnnnpynip, np jugrupty thp Gwnmuywi wdpnng pytiph onwyh
hwdwn:

7 [%ﬁ} onuiynd 2-p U 1 £ +/—3-00 wmunghwgywd th: bujuytu, 2 x
@ =1+y/-30L % uwpptipp dhwynpbtip GO, pwbh np HT‘/T?’ X 1_‘2/j3 =
1: Wuhbpt 4-h 2-2 b (1 ++/-3)(1 — v/—3) Ghpjuyugniiipp Gyt bo:
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2.12. Wipnno gqnpdwljhgutipny puqiwinuiatph onuljh
dulppnphwmpynin

Wdd wuywgmghbp, np Z[z] wipnne gnpdwlhgitpny puqiwinuidtph onuyp
(npb hogybtu ghptitp qiuwynp hnbwbtiph onwy k) $wlpnphwy £ Wuhlpl
duwlpypnphwy onwttiph nuut wybih qwyb £, pwb giluwynp hnbwbtiph onwytph
nwup:

Uwhiwimd. f(z) € Z[z| puqiwinuih gnpdwlhgbtiph wibbwdbd pinhwbnip
pwdwiwpwpp Yngymd L puqiuinuih wupnmbwimpymt b tpwbwlymd E
cont(f)-ny:

Ladd 2.9 (Qunuuh Laidp). pgnpe f(x),g9(x) € Zlz]: Uwpnyqg b hlaplywy
puliudlip

cont(fg) = cont(f)cont(g) :

Uwuwgnyg. Wthwpp £ np f(z) = cont(f)fi(z) W g(z) = cont(g)gi(z),
npbn  cont(f1) = cont(¢gr) = 1@ Mwpq L bwl, np f(x)g(x) =
cont(f)cont(g) fr(z)g1(x) W cont(fg) = cont(f)cont(g)cont(fig1): Muuph
pwjulub £ wywgnighy, np cont(f1) = cont(g1) = 1 = cont(fig1) = 1:

Yhgnip fi(x) = ag+ ... + apx™, an # 0 W gi(x) = Bo+ ...+ Bma™,
Bm # 0: 8nyg pubp, np cont(figi)-p sh pwdwiymud b ng h p wupq pyh
Ypw: Fhgnip a,-p b Ss-p hwdwyupuupwbwpwp fi(2)-h b g1 (z)-h witbuitd
hwdwph gnpdwyhgbbpt G, np i pudwbynmd p-h Ypw: Empht £ uipmgtig, np
fi(z)g1(z)-mud 2"+*-h gnpdwlhgp hwfuwuwp b

arBs + ar+1ﬁsfl +...+ ar7153+1 + ...

Nwpq L np opfs-p ¢h pwdwiymd p-h Jpw, huly pnnp  dbwgud
gnudwptijhtipp (et gpuip Jwb) pwdwiymd b p-h Jpw, pwih np
wuwpmbwymd b Jud r-hg dtd hwdwph fi(x)-h gnpdwyhgbtp qud b s-hg
utd hwdwph g (x)-h gnpdwyhgitipn: Muph GG wyugmgud E:

Miunmy 2.10. 2hgnip Q[x]-p nuwghnbuwy gnpowlpgiilipny puquiwinuiibph
onulhh b Smpwpwbgmp f(x) € Qx] dpwpdhpnpkl Ghpluywgynid
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f(x) = 2 fi(z) pbupny, nupkn fi(z) € Zlz], cont(fi) =1 4 € Q npuwlwi
huwyypupuwpny whlypdunplyh Ynpnpwly E

m

Wwugnyg. f(z) = 7 f1(z) Ghipjuyugdwb gnynpymbt wyihwyp £ puduiub k
pUnhwnip hwyppwpwph plipty f(2)-h gnpdwyhgttipp b nnipu phipt thwljugdhg
wyn pinhwinp hwppupupp, wyw nnipu phiptp gnpdwyhgbtinph wdtiwdtid
pnhwbnip pudwbwpwupp:

Uwwugmgtbp dhwympymbp: Yhgmp f(z) = Tfi(z) = fa(z):
Puquuyupytip tpyne Ynnibpp ns-nd msfi(z) = nrfa(z): uph ms =
cont(msf1) = cont(nrfz) = nr: Lubh np (m,n) = (r,s) = 1, wyuhliph Z-p
U Z-0 whlypGunphih GO, wyuw 7-p pudwiynud £ s-h Ypw b phnphwljuewyp’ s-p
pwdwiynd £ n-h Ypw, mptdt n = s: Liwbwwbu wpuimd Gop, np m = 7:
Wuptinhg by plunid £, np f1(2) = fa(2):

Mgt 2.11. Eph f(x) € Zz] b f(z) = g(x)h(z), npupkn g(x), h(z) € Q,
wwpw f(x) = kgi(x)hi1(z) , npupbn k € Z, gi(x),hi(x) € Zx], cont(g1) =
cont(hy) = 1:

Uyuwgnyg. Swiwdwyl Moanmy 2.10-h" mbkbp f(x) = mfi(x), g(z) = ggl(x),
h(z) = Zhy(z), piip npnud

cont(f1) = cont(g1) = cont(hy) = (p,q) = (r,s) =1:

Mipbuh
mfi() = f(x) = g()h(x) = g1 () (2)

gsmfi(xz) = prgi(z)hi(x) :

Nwiwdw)t Guniup (Gddh
gsm x cont(f1) = pr x cont(g1)cont(hy)

L gsm = pr: Rwbh np (p,q) = (r,s) = 1, upubnud tbp, np p-b pudwiymd £ s-h
dnw huy r-p° ¢-h Ypw: Neplwpwp 22-0 wipnng phy t U f(z) = kg1 (2)h (),
npptin k = 5—2:

Wuptinhg widhowuwtiu ppunid £
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Minmd 2.12.  bphk f(x) € Zx| wiybhpwobip b Zx]-nod, wupu wyhb
whfipwolyp b luul Qz]-nud: Z[z] onwhh wiylbpwodbp puquwblnwidibph
ki wpwpq phy hwinpuwgnn hwuwpuwapnih puqiuwbanwidbibpp b Qz]-nid
whylipwolh 1 wypwpnibwlnigywdy puqluinuidibpp:

Etnpbd 2.13. Z[z] onuhp dulppnphuy E:

Wwyuwgnyyg. Wythwyy b, np Z[z]-0 wdpnne t: Fhgmp f(z) # 0: Lwbh np Q-b
nuoyp b, wyw hwdwdw)t @tnpbd 2.8-h htyppwbph Q[z]-p $wlypnphuy £ L
gnympgnil mbh f(2)-h YJepmdnipym it widtpudth puquwbnudbtph Q[x]-mu:
Swiwdw)y@ Moanmy 2.11-h" thnpuwphbting Q[z]-h wiybpwdtih puquwinuddtpp
1 wupmbwynpyuip wunghwgquditpny Z[z]-hg Jupubwbp f(z)-h htuplyug
ubpquyugnuip’ f(z) = mgi(x)...g-(z), npptin m € Z, gi(v) € Zfz] u
cont(g;)=1,1=1,...,r

QYhgnip  wppqwd b f(z)-h dby wyp Jupmdnmpymb  wiybpwdbih
puquwinuibtph Z[z]-md f(z) = nhi(x)...hs(x) , nppbn n € Z, hi(x) € Z[z]
b cont(h;) = 1,i=1,...,s: Q[z] onuyh pwyypnphwinipymhg htipmd E, np
r = s b wpypunphsbtiph Ypwnwuwynpnudhg htapn g;(z) = %hi(:c): Mpbdt
¢igi(z) = pihi(x) L wightng wupmbwympymbdtpht wpuind tip ¢; = p;,
wyuhbpl' g;(x) = hi(x): Etnpbih wuyywgnigyuwd L:

@nfuwphtng Z-p Judwjuwiud $ulypnphwy onuyng b Q-0 wyn onwyh

pwinpnitiph nugpny U Yplotn] Jtpp pwpunpjwd nupnnnipymbbtpp” uptith
L wuyugnigly htiplywy plinpbdn:

Etnptd  2.14. Epk A-4 wlppnppwy onwly L wupu Alx]-p anybwbu
dwlppnppwy E Swlppnphwy b dwl Alxy,...,x,] onwlyp, x1,...,x4
hmpmppulpubiliph A-phg gnpowlhgtiipny pwquiwanwiibph onulp:

2.13. Elhnbuywi (EYyhnywi) onuljatp

Ddulpypnphwy onujitiph Juplunp Ghpwunuu G juqimud Eypihntuywd onuybbtpn:
Uwulwynpuytiu nputg nuuht G0 wqugpuind wdpnne pytiph onuyp, nwoyphg
gnpowhgbtipny pwquubnuibtph onulbbkpp, Funuywb wdpnne pYbtph onuiyn:
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Eypihntiyyub onuijotint wdpnne b gjfuwynp hntiwbtph onwybbp Gh, niuyph

npwip dulppnphuy G
Uwhdwimd. A wdpnne onulp Yngynd L EYpihpbuymi onul, tpt Gpw
Jmpupubgnip ng qpyuub ¢ puwpphtt Jupth £ hudwygupuupwbtgbty
npnpwih wipnng phy |a| (npp Juiywitip EYpihnbuywd Gnpd), wjbybu, np
ntinh mbbbwh hbyplyw yuypdwbbtpn.

1. |a] > 0;

2. a=bc= b <lal;

3. Va,b € A, b # 0) (3g,r € A) a =bg+r W |r| < |b tpt r # 0

(Eypihnbuywl pudwidwd htwpwynpnipymbp):

orruLuuLGN:

1. Wipnne pytiph Z onuyh hwdwp tnpdp pyh pugupdwly wpdbpl t:

2. Nput K nuipyphg gnpdwlhgitipny puqiwinudttph K [z] onuyh hwdwp bnpdp
puquiuinuih wuphdwbh b

3. Z[i] Qunuyywl wdpnne pytph onwyh nwypnid m+in pyh bnpdp (m-+in)(m—
in) = m? + n? phyl k&

4. Yympht t wpmgty, np K nuophg gnpdwhgbtipnyg wuphdwbuyghl pwpptipp
Juqund GO wipnng onuy, npp bpwbwyymy b K [[z]]-m: Swpph Gnpdp nu z-h
wdtiiuthnpp wuph8wbh gmghst E:

5.7 [@}oqwumd 5+ %\/—73 wqwpph Gnpdp H% + %m,‘ = % + 3% L:
MNunmd 2.15. Eyfpihnbwwl onulp qiuwynp pnbiwyiliph onwly L

Wwugnyyg. Yhgmp A onulp Eyphnbuyywb £ 0 B-0 hntwy £ A-nmud: Ghgmip B #
{0} b B # A (wybhjunp b, np puduiub t nhpwplt] wyu nlivpp): Hhgnip
0 # b € B u |b|-b thnppugnyti £ B-h qpowupptph hwdwp: Wydd Jtpgbtbp B-h
Juidwjwlub ¢ pupp b pudwbbip wyh b-h Ypw hwdwdwh Eypihnbhujub onuljh
uwhdwidw 3. wuwydwbh: Guypubwip a = bg+7 b, htiplwpwip, » = a—bg € B:

Yhgnip |[b] = 0: Gpb r # 0, wyu || < |b| = 0, high wbhbwp L Mptdd
7 = 0 b hntiwh pninp pwppbipp wwiphy G0 b-ht, Ytipghtiu £y hntiwh dthst £
B = (b):
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Yhgnip || > 0: Gph r # 0 wyw |r| < [b] W |b|-U thnppwgnybp ¢k, hbsh
wihbwp & iptdt 7 =0 b B = (b):

Ntpbwip.  Edpihntuywb onulp wlpnphuy k:

buguliu phuby thip, Z[z] onwyn $wippnphwy b, puyg gihuwdnp hnbwibbiph

onuly ¢t: Wuhbpl, qiuwynp hntiwidbph onwlttipp  $uljpnphwy  onwybtinh

hujuyuwt thpwnwu k£ 8nyg pwip, np EYypihntiyyud onuybtpb k£ gjhuwynp

hntiwbtiph onuyitiph hujuyuwb Ghpwnuub th: pw hwdwp pujujub b Gl
uh gifuuninp hnbwibtiph onwyy, npl Eypihnbujwi sk: Wnuhuh onuy

o[-

2 2

onwln: Upnkl huningyty tbp, np uw giluwynp hntwbtiph onuy k: Qyugnighp,

nn wyb EYpihntivyuib ¢k:
Yhgnip Z [@] -t EYpipntiyywb b @ € Z [@} Epihnbuyw tnpup

b
+§\/—19]a,b€Z, azbm0d2}

Upwbwbp |af-ny: Shotibip, np Z [@] onuih Yndytipu Gnpdp uwhdwib)
thip npytu H% + gm” = %2 + 19%:

Yhgnip U-0 Z [@} -h pnnp ng qpnyuyub pwupptph puqunipymoh L,
npnig BYpihnbiuywd tnpdp dhohdwb b Gl -0 dshwynp £ (mbh hwunupa pugp
puqiuyupiui), wyw judwyuluwd ng gpoyjuud pupp pudwiymd £ a-h
Ypw wnwig dhwgnpnh: Qugph hwdwawyt EYpihntiuyjut tnpdh 2. hwpynipjub
upuimy top, np || sh ghpuquignd U-h qoupptph Gnpdhd b mpbdt o € U:
Ujniu Ynnihg, tpt 8 € U, wyuw hwiwdw)t EYpihntuywl Gnpdh 3. hupynipyui
1 =p0y4+6 6pld # 0, wyuw [§] < [5] b upugwip ng gpnyulwd pupp,
nph tpihntuyywd Gnpdp thonpp E|8]-hg, hish wihtwp & Quph 6 = 0 L 1 =
587, wyuhtpl B-0 dhwynp b Wuwhuny uypuimy tbp, np U-0 hwdpbyomd k
Z [HT\/TQ} -h dhunpbtiph puqunieyub htp:

Wyugmgtlip wydd, np U = {1, —1}:

Yhgmp o = § + 5v/=19 puppp shunnp £ aa™! = 1 0 faf| o7t =
Lwih np Yndytipu dnpip wipnng ng puguwuwlwd phy b, wyuw ||af = ‘2—2 +
19% = 1: uiptait a? + 196 = 4 higp htwpuynp £ dhuyl, tpp b= 0 b a = £2:
Ntiplwpup a = § + % —19 = +1:

Yhgnip o € {0,1,—1} b mbh djuqugnyd hbwpuwynp bYpihnbujwb Gnpdp:
Eypihntiujwb Gnpuih 3. hwpympyub hwdwawyd® 2 = af + 6 b jud 6 = 0 Juud b

1:
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19| < |a]: Stpuwpwp § € {0,1,—1}: Bpli 6 = 1, wyw 1 = of U -0 dhwynp
L, wyuhtp @ € U = {1,—1}, hbgh whbwp E: pwdt® § € {0,—1} b Juud
2 = af Jud | 3 = af: Quptinhg pfund £, np jud @ = £2 ud a = +3:
Wyugmgtilip nu: Uypnighitip, np 2-p wwpq phy b Z [”ﬁ} -nud (hhotilip, np

[14—\/7} $wlypnphwy onwy £): “hgmp 2 = (% + 5 —-19) (5 + 5 —19):
Woghtyny yniytpu tnpdipht uypubnmd Gop'

12l =4= —19

d
g + 2\/—19H :

Gpt ng 5 + g\/—19—n, ng b 5+ %\/—19—n dhwynp sk, wuyu

o]

ot

Stiplowpup, a? + 196% = ¢ + 19d? = 8, npptinhg uypuind Lip b = d = 0 L
a? = ¢? = 8, high wihiwp £ Liwhwwbu Jupybing] wwywgnigymd E, np 3-0 5
wunq b buuutu [|3]] = 9 W a? +196? = ¢ +19d? = 12, hih whhbwp t: Lwih
np a-0 dhwynp ¢k b 2-0 nt 3-p wupg pytp bb, 2 = af b 3 = af yuydwbibphg
htipunud E, np Jud o = £2, jud o = £3:

Wydd, hwdwawjb Eypihnbujub tnpuh 3. hupynipywub, pudwbtiip @—n
a-h qpu’ 2 — 0846 U jud § = 0, Qud by [8] = [af: wugpp' § € {0,1, -1}
u 1+F, 1+F -1, 1+‘éi+1 pUtinhg vthp puwdwiymd k a-h Yypw, wyuhbpb
Yuad £2-h, Guad by +3-h Jpw: Mibbkbp [|+£2] = 4 U || £3] = 9: Swpttp =12
1+‘é_719 -1, 1+‘é_719 + 1 pytph Yndytipu tnpdbtipp.

e i SRS

H1+\2/—19+1H _ H3+\2/—19H :g+1 1

IxX —-=7:
1 !

NYhgnip x € {H\éjg, 1+\é_719 -1, lJr‘é_TS)—i—l}: mokbp z = af U ||z|| =
|
[zl € {5,7} U [lal| = {4,9} U [lz[|-p sh Yupnn pwdwiyl) wowihg vlwgnpnh
][~ Ypw: Miptd onwyp sh Yupnn (hbby Bypihnbivjwb:
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2.14. Fwoyph pumpwuqphsp

Yhgnip F-p nuoyp b ROwluh b Ghpwnuop  wijuwity F-h wdt K
thpwonubtpp, npnbp thwl &GO hwuwnupéh  hwyydwb  gnponnnipjub
Dyuyiwdp, wjuhlpl bph o € K, wyuw o~ € K:

Bnipwpwilsymp n € Z hwdwp 72-ny bpwbwltbp F-h htiplyw) quuppp

1+14...+1, tpt > 0,
—_—

[n| hunp
—(14+1+...41), tph n<0:

3
I

In| hup

Swdwpnui lip, np 0 = 0:

Yhypuwpybip F-h htplywy bbpwonuyp Fy = {n|n € Z}: Yymphb t
uppmgtip, np Fo-0 huuytiu Ghpwonuwy £: Mwpq b twl, np Judwyuljub nupyp
(bwl juiwywlub phnuhnputih onwly) wwpmbwynd Fy Ghpwonwlp: Mwpq
twl, np p =nm = p = nm:

Mwpq L, np qud Fp -h ponp quuppbipp qwppbip Go, Jud £ Ygpigto
tpynt hwjwuwp puppbp: Gpynt hwjuwuwp pwupptiph gnynipynip hwdwpdtp
t wybyhuh 72-h gnymipguip, np 7 =0 L n > 0O:

“hgnip Fo-h poinp quuppbipp puppbp Go: W ghwpnod wythwyy B np Fo-o
hqminpd t nputiu onwy wipnng pytiph Z onwyht: Wn hgninpdhqup qppynud £
Jjnipupwilignip n € Z wdipnng pyht hwdwwyunpuupwbtgiting 2 quppp: Lwibh
nn F-p nuon E, wyw wyb wupnibwymd £ Fy-h htap dtpbn Fy-h ng qpnyujut
pupptiph hwwnuwpabtipp, npnbp uqimd G Fy-h pwbnpnitiph quowypn, npb
hp htipphtt hgninpd L wdpnng pytph onwhh pwinpnubtph nuowphb, wjuhlipb
nwghntiwy pYtph nuopht: Wuwhuny upugubp, np bl Fo-h popnp pruppbipp
qupptin Go, wyw nupp wupmbwymd £ pwghnbwy pytiph nuppht hgndnpd
Lbpwunuon:

Thypwpytip dmu nbwpp: Thgmp wydd Yqpidh p > 0, np p = O
Yhwiwpbbp, np p-O ijuqugnybb & Gph p-0 pununpu; £ p = nm, wyu
p = am: Lwbh np F-p nuoap £ U mpbdd wdpnne onuiy E, upubinmid Gap™ Yud
n =0 qud m = 0: Muph p-0 WJuqugnyip sk: Stplwpwp tJuqugnyh p-a,
npp > 0L p =0 wuppunhp wupq phy & Wu nhypmd Fo-o hqnuinpd t
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puyp mod p-h Z, dhwgpltiph onuyhl' 7 = m < n = mmod p: Upugynud £,
np Fy ={0,1,2,...,p — 1}: Lwbh np p wupq dnnnijh niypmd Z,-b qupg E (
pninp ng qpnyuiub pupptipp Ymobkbwt hwunupddbp pup puqiuyugpyiui),
mptih Fo-0 nupp £ U wybh nybwgynud £ Z,-0: Wuwhuny wju nhiypmud nupgp
wuwpniuymy £ Z,-0 hqninpd thpwunwuoy:

Wathnhtiiny Ytipp uipugduidp
Jrupwpwlbsmip nupy hwd wwpnihwlhnid L nwghnbwy pylph nuwpphie
hgnunpd Llpuwnwoy b winjlbpe E hwdd b wpupnibwlynid F wwpg dnnpnyny
dhwgphliph nuwubinhli hgnidnpd Llpuwnwoy:

Lodud Fp bhpwnwopp Yngnud ' nuonh wyupq Ghpunu)y:

Wnwohli niyypmd wumd G0, np nuoph pumpugphsp 0 E, huly tpypnpn
ntiwypnd p b F nuoyph dnipugphsp tpwbwymd G char(F) towbny:

Wunthtipe o + o + . . . + o« quuppp Jopwbwytitp na-ny: Mwnq £, np

[n| hunp

no=a+a+...+ta=1+14...+1)a=na«a
~———
[n| hup
U, tpt char(F) =p > 0, wyu na = 0 < a =0 Jud n = 0mod p: Muph, bphk
n = 0mod p, wmyu na = 0:
P
Yhgnip char(F) = p > 0: bugwtu ghptibp, (o + B)P = > (§) aFpr*
k=0
u(¥) = ﬁik)ﬁ Ul &bp, np kl(p — k)! (7)) = pl: bpk 0 < k < p,
wwyw k!(p — k)! phdp sh pwdwbymd p-h Jpw, pwih np nu p-hg thnpp pytiph
wpuunpyuy L Mipbdb (i)—h pudwiymu £ p-h ypw wnwdg dbwgnpnh b (fc’) =
O0mod p: NStipwpup (o 4 )P = of + FP: Liwbwybu

(a8 = ((a+8)) = (o + f) = o + 5"
(a+B)F" =P + 5" (2.13)

2.15. dEpowynp nuoypbip

Wunthtip Ynhypwpytitp dhuwytt yipowynp pwbwnipjudp qpupp ywpnibwynn
nuntn b uy wubing h buph Gop mbtbwm Ytpewynp nupq: Wn nuoptpp
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owl Yngymd G Gumuyh nuowptin: bosytiu phuwbp, p plnmpwgphs mbtignn
Ytpouwnp nuopp wwpmbwynd £ hp dbe Zp, wwpq nuppp: Ghgnp K-O
F nuonph Ghpunuont b Yniphtt £ 0jupty, np F-p gduyhl quupudnipynih
L K-h Gupiuwdp: buuwtu, et A € K L a € F, wyu Aa € F:
Npubtu gnidwpdwb  gnpdnnnupynih ytipgnud Gop  F-h gmdwpnuip: Sdwyhh
pupwonpjul vwhdwiliwd pninp wuwydwbdbpd wlbhwyypnpbl pujuwpupyud
Ll Lwlh np nquypp Ytpgwynp £, www F-p Jtpgwynp swthwbh  gdwght
pupwdnpnb b mbh ytpowynp pughu: dhgmp F-p m-sanhwbh £ b K-h
qupptiph pwiwyp hwjwuwp b g-h: Miptdd, wy hgninpd £ (npybu gdwhd
pupwdmpimb) Vi, (K) = {(A1,...,A\n) [N € K, i =1,2,...,m} m-swthwbh
Jtyypnpuubd pupwdnipyjuip b F-h qpupptiph pwiwyp hwjwuwp £V, (K)-h
nuwpptiph pwbwyht, npp hwuuwp b ¢™: Yhpunting wyu quupnnnipynibbtipp
K = 7Z, ntiypht widhowwbiu upubnid kop

Manmd 2.16. Y hppwynp nupph yauppbph pwlulp wwnpq ey (nusph
phnipuqppsh) wuphdwi E:

Wunthtaple ¢ pupp yupnibwlynn nuopp Jopwbwytbp F, tpwbny:

bbsytiu wpntb w|mbuly thop dwpuhdw) hntwibbph nunibwuhpmpyub
dwdwiwy (ELnptd 2.4-h dwubwynp phiypnid), widtpudtih puqiwbnudng
dUdwd qgiuwynp hnbwih Guypdwdp juemgywd  bwlpypnp-onulp nupy k:
Yhpwntip @tnpbd 2.4-h dwubwynp ntiyph nupnnnipnibbbpp p wqupq pyh
hwdwp £y Jtpowynp nuoph Junnigdwd hwdwnp:

Dhgnip n > 2 b f(2)-0 widbpwdtih puqiwinud b F, wupgq nuppnd
U deg f = n: Nwiwdwyb Etnptd 2.4-h° Fplz|/(f(z)) ulppnp onwlp nupyp L
bbgytiu gnyg thop Yty (Fhnpbd 2.4-h dwubwynp ntiyph nunidbwuhpnipjub
duwiwiwy Fplz]/(f(x)) nwoph jmpwpwigmp pupp (hwpwihg nuu pup
(f(z)) = {f(@)g(x)]g(x) € Fplz]} hntwih) wwpmbwymd b dhwpdtpnpba
npnpJwd h(x) € Fplz] dh puqiuinud, nph hwiwp degh < deg f Jud by
wyl qpnyuyub £ WYkh upnyg, hwpwihg nuuh jnipupwbgnip puqiwbnud
pwihu E dhubnyt A(x) dbwgnpnp: Lwih np degh < degf = n, wyu
h(z) = ag + aqx + ... + ap_12™ 1 U wnuhuh A(z) puquwbnuibtph
pwiwyp hwjwuwn £ p™ (pwbh np ag, v, - . ., ap—1 gnpdwlhgbtiph phypnipyui
tnwwybbph pwiwyp p™ t): Wybthwyyp £ dwl, np jmpupwbsnmp hwpuihg nuu
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wupnibwnd £ Shoyp vkl hunyp puqiwbnud, nph wugphéwbp thnpp £ n-hg
(pwbh np npuig dbwgnpnobpp f(z) -h ypw pwdwbbjhu hwdpbyomy bb htibg
wyn puqiwinudbtph htip) Jud b wyb gpnyjuiub B Wuyhund wpuguibp, np
Fylx]/(f(x)) pupptiph pwiwyp hwjuwuwp £ p™-h: Mwpq b np, bpt npytu
Fyl2]/(f(x)) nwpph yupptiph” hwpuihg nuutph Gipjuyugmghsitp Ytpgbtitp
hwiwywypuufuwd A(z) puqiuinuddtipp, wyw hwpwyhg nuubph dugpdudp
gnudwpnuip b pugqduyugpynudp jhudwgugpuuwdtt puyp mod f(z)-h A(z)
puquuinuibtph gnidwpdwip b puqiuuugpdwubp: Lywbwykip 0-ny A(z) = x
puqiuinuuiht hwiwyuwpuupwdnng hwpwyhg nuup: “hgmp f(z) = Bo+frx+
coo =+ Bpa™ Yhqpupltop By + 5160 + ... + 6,0" hwupwlhg nuup: Mwpg k, np
npw hwiwyupuupiwt A(z) puqiuinuip (B + S1z + ... + Bpz™) mod f(x)
puqiwinuuib t, np hwjwuwp £ 0-h: Wuhbpl, 0-0 f(2) puquuinuih wpdwgpb
b Fplz]/(f(z)) nuppnui: Wuwhuny Juemgtightip F» Ytipowynp nupgp: Wund
th, np wyu niypmd Fpr nuopp wpugynd £ Fy,-hg Ytipohthtt 6 wpduwgpp
dhwgbtny:

Ympht £ OQunply, np npybu puwghu (hhplip, np nwoypp  gdwyhl
pupwdnipynd L Fp-h GQuypiwdp) Qupnn Gbp Jtpgil 1, z, 22, a7t
puquuinuitipht  hwiwuuwpuuppwbnn - hwpwyhg nuubtpp, wjuhbpt  Fjye
nuowph 1,60,6%,...,6"! qpupptipp: bujuuwbu, h(z) = ag + oz + ... +
ap_12"" Y puqiuinuiht  hwdwwuwpuuppwing  hwpuljhg quup qu ag +
o + ...+ an_lxen_l nuul £ Muph Fpe nuoiph  jmpupwbsinip pupp
Utipyuywgynud £ 1,60,60%,...,0" ! qpuppbph gdwjht yniphhwghuyny: Muwpg k,
np 1,0,6%,...,6" 1 qpupptipp gdnptt wiywhu 6o Fyn-h Gjupiwdp: buutu,

nhgnip
Y0, V155 Yn—1 € Fp L 70+719+...+7n_10n71 =0:

Uw Gpwbwynd k, np y0 + 710 + ... + 7,—10""! qpuppht hwdwwyupuupawing
h(z) puquubnuip v + 912 + ... + Y- 12" puqiwbnudd k, npp f(z)-h Jpu
pwdwbbihu ypp L ypu gpnyujutt dbwgnpn, hbosp htwpuynp £ dhuyl g =
Y1 = ... = Yp—1 = 0 giypnud: Muph nuoph Juiwyuub pupp dshwpdtpnptb
Utipyuywgynud £ 1,6,62, ..., 60" 1 qnuppbiph gduyht Yniphhwghwyny:
Liuptibp, np dblp wwywugnigighip twit, np judwjwlub puqidubnud
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F,lz]-hg, nph hwdwp 6-0 wpdunp b, wowig dbwgnpnh pudwiymd t f(x)-h
Ypw (pwbh np -0 wpdwy b wnuhuh puqiwinudh f(z)-h Jpuw pudwibimg
upugywd dhwgnpnp’ A(z)-h hwdwp): Wuhph, (f(z)) hntwip juqigwd £ pnnp
wjll puqiwinuittphg, npnig hwiwp -0 wpdwy £ U f(2)-p wdbkbwhnpp
wupphtéwbh wnwhuh pugqiuinudbtiphg Wty k:

Wuwhuny wpliuwbp, np Fr quopp Juenigbine hwdwnp puduljub £ mbtiiug
n-pn wuwphdwih Fp-h Gjugpdudp npuk wigbpuwotih puquuibinud:  Ugpnpl
Juuyuwugmgtitp, np Juiwjwluwb Fp-h ptiypnud pninp n > 1-tph  hudwp
gnynipnil mbbh n-pn wuphwbh wtybpwobih puqiwtnuddtn: Wyuhbpl, pninp
wuwnq p pytph W pnnp > 1-tiph hwdwp gnynipymb mbh F,» qupgp:
OrhLUL:

Yunnighlip Fy2 nuopp: dpw hwdwp tpgttp f(z) = 2 + o + 22
puquwinuip, npb wiybpwdbih £ F3z]-nud: Wdd Fie nuogp nu Fslz]/(24+ 2+
2?) nuopb t, nph pupptipp 1 W 6 quupptiph pagnp gdwyhll Yndphtwghwitiphg
bl punugwd (wyupbtn 6 dhwgynn wpdunp@ £ A(z) = 2 puqiwbnudhb
hudwwywypuupiwing hwpwlhg nuub b F3[z] /(242 +22)-md): Bywupytbp Fs2-h
puppbipp’

F3 ={0,1,2,0,14+6,2+6,20,1+ 20,2 + 20} :

YQupmghlp gniwpiwd U puqiduwyugpliub wnjmuwlbbpp Jupupbng

gnuiwpnud Ut puquwupuiplnid pup mod (2 + x 4 22)-h, wyuhlph oqupytiny wyh
pwihg, np 2 + 60 + 0% = 0: Ophtwl 0 x § = 6% = -2 — 0 = 1 + 20:
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Qnuiwupiwl wn jnuuwyy

+ o|1]|2] 6 |1+6|24+60| 20 |[1+20|2+26
0 O(1]2] 0 | 1460 |2+60 | 20 |1+20]2+20
1 B2 0[1+60]2+0 0 14+60 |2+20] 20
2 |m|m|1|24+0]| 0 1460 |2+420| 20 |1+26
0 N N 2 [1+20(2+20] O 1 2
1+6 |m|m m| W |[2+20] 20 1 2 0
2+60 |m/m|/m| ®m B | 1+20 2 0 1
20 'mm/m| = u u 0 146 | 246
1+20|m m m| = | | | 2+6 9
2420 |m|m|/m| = u u u u 1+6
fuqiuyupldwd wnjmuwy
X 0|1 (2] 6 [14+6|2+60] 20 |[1+20|2+20
0 0/0[0] O 0 0 0 0 0
1 w12 0 14+6 (2460 20 [1+20]2+20
2 |m|m|1]| 20 |2420|1+6| 6 246 | 146
g BN N1+ 1 [1+60]2+60 |2+20| 2
1+6 |m|m m| W | 2+0 | 20 2 0 |1+20
240 |m/m|m| m u 2 |2420| 1 0
20 'mm/m| m u B 1+20) 146 1
1420 | m|m m| W [ | [ | | 2 20
2+20m/m|/m| = u u u B | 2+0
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Suwpytlip 0-h wuphSwbbbpp

00 =1,
0t =0,
0% =1+ 20,

03 =0(1+20) =0 +20%=0+2(1+20) =2+ 20,
0 =0(2+20)=20+20>=20+2+40 =2,

05 = 20,

0 =202 =240,

0" =0(2+60)=20+6>=20+1+20=1+6,

P =01+0)=0+60>=0+1+20=1:

Ugpugynid £, np 0-h wuphtwbbbpng dbpluyugymd Gh F32 quoph pnnp
ng qpnyulud pwpptpp, wjuhtpl ng qpnjuljud pupptpp Juqind G0 ghyhy
hunuwip puyp puquuyupuud: Ugpnple juywgnighip, np nu pinh nubh pngnp
Ytpownp nupypbtph hwdwp:

Wyunthtippl F(;‘ -ny  Yopwbwltbp F,; nwypph ng qpnjulub wpupptiph
puqunpymbp, npb wybhwppnptt juqumd £ ¢ — 1 Jupgh punwdp pup
puquuyupliwb gnpdnnmpjub: F7-p Yngjmd £ nwoph dmpphwhjugphy
funuip: (ipbdh jmpwpwgmp a € Fy pudwpupmd © 2971 = 1 hwjuwuwpdwip,
huy jnpuwpuwbgmp pupp Fy-hg 2¢ = = hwjuwuwpdwip: Lwbh np 29 — o
puquulnuit mbh ng wytith, puwl ¢ hunp wpdwy, wyw wipnyq k, np

-z = H(x—a) : (2.14)

acF,
Munmd 2.17.  Hpgnp Fy, C K, npuplin K-0 dkl wy; fbpowynp nupp E:
Npyhuqh K nuwaph o puwppp wuaplpuih Fy nuzaphle wlhpudbpp F ol
pujupwup, np ol = a:

Wyugnyg. o? = o wgujdwdp ptinh mbh dhwyt b Jhuyh wyh dwdwbwy, tpp
a-i 2?7 — r puwqiwinuidh wpdwpt b Swdwdwy@ (2.14) pwbwduh 2z — =
puquubnuuih wpdwpbtipp 7 nupwph pnnp qpupptipn Go:

Nunmy 2.18.  F, nupph dnpphyipliuappy unidpp ghlihly £
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Wwywgnyg. Mibkbp, np Fy-h upgp (pupptiph pwbwyp) hwjuuwp £ g — 1
flhmumllbﬁp q— 1-h llhmmbmmmﬁn wupq pYtph wppunpup ¢ — 1 =
p]f pg szﬁu,lllh[lp h;, = pz , i =1,2,...,s: bugwtiu ghypptiip (Rtignth
phnphdhg) T Pz —1 pwquwbnuuh wpdwpbtinh pwtuulm F *—nui sh gipuqubgmu

1 phyp, muph Ygpiuh o; € FF, nph hwdwp o, # 1,6 = 1,2,...,s

qg—1

Lowbwlhtop B; = oaihi , 1 =1,2,...,s: Mwpq L, np 6 = al”" =1, muph

Bi-h Qupgp h;-h pwdwbwpwn £, wyuhbpb p;* qbuph phy L, npiptin m < k;: Gph
m<k‘i,Luu,1u11:ﬁfi L

kij—m—1 k;—1 g—=1\ P g—1
m\ Py . ¢ T * -
1= (ﬁfz ) =g = (ai i =a," #£1:

Nuuph m = k; b B;-h Jupgp hwjwuwp & A;-h:

Lowlwltip' 3 = B152 ... Bs: Upmiglilip, np S-h Jupgp hwjwuwp & g —
1-h, wyuhtpl -0 Fj-h dUhsh t, muph F'-p ghyihy junuip & Whthwyp &, np
B9t = 1: Y%hgmp S-h Qupgp ¢ — 1-h pwdulﬁlunulrl L, npp ypuppbp £ g — 1-hg:
Wn nlwpnd f-h Gupgp Yhth £, 424 S putiphg Wb pudwiwpunp:
Npnowjhnipjub hudwp hﬁ[aulr}phﬁp_, np B-h Jupgp ——h puwdwlwpwnb £: Wn

q—1

a—1 _P “Yhyhiothig b
qhulpnujﬁpl :1U5ipl :<5£l1> v b =1lpnnpie€{2,...,s}:

q—1
Muptt 8, = 1 U L-t-p whpp t (hth wwphy Bi-h Yupght' hy = pii-ha,
uwluwyb nu wynutu ¢k Ntyplwpwp 5-h Jupgp g — 1 &
Etnptdlh wyyugngyud t:

2.16. dipoun|np nuoyph Gupuwnuoypnbpp
Wdd bhwpwgnptip Jbpgunp nwpph pnnp thpwnwnbpp:
MNinmy 2.19.

1. 2™ — 1 pwquwbonwidb wnwhg dhwgnpnh puwdwhynid b zF — 1
puwquwbnwih ypw dhuylh b dhwyh wyh nhwypnid, bpp m-p wnwig
dhmgnpnh pudwljmd Ek-p pw;
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2. a npuwlwi pyph hwdwp o™ — 1-p wnwbg Lhwgnpnh puwdwbynid
ak—l—}z Ypw dhuyl b dhwy b wy b nbyprnid, bpp m-p wnwhg dhwgnpnp
pwdwhyniid k-p ypw:

Wuyugnyg. Wyugmgtip 1.-p: Wythwyp b, np m > k: Afudwbbbp dhwgnpnny
m-p k-hypw m =kt +r, 0 <7 < k, wyu

g™ —1 ekt -1 2" -1
k-1 7 k-1 ak—-1"

T

Lwbh np % = (P (R 4 2 L wgu =L -p puqiwbnud

E_q zk—1

L dhuyb U dhuwyh wyh niypmd, bpp i;j—ﬁ E puquubinuy: Uuuyd wythwyn E,

np i’::} -n puquiwinuy £ dhuyb tpp 7 = 0:
Miundwb 2. Yph wyugnigynid b odwbwybu:

@tinptd  2.20.  Mignp ppfwd F Fyn nupipp: n-p jpupwpwisnip d
rwdwbhwpuph hwdwp gryniggnih nilip Fyr nugiph dpwdy Fa khpunwppp:
Fpn nupinp wyy Glpwnwppbip snilp:

Wujugnyyg. Whthwpp L, np F» nupph pnnp Ghpwnupptpt motb dhubngb
punmipwqgnhsp, npp hwjwuwp £ p-h: “hgnip Fa C Fyn: Ugugnigkbp, np d-b n-h
pwdwbwpupb k: F;d ~-h yrupptipp p¢ — 1 hunp GG b pufupupnd b P11 =0
hwjwuwpdwip, vwluwyb npuitp bwb F7.-hg G b pudwpupnud Gb 2?11 =0
hwJuwuwpiwip, nuph hwdwawgh (2.14) pubwalh’ wpubnud bop, np 27"~ — 1
puquubnuip pwdwiymd Lk | puquuinuih ypw wnwbg dbwgnpnh:
Swfwduy@ Nognud 2.19-h 1. Ypp' p” — 1-p pwdwiyymd £ p? — 1-h Ypw, huly
hwdwaw)h tnyb woniwb 2. Yph' 7-p pudwiymyd k d-h Ypw:

Yhgnip wydd d-0 n-h pwdwbwpwpb b Wwugnighbp, np Fpr nupgp
wupmbwynd E Fe Ghpunuopp U wyb dhwyh B Lywbwyklp E = {a €
Fpn | o’ = a}: Wu puqumpnibp nuoy B bufuuytu, tph o, f € E, wayu

(a+ B = o =atp,
hwiwawt (2.13)

(@p)?" = o' 87" = ap,

(" = (@) = o quiwulub o £ 0 hudup
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Wuwhuny, 0,1 € F, twh o, 5 € E = a+ £, af € E L, yapouytu, 0 # o €
E = a7 ! € E: muph, E-0 nupn E:

Mmaotbp, np E*-h qrupptipp | pwquwinuih wpdwpbbph G Fpe
nuoynud: Lwibh np d-b n-h pwdwbwpwpt £, wyuw hwiwawyt Nogmd 2.19-h°
p" — 1-p pwdwiynud t p? — 1-h Ypu U 27"~ — 1 puqiwinuip pudwiymy &
| puqiwinuih Ypuw: Mptdh 27" — 2 puqiwinuip pudwignod P
puqiwtnuih Ypw b Yqpiyh sh g(z) puqiuinud, np 27" — 2 = (27" — 2)g(x)
U deg g(z) = p™ —p%: hhgytiu ghyptitp, 27" — 2 puquwbnuyih nith dhoyp p™ hup
qupptip wupg (ng wwiphly) wpduyp, npnip juqund G0 Fpe nupypp: Lwih np
'~z g(x) puquwbnuittpp 27" — 2-h pwdwiwpupibpd kb, wwyw npubg
wpiwpbtipp Gnybybu wupg 6o (wugphy ¢bb): Wthwyg , np (:cpd —z)g(z) -h
wpdwpitph putwyp 27 — 2-h U g(z)-h wpdunptph pwbwybtph gnudwpb B
Gpt o — puqiwinuih wpdupbtph puwiwlp p?-hg thnpp b, wgqu 2P — 2 =
(2" — 2)g(x)-h wpdwbtiph pwbwyp Yihth thnpp p? + (5" — p?) = p"-hg, high
wihbwn E: SEyplwpwnp ' — puquwinuih mh hoyp p? hwy pupptp wwupg
wpdwyp, npnbp b uqumd G Fa nupgp: Wuhbp' F = Fla:

Gpt H-p dtl wy Ghpwnuoyp b Fpe-md U mbh p? hup pupp, wuyw
hwdwdwjd Nonmd 2.17-h° wyn puppbpp wipp £ puduwpupbb ' —z =0
huwjwuwpdwbp, wyuhbipt H = F: @bnptdl wyugnigwd k:
orruvuuy:

Liwpwugptilp Fioos = Fhiz nuoph pnpnp Ghpwnwonbpp: Swdwdw)b
Ehnptd  2.20-h  ugpubnd  Gop Ghpwnuopbph  Ghpnpyudnipjul  htplyuyg
wupytipp:

2.17. dEpowynp nuowpbiph gnynipymup

Nunmy 2.21. Mgnp f(z) € Fplz] wibpuwdbih puqiwinwd A
puquiwbhnwdp pudwhynid Fwnwig diwgnpnp f(z)-p fpw dhuyl b dhuyl
wyb nlaypnid, bpp k-0 puwdwiygnid Ewnwig diwgnpnp deg f(x)-p puw:

UWwuwgnyyg. Yhgmp deg f(z) = n L 2P* — z-p puduiymy E f(z)-h Jpu:

higwhu ghptip, Fpe nuppp wpugdmd b onpytu Fplz]/(f(z) b 6-0 =
puquubnuuih hupuyhg nuub E: mpttp Gwl, np £, nupph judwywljub pupp
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F4U'96

N
/'

\./\

ObipQuyugynud £ 1,60, 62, ..., 0" quupptiph gdwjht Ynuphbwghwyny: Ibpgibkip
Fpr nupph Guiwgwlub pupp’ 9 + 710 + .o+ 10" s € Fp i =

k
0,1,...,n—1: Lwlh np v; € F, wpwlnud top' 77 =~; pnnpé =0,1,...,n—1
hudwp: Pwpapugitip o + Y10 + . . . + Yu—160""" puppp p* wuaphswt’

—1\pF k E\p—
(’yo+719+...—|—’yn_19” 1)p =0+ 710" + .. Ay (0P

Lwih np 27" — z-p pudwiynu £ f (z)-h Ypw, wyuw f(z)-h wpdwypp Gwb " —
2-h wpdunpb £, niuph -0 pujwpupnid £ or* =9 hwjuwuwpdwip b

k
(o+10+ ...+ 710" = +m0+.. + 710"

Mptdh F» nuoph pnnp qruppbipp g puqiwinuih wpdupbtp GO,
htipiwpwp Fyn-p Fr-h ipunuop £ hwdwdw)t @tnptd 2.20-h" £-U whgp
L pwdwiyh wowbg dbwmgnpnh n-h ypu:

Yhgnip wydd k-0 pwdwlymd E wnwig dbwgnpnh n-h ypw: Mibtbp, np
OP" =0 U H- 2" — z-h wpduph b, htipowpwp, hbgytu wpntb wwpgby bop,
2" — x-p pwdwbymy £ f(z) -h ypw (Fp[x]-h pnpnp puqiwinwidtbpp, npnig
hwdwp -0 wpdwy b, pudwiymd &b f(2)-h ypw): Swdwdwyt Nonmy 2.19-h°
" — z-p hp htippht pwdwiynud £ 27" — z-h Ypw, nuuph " — z-p pudwiynd
t f(z)-h ypu:

Etinphd  2.22. Mgnip Fyn nuppp junnigjwd L on-pn wwphdwih
whfipuwdtyh  puwquwhnuwlh dphongny, wyuplph Fyn nuppp  upwgyud
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E npwybu Fplz)/(f(z)) & 6-& nw x pwquwlnwidh hwpwlhhg nuul
Yu nlaypnid f(z) puquwbnuaip prnp wplwapllipn wwnpg ki (npwdg
wuaphlynpgymibp 1 L), npwbp pnnpp wuopluwbnod ki Fyr-ple b npuwdp
hlaplywy b ki

0,00 67" ... """
Wwyuwgnyyg. Yhgmp f(z) = ag + a1z + ... + 2™ Lwbh np -0 wpdwy L,
www f(0) =ap+a0+...+ap0" = 0: f(x)-h gnpdwyhgitipp F, nupyphg bb,
htiplwpwin af =4 1=0,1,...,n

Swpytiip

f(0P) = g+ 6P + ax(6P)? + ... + a, (6P)" =
ag + B (0)P + ab(02)P + ...+ B (0" -

Swiwdwj (2.13)-h" wpubnmd tbhp
F(0P) = (ap + a1 + a20® + ... + a,8™)" =0

L 6P-0 bnybytu wpdunn b Liwbwytiu wygugmgymy t, np wpdunptp G0 Gul
or*,...,60P" " qwppbipp:

8niyg puilp wydd, np 6, 6P, 97’2, e gr" wpdunpbtipp pupptp Go: Yhgnip
ot = or", npptin 0 < k£ < m < n — 1: Swjuwuwpmpyub tpynt Ynndbpn
pwpapugbtip p”~™ wuphSwl’ (ka)pnfm = (6P™)P""™: muph, grT =
0 u 6-u "

mipupwbsmp puqiubnuy, nph hwdwp 6-0 wpdunp £, pudwiynd £ wnwibg

— z puquuinuih wpdwpd b bbgytiu ghpkbp  Fx]-h

dbwgnpnh f(z)-h Ypw: Shplwpwn " g puquuinuip pudwbynd k
f(x)-h Ypw: Swdwdwyt MNonmd 2.21-h° n + k& — m-p pwdwiynd £ n-h Jpu:
Uuwluy n + kK — m < n U n-p sh Jupnn hot » + & — m-h pwdwbwpun:
Quwph popnp 6,67, 6P%, ... 6P" " wpdupbbpp quppbp GO Lwih np wju
wpuwbtiph pwbwyp hwjuwuwp £ f(2)-h wuphéwih, wyw papnp wpdwgbtph
wuwiphynipgnbp 1 £ @hnpbid wyugnigywd Lt

Etnpbd 2.23. dhgnip Py(x)-p Fp(z)-nd prynp d wwphfwih win] kpudlp
anplunpfwod (r pmpinpuuhuip  wldkliudkd wwuphfwip gnpdwlhgn
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hwijwuwwp b 1-p) puquwinudibph wppwnpuyi b Upnyq E hbaplyuy
puludlip’

' — = HPd(:c) :

dln

Wwugnyg. Nwiwdw)l @bnpbd 2.8-h htplwbph’ Fj[z]-p dwlppnphwy onuly
w2 — puquuinuip dJhwpdtipnpbt Ghpuyugymd £ wbytipwstih
pwquuinuuibtph  wppunpuny: W obpuyugiwd  dhe  jnipupwbsynip
wiytpwotih wpypunphs Ythnpuwphttitp tpuwt wunghwgywd  tnpdwynpud
puquuinuiny thwlugdtphg nmpu hwibng z-h wibbwitd  wuphswbh
gnpdwlhgp: Lwih np z?" — z pwquuinuip tnpdwdnpjwd b, www wjn
qnpdwyhgtitiph wpypunpywip Yihth hwjwuwp 1-h:

Swidwduwyl Nangnud 221-p° f(z) widtpwdth puqiuinudp 2?" — =
puqiuinuih pwdwiwpuwp b dhuyt b dhuwyd wyb nypmy, tpp deg f(z)-p
n-h pudwlwpwph £ Mpdh 2" — z-p pnnp wyb widtpudth Gnpdudnpwd
puquuinuibbtph wpypunpu £, npnig wuphwip n-h pwdwbwpupb E:
Ftinptidlh wyyugnigud t:

Lowbwltp Ng-nd Fplz]-nd  pnpnp d  wuphéwdh  widbpudbh
onpdwynpyud puquubinuibtph pwbwlnp:

(tnptd 2.23-h  pwbwabh we U dwpu dwubph wuwphtwbbtpb hpwp
hwjwuwptghbng wpubnd bhp

Pt = Zde : (2.15)
dln

Ptnpkd 2.24.  Snipwpwhgmp n > 1 hwilwp Fylz]-nd gnngaymile i
n-pn wuyphduih win]bpuwdbih puqulubnui:

Uwuwgnyg. n = 1 nhiypmd juiwjuljub qduyhl puqiwbnud wiytpwdtih L,
wyn wupdwnny hwdwpbip, np n > 2: (2.15)-hg htppumyd t, np p” > nN,
pninp 7 > 1 hwdwp: Lowbwltbp [m]-nd m pyh wipnne dwup: Lwbh np n-h
witwdtd pudwbwpupp Jud § b (qnyg n-h nliygpnud), Jud b sh gipuquiignod
[2]-n, wuu
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5]
p"=nNy+ Y dNg <nNp+ ) dNg <

d#n

L3]

n n
niN, + Zpd <nN, + 5]?2
d=1
L
n n
niNp > p" — YAl (2.16)

Ujnu Ynnuhg, pwbih np n > 2, myuw

2

n
n nn—1) n?+n+2 n
kzo i) 2 +n+ 2 5 > 1

nuph 22 > 5 Ntplowpwp pz > 2% > 5 wpt > %p%: Jhpowybu, (2.16)-hg
uypulnd Gbp, np nV, > 0 b N, > 0: @tnptdh wyugnigud t:

Ntyplhwbp. Snipupwbsmp p wupg pYh b n > 1 phwlubd pyh hwdwp gnynipm b
nibh Fpn Jipounnp nuigyp:
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p-tlpwpnudp, 79
<mdtn>, 60hsitiph puqumpnia, 34

wpbijjwb fundp, 6

wqu punwdp, 45

wipnne onul, 90

witkilwdtid pbnhwinip
puwdwbwpun, 112

whytpwotih qpupp, 111

we hwpwlhg nuu, 16

wunghwphynipyud wuydwb, 5

wunghwgywd pwpnptp, 111

qfuwnp hnbtwg, 110
qifuwnp hnbwbtip, 110
qfuwynp hnbwibtiph onuy, 110

nwpy, 83
nwoph phmpwuqgphgp, 132
nuoph dnyyhwhugphy fumdp, 137

Lhpunuoy, 131

tiipwhidph tnpuwihqunp, 67
tlpwluiph hinbipu (nwuhg), 17
Lhpwhunuip, 8

Liipwonuy, 85

Eypithnbuywi Gnpd, 128
Eypihntujwl onuly, 128

hntiwg, 88
hntiwh dbhg, 110
hntiwh dtnpn Yud dbhg, 93

hntwbph wpypwnpyug, 99
hntwbtinh gmuwp, 100

hgnunpd punwdp, 85

htytyyhy wppuwugpytipnud, 104
htjuphwinp Ghpwhnuip, 20

fudph gnpdnnnipniip puqunpul
Ypw, 60

fudph Yupg, 17

funuip, 5

o0lhs puqunipna, 30
olihg, 25

Juintwlwb hnininpdbhqu, 24
Jhuwpudptip, 96

hwjunupa ypupp, 6
hwlwnhp puwpp, 6
hwdwmd thpwhnip, 79
hnindnpd punudp, 15
hnininpdbhqu, 14

awfu hnbtiwy , 88
dwhu hwpuyhg nuu, 16

dwpuhdwy hnbwg, 90
dhwynp ypwupn, 5, 110
uvhonily, 22
untinhnbtip, 96

Dpwbuwthnju funudp, 10
Onpiwy Lhpwhndp, 20
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ng yiphyhwy hnbwgbtip, 88 onwlwjht hndninpdhqd, 85
onulh wwnq pupptip, 120

nintidhp, 62

nntdph tplupnieynibp, 62 dulpypnp-puqinpyma, 19

ninhn wpunpyuy, 28 dwlpnphwy onuy, 119
dulpypnp-funudp, 21

wupltip, 22

dwlppnp-onuy, 87

dnpjtih nhulptip mnpn U hwjwnwpa
wwnq hntiwg , 90 duwthnfunpyniitipn, 110
wunnibwnipymb, 125 Snipytih wpwg dlwthnfunipynia, 110

wuwng bbpwrwuoy, 132

utithwub thpwpdptp, 9
Uhingjub p-thpwhundp, 79
uhdtipphy funudp, 8
unipytyphy, 103

uypuiphy funudp, 62
ugwphthquiypng, 62

Jtpowynp dtwd funudp, 47

nunppuwliud gnponnmpeynibbbp, 50
pupph Yupg, 25

ptinuihnfutith, 6

hnuithniutith onuy, 83
phnuthnunipyuwl dwypphg, 11
nphyhwy Gbpwpundp, 9

pphyhwy hnbiwgtip, 88

ghyihy htnbpu, 69
ghyihy, 25

pulinpnitiph nupy, 98
pwilinpnbiph onuy, 98

onuy, 83
onulujht hgninpdhqy, 85
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